FLIP-X

Series

SINGLE-AXIS ROBOTS

General-purpose single-axis robots can be used for various applications,
such as assembly and inspection work.

6 types and 28 models ranging from compact size

to long-stroke robots are available.

I Various custom specifications are also supported.

Various custom specifications, such as double-slider and wide slider are also supported.
For details, please consult YAMAHA.




Six types with high reliability and durability

= F10 F14  F14H F17 F20
Y : F F20N
) — — FiI7L
T4L/T4LH T5L/T5LH TéL T9/T9H
H Double appeal of compact body and low price. H Tolerable load moment is large and highly resistant to the
M |deal in applications as an actuator directly installed on an offset load.
installation base. H Suitable for Cartesian robots needing rigid arm or moving

arms that move the entire axis.

R type Rotation axis model P.236 GF type Long stroke model with high rigidity frame

.r ¢
=" GF14XL ~ - GF7XL
R20 R10 RS ' ”: - Effective stroke vs. maximum speed
W Repeated positioning accuracy +/- 30 sec. (0.0083 °) ~ E o Ty
. . . = = T~
M The robot can be used as the rotation axis when combined N 3 m -

. . . . . . & oo —
with other robots or utilized for a wide variety of applications, @ - £ w ~
such as index tables s I comeptiere poge

’ \ (/Optimal support mechanism M = O 70 7200 T T TR0 TR T AU A0 200 2100 2200 2300 00 700

M High rigidity and high accuracy by harmonic drive.

Effective stroke (mm)
Note. Patent pending

Hl Movable at 1200 mm/sec. in the whole area without critical speed.
M Suitable for long distance transfer.

N type Nut rotation type model pP.222

H Repeated positioning accuracy +/- 0.01 mm
B Maximum payload 80 kg

M Double-carrier available as a standard/ £
N
= 5\ SO
i’ - ‘ Process 1
i K Process 2
Layout using two conventional Layout using two conventional

single-axis robots cartesian robots

5 Comparison of stroke vs. i speed
@
2 00 = Current model \\ .
E 1009 7 ‘\N W
3 - AN )
£ F14H N o
E Comipétitor's modél \/’
2 M e % Toe T o T T 7o @\/ :

Stroke (mm)

- . . . . . Space saving using double- Space saving and process
Critical speed |§ not rgstrlcted and high: In this structure, the hollow motor is carrier of N15/N18 integration using double-carrier
speed transfer is possible. connected to the nut of the ball screw of N15/N18
Stroke: 2500 mm and the nut is rotated with the screw
Maximum speed: 1200 mm/sec. shaft secured to perform the movement.

B type Timing belt drive model P.230

B10 g - —
)

H Maximum stroke is 3050 mm. Long-distance transfer between the processes is possible.

27 w



. 28

FLIP-X Series

POINT 1

Product Lineup

4-row circular arc groove type 2-point contact guide that is resistant to large

moment load is adopted."*"

4-row circular arc groove type 2-point contact guide with less
differential slip is used for the linear guide. This guide has less
ball differential slip due to its structure when compared to the
2-row Gothic arch type 4-point contact guide and maintains a
satisfactory rolling movement even if a large moment load is
applied or the installation surface precision is poor. The guide has
characteristics that are difficult to malfunction, such as unusual
wear and provides excellent reliability.

Note 1. Except for T4L/T4LH and T5L/T5LH

For the F type, N type, and B type,
two guide frames are laid out on the
high rigidity aluminum extruded mate-
rial frame. Two bearing units per rail,
four bearing units in total, support a
large load firmly. As a large moment
load is mainly converted into vertical
force, the moment applied to one bearing unit becomes small to en-
sure excellent durability.

(F14)

Note 2. Except for F8 series/F10/B10.

POINT 2

2-row gothic arch groove type

4-point contact guide

Friction resistance
is large and
differential slip is large.
@ Easy to receive adverse effects of installation

surface accuracy, friction, and elastic
deformation.

@ Breakage may occur before expiration of
calculation service life.

4-row circular arc groove type
2-point contact guide

Differential slip is

small and self-centering

function is high.

@ Resistant to alignment changes and moment
loads

@ Difficult to break.

The F8 series uses a newly developed
module guide to greatly reduce the cross-
sectional area (70 % when compared to
F10). The rail is laid out in the full width of
the frame to ensure the high rigidity even
with compact design. Of course, this series
also uses the 4-row circular arc groove type

2-point contact guide.

Resolver with excellent environment resistance is used for the position detector.

Slider

Position detector

Device intended to
read-out
the position or speed.

\/

Linear motion
guide

@ Optical type

@ Electronic components are required
and structure is complicated.

® Damaged easily by electronic
component breakdown, dew
condensation on or oil sticking to the
disk.

v
Detection failure

©

® Magnetic type

® Simple structure only with iron core
and winding has less potential failure
factors.

® Immune to shock and electric noise.

v
High reliability

A resolver is used for the position detector. The resolver has a simple and rigid structure without using electronic components and
optical elements. Detection problems due to electronic component breakdown, dew condensation on or oil sticking to the disk that
may occur in optical encoders do not occur in the resolver. The resolver provides excellent durability. Additionally, as the absolute
specifications and incremental specifications use the same mechanical specifications and common controller, desired specifications
can be selected only by setting parameters. Furthermore, even when the absolute battery is consumed completely, the robot can still
operate as the incremental specifications. So, even if a trouble occurs, the line stop is not needed to ensure the safe production line.
Furthermore, the backup circuit has been completely renovated and now has a backup period of one year in the non-energizing state.



POINT 3

Long service life greatly reduces the maintenance cost.

As the acceleration is determined by the weight parameter, the service life can be assured when the weight and position of center of
gravity are known.

H Allowable overhang "°t¢

A
ﬁs
A [+
B ¢ c A

Horizontal installati (unit mm) - Wall installation (unit: mm)  Vertical installation (unit: mm)
A B c A B c A c

5kg| 864| 501 383 5kg| 348| 384| 776 1kg| 600 600

15kg| 491| 156 140 15kg 87 40| 306 2kg| 1098| 1098

5kg| 1292| 505 462 5kg| 416| 388| 1186 4kg| 545 545

15kg| 572| 158 151 15kg 92 42| 386 4kg| 594| 594

30kg| 455 73 75 30kg 0 0 61 8kg| 280 280

20kg| 617| 119] 127
40kg| 422| 53 59
55kg| 420/ 36| 40
50kg| 722| 42 47
60kg| 657| 33 37 20kg| 54 0| 985
80kg| 577| 23 25 30kg 0 0| 427

. Distance from center of slider top to center of gravity of object being carried at a guide service
life of 10,000 km.

10kg| 193] 132 910
20kg| 53 0| 400
30kg 0 0] 109
10kg| 197| 133| 2360

10kg| 217 217
10kg| 221| 221
15kg| 135/ 135
20kg 92 92

Lead5 | Lead 10 | Lead 20

Lead5 | Lead 10 | Lead 20 |Lead 30

§ Lead5 | Lead 10 | Lead 20 |Lead 30
[}

As YAMAHA's robot uses high rigidity ball screw  Cost reduction by high durability
or guide, it provides excellent durability. This

greatly contributes to reduction of the customer's Maintenance

i Other company’s robot control cost is
maintenance cost. y o

YHAMAHA'’s robot

Product service life

POINT 4
Controllers suitable for applications are

pre pared . SR1-X RCX320 RCX222 RCX340 TS-X RDV-X
In addition to the robot program operation and pulse train “By i

control, a positioner that is operated by specifying a point i *_'T-- e

number was added to the product lineup. Additionally, multi g i}u T ,Iﬁ

specifications that control multiple robots using one controller ] 4y EERERE s :
are also supported. You can select an optimal controller P.540 P548 P558 P.566 P514 P528

suitable for your application.

POINT 5

Various custom specifications are supported.

YAMAHA supports custom orders flexibility to meet the customers' various needs.

Addition of free Free slider is added. Various applications, such as rigidity increase or use of two heads are supported.

slider
Wide slider To increase the slider rigidity, the standard slider is processed to the wide slider.
Specified stroke A stroke smaller than the minimum stroke may be supported. For details, please consult YAMAHA.

Lead beyond

catalog The lead may be changed to that not stated in the catalog. For details, please consult YAMAHA.

Origin non-motor

specifications Even when not stated in the catalog, the origin may be changed to the non-motor side. For details, please consult YAMAHA.

YAMAHA has a wide variety of custom order results other than those shown above. If you have any requirement or request, please
feel free to contact YAMAHA.

29



30

FLIP-X Series

Note 1

Product Lineup

Size (mm) Stroke (mm)
12 45 1.2 720 T4L: P.198
W45 x H53 T4L/TALH 6 6 24 360 50 to 400
2 6 22 120 TALH: P.199
20 3 - 1200 T5L: P.200
W55 x H52 T5L/T5LH 12 5 1.2 800 50 to 800
6 9 24 200 T5LH: P.201
20 10 - 1333
Tiype W65 x H56 T6L 12 12 4 800 50 to 800 P.202
Frame-less structure 6 30 8 400
model 30 15 - 1800
9 20 %0 4 1200 150 to 1050 P.203
(Standard) 10 55 10 600 © :
5 80 20 300
W94 x H98
30 25 - 1800
ToH 20 40 8 1200 150 to 1050 P.204
(High thrust) 10 80 20 600 ° '
5 100 30 300
20 12 - 1200
W80 x H65 F8 12 20 4 720 150 to 800 P.205
6 40 8 360
30 7 - 1800
20 20 4 1200
W80 x H65 F8L 150 to 1050 P.206
10 40 8 600
5 50 16 300
20 30 - 1200
W80 x H65 F8LH 10 60 - 600 150 to 1050 P.208
5 80 - 300
30 15 - 1800
F10 20 20 4 1200 150 to 1050 P.209
(Standard) 10 40 10 600 © '
5 60 20 300
W110 x H71
30 25 - 1800
F10H 20 40 8 1200
Féyps (High thrust) 0 ” 2 500 150 to 1000 P.210
Model with high
rigidity frame 5 100 30 300
30 15 - 1800
F14 20 30 4 1200
(Standard) 10 55 10 600 P212
5 80 20 300
W136 x H83 150 to 1050
30 25 - 1800
20 40 8 1200
4K P213
(High thrust) 10 80 20 600
5 100 30 300
F17L 50 50 10 2200 1100 to 2050 P.217
40 40 - 2400 200 to 1450
W168 x H100
F17 20 80 15 1200 P.215
200 to 1250
10 120 35 600
40 60 - 2400 200 to 1450
W202 x H115 F20 20 120 25 1200 P.219
200 to 1250
10 - 45 600
W202 x H120 F20N 20 80 - 1200 1150 to 2050 P.221
GF tyoe W140 x H91.5 GF14XL 20 45 - 1200 750 to 2000 P.214
o W168 x H105.5 GF17XL 20 90 ; 1200 850 to 2500 P.218
N15 (Single-carrier) 500 to 2000 P.222
W W145 x H120 : 50 -
l N15D (Double-carrier) 20 1200 250 to 1750 P.224
Nut rotation type N18 (Single-carrier) 500 to 2500 P226
W180 x H115 : 80 B}
N18D (Double-carrier) 250 to 2250 P.228
B type W100 x H81 B10 Belt drive 10 - 1875 150 to 2550 P.230
Timing belt B14 (Standard) | Belt drive 20 - 1875 B14: P.232
drive model W146 x H94 - - 150 to 3050 P
B14H (High thrust)| Belt drive 30 - 1875 B14H: P.234
R5 0.12 kgm? - P.236
R type 2 o o
' ) - R10 - 0.36 kgm - 360 °/sec 360 P.237
Rotation axis model
R20 1.83 kgm? - P.238

Note 1. The size shows approximate maximum cross sectional size.



Multi-robot

Advantages of control with multi-axis controller

® Sequence control is easy. System upgrades are easy at less expensive price.

©® Compact and space saving when compared to the operation with multiple single-axis controllers.

® More advanced control is possible.

® RCX320, RCX221 and RCX340 provide mixed control of the FLIP-X series and PHASER series (linear single-axis).

Multi-robot ordering method

Note 1
MLTX  -[ 7t unit™e? |[2nd unit "2 |- 3rd unit ™2 | , , , - N -] |

- 1st unit robot type [l 2nd unit robot type  lall  3rd unit robot type - - -
3K:3.5m RCX320
(Up to 8 units can be controlled.) 5K:5m RCX221/HP
10K: 10 m RCX222/HP
Note 1. When ordering a multi-robot, prefix "MLTX" to the top of the order model. RCX340

Note 2. Select either MULTI-FLIP or MULTI-PHASER shown below.
Note 3. For details about the controller and controller option models, please refer to relevant page of each controller.

Lead Stroke
m
1

MF7

2 12 .
TAL/TALH 6 50 to 400 caL Single | 100 to 4000
2 CALH 50 to 400
20 2 MF7D | Double | 100 to 3800
T5L/T5LH 12 50 to 800
6 20 MF15 | Single |300 to 4000
20 C5L
T type T6L 12 50 to 800 csLH |12 | 50to800
Frame-less 6 6 MF15D | Double | 100 to 3800
structure model 30 MF type
(Stanard) 28— 15010 1050 20 Flattype with | MF20 | Single | 150 to 4050
5 Cc6L 12 50 to 800 _~ core
30 6 Linear motor | MF20D | Double | 150 to 3850
specifications
_ToH 20 150 to 1050 20
(High thrust) 10 MF30 | Single | 100 to 4000
250 cs 12 | 150 to 800
F8 12 150 to 800 6 MF30D | Double |150 to 3750
6
30 20 MF75 | Single |1000 to 4000
FaL 20 150 to 1050 csL 10 |150 to 1050
10 5 MF75D | Double |680 to 3680
20 C type 2
F8LH 10 150 to 1050 c|g§n 0
5 room C8LH 10 150 to 1050
F10 gg model 5
(Standard) 10 150 to 1050 20
5
30 c10 10 |150 to 1050
F type F10H 20
Model with (High thrust) 10 150 to 1000 5
high rigidity 5 20
frame 30
F14 20 C14 10 150 to 1050
(Standard) 10 5
5
0 150 to 1050 20
F14H 20
(High thrust) 0 C14H 10 |150 to 1050
5 5
FA7L 50 1100 to 2050 2
17 ‘213 200 to 1450 c17 250 to 1250
0 200 to 1250 10
1150 to
40 200 to 1450 C17L 50
F20 20 20010 1250 - 2050
F20N 20 1150 to 2050 Cc20 250 to 1250
GF14XL 20 750 to 2000 10
GF type GFA7XL 20 850 to 2500
N type N15 (Single-carrier) 500 to 2000
Nut rotation [N15D (Double-carrier) 20 250 to 1750
type N18 (Single-carrier) 500 to 2500
model N18D (Double-carrier) 250 to 2250
B type B10 Belt drive | 150 to 2550
Timing belt B14 (Standard) | Belt drive
drive model | B14H (High thrust) | Belt drive | 120 0 3050
R type R5
Rotation axis R10 - 360 °
model R20

31 .



. 32

FLIP-X Series

Product Lineup

Robot settings

2-robot settings

Use of 2-robot settings and multi-task program makes it possible to
perform asynchronous independent operation. As the auxiliary axis
setting is used together, more free axis assignment can be made.

Main auxiliary axis setting

This auxiliary axis setting is used when it is inconvenient that two
axes move simultaneously by the MOVE command. The axis set for
the main auxiliary axis does not operate by the MOVE command and
it operates only by the DRIVE command (movement command in
axis units). This setting is recommended for the axis that needs to be
operated asynchronously from the main robot.

Dual setting

This setting is used when per-
forming the dual drive (2-axis
synchronous control). This set-
ting is used when the gantry type
Cartesian robot with a long Y-axis
stroke stabilizes the high accel-
eration/deceleration or when a
high load or high thrust is needed.

Applicable controllers
1 to 2 axes controller 1 to 2 axes controller 1 to 4 axes controller

RCX320 RCX221 RCX222 RCX340

: E’Rssa
=y

Absolute

Double-carrier

In robot types that the motor runs
separately, such as linear motor
single-axis PHASER series or N type
(nut rotation type) of FLIP-X series,
two motors can be added to one axis.

Appearance P.566

o

| i
Bl Al

Incremental/Absolute

FLIP-X and PHASER can be
mixed.

Incremental

FLIP-X and PHASER
can be mixed.

Incremental/Absolute

FLIP-X and PHASER can be
mixed.

Position detection

Control model FLIP-X

Maximum number of

programs 100 programs

100 programs 100 programs

Maximum number of points 30,000 points 10,000 points 30,000 points

Dedicated input 8 points/ Dedicated input 10 points/ Dedicated input 8 points/

Standard dedicated output 9 points dedicated output 12 points dedicated output 9 points
Number of input/ General-purpose input 16 points/ General-purpose input 16 points/ General-purpose input 16 points/
output points general-purpose output 8 points general-purpose output 8 points general-purpose output 8 points
Expansion General-purpose input 24 points/ General-purpose input 24 points/ General-purpose input 24 points/
general-purpose output 16 points general-purpose output 16 points general-purpose output 16 points

Network option

CC-Link, DeviceNet™, EtherNet/IP™,
Ethernet, PROFIBUS, PROFINET,
EtherCAT

CC-Link, DeviceNet™, PROFIBUS

CC-Link, DeviceNet™, EtherNet/IP™,
Ethernet, PROFIBUS, PROFINET,
EtherCAT




Examples of multi-robot ordering methods

Separate single axes

<Example> F14H and F10 are installed separately.

MLTX -F14H- 20 -U- 500 [ st unit |

1st unit (X)
-F10 - 20 - 300 [ 2nd unit |
- 5K-RCX222-N- N1 2nd unit (Y)

2 axes + 1 axis

<Example> T6 is installed on the base for the 1st axis, C6 is
secured to the upper portion for the 2nd axis, and
CH4 is secured to the upper portion for the 3rd axis
to assemble the C6 and C4H to the XZ. (Either 2
axes + 1 axis or 3 axes simultaneous control can be
made by the setting.)

MLTX - T6 - 6 - 300 Nistunic— ERTUTC

2nd unit (Y)

-C6-6-300 [ 2nd unit |
-C4H-6-BK- 100

- 3K-RCX240S-N-BB

1st unit (X)

Note. When the customer combines each axis, it is recommended to use
the cable terminal (relay cable) for the wiring among axes. For details
about cable terminal, please contact YAMAHA.

Double-carrier/dual drive (2-axis simultaneous control)

Example of 8-axis control

<Example> Two double-carriers of the MF30 are arranged
in parallel and two MF20 installed on the top are
moved by the dual-drive.
T6 is attached to each tip of the MF20 and the
robots are controlled using two controllers.

MLTX - MF30D -H-L- 950  EFumrmm
-MF30D-H-L-950 Emmmam "\ L
-MF20-H- 1350 XTI 3rd unit
-T6-6-BK- 100 Lath unit
- MF20-H- 1350 (St unit
-T6-6-BK- 100 Loin o [N

- 3K-RCX240-R-N [ Controller e

Note. For this specification, when writing one controller model, two controller
will be arranged automatically.

3 axes combination

<Example> C17L, C14H, and C14H are used for the X-axis,
Y-axis, and Z-axis, respectively to form a 3-axis
XYZ combination.

MLTX -C17L -50 -Z- 1500 3rd unit (2)
-C14H-20 - 450 [2nd unit RS
-C14H-10-BK- 150 EXITIEN

2nd unit (Y)

-3K-RCX240-R-N-BB

Double-carrier

Example of 4-axis control

<Example> Two T6 are assembled to the double-carrier of
the MF20A, and they are used as XZ type and
controlled using one controller.

MLTX - MF20AD-W-M- 850 EETTTEN

3rd unit (2)
2nd unit (Y)
-T6-12 -BK- 100 | 2nd unit |
-T6-12 -BK- 100
1st unit (X)

- 3K-RCX240S-N1-B

Note. For the double-carrier, since one robot occupies two axes of the
controller, the number of robots may differ from the number of
controllable axes.

CAUTION

Conditions needing regenerative unit on
multi-robot

©® The total motor capacity exceeds 450 W.

® The total motor capacity of the vertical axis exceeds 240 W.

©® The B14H performs the operation at a maximum speed of
more than 1250 mm/s.

® When the vertical axis is 240 W or less, the conditions
shown below are satisfied.
* There is a 200 W-vertical axis.
» A 100 W-vertical axis has a stroke of 700 mm or more.
* There are two 100 W-vertical axes with a 5 mm-lead.

33



34

FLIP-X Series

Product Lineup

FLIP-X terminology

I High lead

This term indicates models supporting ball screw leads that ex-
ceed the standard lead (12 mm or 20 mm). (The standard lead
of the F17L and C17L is 50.)

Origin on non-motor side

This term indicates models that are applicable to the origin non-
motor specifications as standard. The origin on the non-motor
side in the standard state is not supported with a lead not stated
in the catalog. If special specifications are needed, please con-
sult YAMAHA.

Maximum speed

This term indicates the maximum transfer speed. YAMAHA's
single-axis robots can transfer a workpiece at this speed regard-
less of the transfer weight as long as it is within the maximum
payload. However, as the workpiece is heavier, the acceleration/
deceleration curve becomes gentle. If the movement distance is
short, the speed does not reach the maximum speed stated in
the catalog.

CAUTION

When the stroke of the ball screw drive type is long, noise
or vibration is produced due to resonance of the ball screw
if moved at the maximum speed. If this happens, lower the
speed to that stated in the note column. (It is also possible
to lower the transfer speed of the entire program using the
SPEED setting or make the adjustment for each movement
command.)

Maximum payload

This term indicates the maximum weight that can be loaded on
the slider and transferred. Select an appropriate model so that
the total weight of the customer's tools (air cylinder or chuck)
and workpiece is less than this data. When the center of gravity
of the tool or workpiece is offset from the center of the slider, the
allowable overhang needs to be taken into consideration. Addi-
tionally, when entering the total weight of the tool and workpiece
for the payload parameter of the controller, optimal acceleration/
deceleration and servo parameter are automatically set.

Rated thrust

This term indicates the force to be applied in the slider advanc-
ing direction in the slider stationary (hold) state. When using
vertically, the weight of the loaded workpiece is subtracted from
this value (when the force is applied downward from the top).
The slider can move only at a low speed (approximately 10 %
of the maximum speed), but this value becomes lower than the
specification value. Additionally, the type B of the timing belt
drive cannot be used for applications, in which thrust is applied.

I Allowable overhang

This term indicates an allowable overhang of an object to be
transferred. In the specification data, this indicates the distance
from the center of the top face of the slider to the center of gravi-
ty of an object to be transferred by the weight. This value is de-
termined according to the service life of the linear guide. Under
normal operation conditions"*, the 90 %-service life of the lin-
ear guide is 10,000 km or more if gravity centers of the work-
piece and tool are kept within the allowable overhang. When us-
ing with an overhang amount exceeding the specification data, it
is necessary to install a separate support guide or restrict operat-
ing conditions (speed, acceleration) so that a load is not applied
to the linear guide of the single-axis robot. For detail, please
consult YAMAHA.

A

B C

Note. Speed, acceleration 100 % (It is preconditioned that the weight parameters are
set correctly.)
There shall be no impact load or excessive vibration during operation.
Additionally, the alignment is correct.

| Static tolerance moment

This term indicates the load moment applied to the slider in the
robot stationary state.

Il Critical speed

When the stroke of the ball screw drive type is long, noise or vi-
bration is produced due to resonance of the ball screw if moved
at the maximum speed. If this happens, lower the speed to
that stated in the note column. (It is also possible to lower the
transfer speed of the entire program using the SPEED setting or
make the adjustment for each movement command.)



SINGLE-AXIS ROBOTS

FLIP-X

SERIES

CONTENTS

X

00LWD1 VA
se|npow $}0q0J paje|noIY
10A8AU0D JeBUI

Ayuoqoy
J0jenjoe sixe
a|Buis ssaj-10j0\

|

—_—
o€ ef ¢ Ce Cu|

JASVHI

SIOQOISIXE=SIBUISIN <1000 sixe-a|6uis INSIOGONSIXE=S|BUIS

N TYPE NUT ROTATION TYPE MODEL

T TYPE
FRAME-LESS STRUCTURE MODEL

B TYPE TIMING BELT DRIVE MODEL

R TYPE ROTATION AXIS TYPE MODEL

F TYPE / GF TYPE
HIGH RIGIDITY FRAME MODEL

Main functions » P26 X Multi robot » P31

Terminology » P.34

1oedwo)

OAYISNVYL

Jojow Jesur]

XAX
sj0qoJ
ueiselR)

XA
s10q0J
YdvOSs

X-dA
sjoqou
2oe|d B }oId

NV3ITO

YITI0YINOD

NOILYWIOANI

adAy |

adA) 4

adA1 4D

adAy N

adfy }/d




FLIP-X SPECIFICATION SHEET

194

Motor | Repeat- Lead Pa()l'(lo)ad Stroke (mm) and maximum speed (mm/s)
Type| Model | output | ability (:"an) — QV
W, mm) ori- | Ver-
(mm) e i 150 | 200 | 250 | 300 | 350 | 400 | 450
12 | 4512
TAL/
ok 30 +-002 | 6 | 6 |24
2 | 6 |72
20 | 3 | - | 960 | 840 | 720 | 660
Tl 30 | w002 |12 [5 |12 | 640 | 560 | 480 | 440
6 | 9 |24 | 320 | 280 | 240 | 220
20 [10] - | 1133 | 1000 866 | 800
o | T6L 60 +-002 | 12 | 12| 4 | 680 | 600 | 520 | 480
= 6 [30] 8 | 340 | 300 | 260 | 240
. 30 | 15| - | 1440 |
20 [30] 4 | 960 |
To 100 | +-0.01
® 10 | 55 | 10 | 480 |
Z
ms 5 [ 80| 20 \ \
SE 30 | 25 | - \ \
< :
x<3 20 | 40 | |
f TOH 200 | +-0.01
@ 10 | 80 | 20 \ 480 \
5 [100] 30 | 240 |
20 | 12 | - | 1080| 900 | 780 | 720 | 600
F8 100 | +-002 | 12 | 20 | 4 | 648 | 540 | 468 | 432 | 360
6 |40 | 8 | 324 | 270 | 234 | 216 | 180
0|7 |- | 1530 | 1350 1170 | 1080 | 990 | 900 | 810 |
ol | 100 | snoor L2020 [ 4 | 1020 900 | 780 | 720 | 660 | 600 | 540 |
' 10 [ 40| 8 | 510 | 450 | 390 | 360 | 330 | 300 | 270 |
5 [50] 16 | 255 | 225 | 195 | 180 | 165 | 150 | 135 |
20 | 30 | - | 1020 | 900 | 780 | 720 | 660 | 600 | 540 | 480 |
F8LH | 100 | +-0.01 | 10 | 60 | - | 510 | 450 | 390 | 360 | 330 | 300 | 270 | 240 |
5 |80 | - | 255 | 225 | 195 | 180 | 165 | 150 | 135 | 120 |
30 [15] - | 1440 | 1170
20 | 20 | 4 | 960 780
F10 100 | +-0.01
10 | 40 | 10 | 480 390
5 | 60 | 20 | 240
30 [25] - | 1440 | 1260 | 1080 |
20 | 40 | 960 | 840 | 720 |
o | FIOH | 200 | +-0.01
g 10 | 80 | 20 | 480 | 420 | 360 |
b 5 | 100 30 | 240 | 210 | 180 |
3 [15] - | 1440
20 |30 | 4 | 960
F14 100 | +-0.01
10 | 55 | 10 | 480
5 | 80| 20 | 240
30 [ 25| - | 1440
20 | 40 CE
F14H | 200 | +/-0.01
10 | 80 | 20 | 480
5 [100] 30 \
40 | 40 | -
F17 400 | +-001 | 20 | 80 | 15
10 [ 120 35
FI7L | 600 | +-0.02 | 50 | 50 | 10
40 | 60 | -
F20 600 | +-0.01 | 20 | 120 | 25
10| - |45
F20N | 400 | +-0.04 | 20 | 80 | —
Lo|GF14xL] 200 | +-001 | 20 [ 45 | -
OZ[GF17xL| 400 | +-001 | 20 | 90 | —
N15 400 | +-0.01 | 20 | 50 | —
8 [ N15D [ 400 [ +-001 [ 20 [ 50 [ -
2] N8 400 | +-0.01 | 20 | 80 | -
N18D | 400 | +-001 | 20 | 80 | —
o | B10 100 | +-004 | — | 10 | -
=] B 100 | +-004 | — | 20 | —
© 'B14H | 200 | +-004 | - |30 | -
Motor Repeat- | Speed | Maximum f f
Type| Model | output ability |reduction| speed DetalLedelnfo A Precautions for use
(W) (sec) ratio (°/sec) pag )
B Handling
° R5 50 +/-30 1/50 360 P.236 Fully understand the contents stated in the "FLIP-X Series User's Manual" and strictly observe the
g R10 100 +/-30 1/50 360 st, handling pr.ecautlon:e, during f)peratlon.
x W Allowable on ambient perature
R20 200 +/-30 1/50 360 P.238 010 45 °C



Detailed info
age
1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1350 | 1400 | 1450 [1500 to 1600| 1650 | 1700 | 1750 | 1800 [1850 to 2000| 2050 | 2150 | 2250 | 2350 |2400 to 2500| 2550 |2650 t0 3050 22
T4L:P198
T4LH:P199
T5L:P.200
T5LH:P.201
P.202
P.203
%]
—
=H
T o
> 3
P204 L
P.205
P.206
P.208
P.209
P210
| 810
)
| 270 P212
| 135
| 810
| 540
| 20 P213
| 1440
| 720 P215
| 360 300
] 2200
1440 1200
600
360 300

195 e



rdering method descriptio

In the order format for the YAMAHA single-axis robots FLIP-X series, the notation (letters/numbers) for the mechanical section is shown
linked to the controller section notation.

[Example]
® Mechanical b F8 ® Controller » SR1-X
- Lead > 20mm * Grease D> Standard | « Usable for CE D> Not required  + I/O selection> NPN
* Brake > Yes » Stroke > 500mm * Regenerative unit > Not required  + Battery D> With battery

+ Origin position > Non-motor side  « Cable length > 3.5m

©® Ordering method

Mechanical section Controller section
This page describes using the ordering form for mechanical components.
To find detailed controller information see the controller page. SR1-X» , TS-Xp , RDV-X»
Mechanical section
T type / F type (F8 / F8L / F8LH)
|- |-| |-| |- |-| |
il

T4L |F8 30 [30mm [No entry [No brakes | Originposition\None\Standard \_ Grease |None[ Standard| 3L |3.5m
T4LH |F8L 20 |20mm [BK__ |Brakes provided| |change [z [Non-motorside] |type  |GC [Clean | 5L |5m

T5L |F8LH 12 |[12mm 10L [10m
T5LH 10 |10mm 3K |3.5m
T6L 6 [6mm 5K |[5m

T9 5 |5mm 10K [10m
T9H 2 [2mm

F type (Except F8 / F8L / F8LH)
|-| || || |-| || || |
it

F10 [F20 | 50 |50mm [Noentry [No brakes | [Noentry[Standard (S) Origin position\None\Standard \_ Grease |[None[Standard] 3L |3.5m
F10H [F20N | 40 [40mm [BK _ |Brakes provided| [U From the top |  |change Z  [Non-motorside| |type |GC [Clean | 5L |5m

F14 30 |30mm R From the right 10L |10m
F14H 20 [20mm L From the left 3K |3.5m
F17 10 |10mm 5K |5m

F17L 5 |[5mm 10K |10m
GF type

@Model ®Take out direction Jll 3Lead designation ll ®Cable entry location 10Option troke |l @Cable length

GF14XL S [Straight ‘H Horizontal [20[20mm | [Noentry[Standard (S)] [Origin position change Frame Grease type 3L [3.5m
GF17XL model installation u From the top | [None[Standard | [No  [Standard | |None[Standard 5L |5m
R From the right| |Z Non-motor entry |(Spotfacing)| |GC \Clean 10L [10m
L From the left side T Tapping 3K |3.5m
5K [5m
N type (Single carriage) 0K 10m
(3Lead designation (DCable carrier entry location ®Cable carrier specification Option (2Cable length
[ N15 | [20]20mm | [RH [Horizontal, right S [standard cable Origin position|None| Standard | __[Grease [None|Standard| 3L [3.5m
N18 LH |Horizontal, left carrier change [Z_ [Non-motorside]  |type  |GC [Clean | 5L [5m
RW |Wall, right M |Optional cable 10L |10m
LW |Wall, left carrier 3K [3.5m
N type (Doubl i oe_Sm
ype (Double carriage) 10K [10m

MModel (3Lead designation m @2Cable length
‘ N15D ‘ ‘20 ‘20mm ‘ H |Horizontal S |Standard cable Grease |None | Standard 3L [3.5m
N18D installation carrier type GC |[Clean 5L [5m
W |Wall hanging M |Optional cable 10L |[10m
installation carrier 3K [3.5m
B type 5K |5m
| |-| |-| |-| || | o] 10m

©@Motor installation direction Option (2Cable length

B10 L | Motorleftward, horizontal position ‘Grease\None\Standard\ 3L |3.5m
B14 R | Motor rightward, horizontal position| | type \GC \Clean \ 5L |[5m
B14H LU | Motor leftward, upper position 10L [10m
RU | Motor rightward, upper position 3K [3.5m
LD | Motor leftward, lower position 5K |[5m
RD | Motor rightward, lower position 10K [10m
R type

| || || |
R5

\No entry \Standard (S) \ 3L [3.5m
R10 B |[Fromthe side | [5L [5m
R20 10L |10m
3K |3.5m
5K |5m
10K |10m

196



Robot ordering method terminology

@ Model

Enter the robot unit model.

@ Model

Straight model only (GF type)

® Lead designation

Select the ball screw lead.

Select Brake or No-brake.

@ Brake Horizontal specs: No-brake
Vertical specs : with Brake
® Take out direction Select what direction to install the robot (horizontal / wall mounted).

® Cable entry location

Select what direction to extract the robot cable connecting the robot and
controller.

@ Cable carrier entry

Select what direction to install the robot (horizontal / wall mounted) and what
direction to extract the robot cable carrier.

RH Horizontal, right RW Wall, right LH Horizontal, left LW Wall, left

-
=
T
S

@
S
=
2
)
o<
@
S
<3
=
@

Note. Be sure to install in the direction as specified (in cable carrier take-out direction drawing and various specification drawings) individually. Installation
in any other way will cause a failure. For requirement of installation in any way other than the above standard installation, please consult YAMAHA
as special arrangement will be available.

Select the cable carrier size for the customer wiring.
@ Standard cable carrier @ Optional cable carrier
. 58
Cable carrier = E .
specification =1 |2 © ;=5 8 r—
e — = 2
s et 145 | 86 | "’I“‘I
Note. Cannot pass more than 3 urethane hoses ($6 x 4). [ Space for optional cable for users
Select what direction to install the motor.
Leftward at Rightward @D Leftward at G Rightward at
horizontal at horizontal upper position upper posmon
position position
© Motor installation
direction
Leftward at Rightward at
lower position lower position
Origin position change: Origin point position can be changed.
Option Frame: Hole to secure the frame can be selected. (Spot facing/tapping)
Grease type: Clean grease can be selected.
@ Stroke Select the stroke for the robot movement range.

@ cable length

Select the robot cable length to use for connecting the robot to the controller.

3L :3.5m (Standard)

5L :5m

10L : 10m

1K :1m  (You can select a 1m cable only when you use T4L/T5L. Flexible cable)
3K :3.5m (Flexible cable)

5K :5m (Flexible cable)

10K : 10m (Flexible cable)

197 1w



2
o
=,
@
S
<3
S
@

198

T4L

[ Ordering method

@ Origin on the non-motor side is selectable
© Controller: 24V

T4L -

Lead
designalion

Brake i Origin position change |
No entry: No brakes None: Standard

12: 12mm
6: 6mm
[2: 2mm

BK: Brakes provided | [Z: Non-motor side

Grease type
None: Standard

GC: Clean

- B Cable length"*'
50 to 400 :
(50mm pitch) : 3.

Note 1. The robot cable is flexible and resists bending. See P.614 for details on robot cable.

M Specifications

H Allowable overhang N°t¢

—— 1/0 connector specification
CN1: I/O flat cable 1m (Standard)

CN2: Twisted-pair cable 2m (pulse train function

M Static loading t

AC servo motor output (W) 30 A
Repeatability "' (mm) +/-0.02
Deceleration mechanism Ball screw $8 c A B Cc
Ball screw lead (mm) 12 6 2 B c A m a
Maximum speed (mm/sec) 720 360 120 Horizontal i 1 (unitmm) Wall installation  (unit:mm) Vertical i (Unit; mm) (Unit: N'm)
Maximum [ Horizontal| 4.5 6 6 AlB]C AlB]C Al c MYy [ MP [ MR
payload (kg) | Vertical| 1.2 2.4 72 o] 2kg| 433 87| 180 | 2kg| 149 54| 376 & 12ka| 125 125 5 | 19 | 18
Rated thrust (N) 32 64 | 153 B . skg| 223 33| 75 5| askg| 50, 1| 148 5| ¢
Stroke (mm) 50 to 400 (50mm pitch) o ang| 515| 58 135 2| akg| 107 24| 380 © . Controller
Overall length | Horizontal Stroke+198 2 3 ®| 2.4kg| 56| 57 -
(mm) Vertical Stroke+236 S| 6kg| 340 26/ 62 G| 6kg| 31 o 195 3 Controller |Operation method
Maximum dimensions of cross | 3kg| 1585| 58] 142 Q| 3kg| 113] 24| 1180 | 3kg| 41| 42 Pulse train control /
section of main unit (mm) W45 x H53 3 oal 755 27 68 3 ol 32 o 240 g — 5 r/’(r)ograr?rtmng //
- ian: - g =i g 4| 1.2kg point trace
Cable length (m) Standard: 3.5 / Option: 1,5,10 : . : - - - . - ERCD Remote command /
Linear guide type 2 rows of gothic arch grooves x 1rail  Note. Distance from center of slider top to center of gravity of object being carried at a guide service Operation
Position detect, Resol Note 2 life of 10,000 km. using RS-232C
osttoniceteclon esolvers Note. Service life is calculated for 300mm stroke models. communication
Resolution (Pulse/rotation) 16384
Note 1. Positioning repeatability in one direction.
Note 2. Position detectors (resolvers) are common to incremental and
absolute specifications. If the controller has a backup function
then it will be absolute specifications.
( N\
T4L
_ Approx. 250 (Motor cable length) 125.5+/-3 Effective stroke 72.5+/-3
When origin is on motor sideT & When origin is
&S - ide| 21.5+/-2(Note 1)
74.5+/-2(Note 1) 35 82 on non-motor si
20002 & é
oS
@ sE
® o I |
LS v — o R Ny | N A S I ()| Y
H | @) ~f|
W ; o= Eap

©

109.5+/-2(with brakes)
160.5+/-3 (with brakes)

2-$3 H7 Depth6
4-M4x0.7 Depth 9

-

(44)
(90) 36
24
(44) ©
[ (g TN\ | —rp— ,,jF:,, _i |
1 1 — | T L%L
o) —
5] @ @®VANAHA—= 9 g Q ?» | J
L = |
Grounding terminal (M4) ‘
@ L
(3: Screw head) L+35 (with brakes)
122.5 (with brakes)
875 A (35)
D E Mx50
\JW {
JR — . DO~
1 N & © J? ‘_L
$4H7 Depth6 Installation hole:N-(See cross-section B-B) 2] g
1215 c g
156.5 (with brakes) 12mmorless (Note 4) 1.2 R
<t
Effective stroke 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 I
L 248 | 298 | 348 | 398 | 448 | 498 | 548 | 598 435_:*;7
A 125.5|175.5|225.5|275.5|325.5|375.5|425.5|475.5 ©
c 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 5145
D - - - - [125.5[125.5[125.5[125.5 8.5
E - - - - - - 200 | 200 Cross-section B-B
M 0 1 2 3 0 1 0 1 -
_ N — 4 6 8 10 6 8 8 10 Note 1. Stop positions are determined by the mechanical stoppers at both ends.
Weight (kg)"** 11112114 115116 | 1.7 | 1.8 | 1.9 Note 2. Minimum bend radius of motor cable is R30.
Maxi Lead 12 720 Note 3. Weight of models with no brake. The weight of brake-attached models is 0.2 kg heavier than the models with no
speed for each Lead 6 360 brake shown in the table.
stroke Note 4. The under-head length of the hex socket-head bolt (M4x0.7) to be used for the installation work is 12mm or less.
(mmisec) | Lead2 120 Note 5. External view of TALH is identical to T4L.

J

ERCD » 534



.- = == = = = ‘!
I 4 I H the non-motor side is selectable : — lm_l
© Controller: 100V / 200V

rdering method
TALH-__ |- 1y oTsx | Ho :
f f H
H i h
Brake B Origin position changefg] Grease type [  Stroke [ Cable length™"’ Positioner “*** [l Driver: Power-supply voltage | LCD monitor 1/0 selection B Battery
No entry: No brakes| [None: Standard None: Standard| (50 to 400 BL: 3.5m Power capacity INP: NPN IB: With battery|
GC: Clean 50mm pitch) L: With LCD

BK: Brakes provided| |Z: Non-motor side 5L: 5m 105: 100V/100W or less| IPN: PNP

10L: 10m [205: 200V/100W or less| ICC: CC-Link
BK/5K/10K IDN: DeviceNet™ |
|(Flexible cable) [EP: EtherNet/IP™

IPT: PROFINET

IGW: No I/O board Note3|

H
- SR1-X 05 - -
Driver: Power capacity g Usable for CE fd 1/0 selection —
05: 100W or less No entry: Standard|  [N: NPN IB: With battery|
|E: CE marking

IP: PNP (Absolute)|
ICC: CC-Link IN: None
IDN: DeviceNet™

IPB: PROFIBUS

Note 1. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible cable.
See P.614 for details on robot cable. L RDV.X

05

Note 2. See P.522 for DIN rail mounting bracket. . . . 4
Note 3. Select this selection when using the gateway function. For details, see P.66. e
2: AC200V [05: 100W or less ?
x.
s a g E @
M Specifications H Allowable overhang N°t Il Static loading g
AC servo motor output (W) 30 A &
Repeatability "' (mm) +/-0.02
Deceleration mechanism Ball screw ¢$8 c A B Cc
Ball screw lead (mm) 12 6 2 B c A m a
Maximum speed (mm/sec) | 720 360 120 Horizontal i jon (wiitmm Wall installation  (unit:mm) Vertical i ion (Unt:mm) (Unit: N'm)
Maximum ‘ Horizontal| 4.5 6 6 A B Cc A B C A c MY ‘ MP ‘ MR
payload (kg) ‘ Vertical| 1.2 2.4 7.2 E 2kg| 341 90| 174 E 2kg| 140| 73| 300 E 12kal 122 121 15 ‘ 19 ‘ 18
Ratedithiusti(N) 32 64 | 193 Bl skg| 172 37| 72 8| askg 47 22 110 § OO
Stroke (mm) 50 to 400 (50mm pitch) C ]
ol skg| 355 58 134 S| 3kg| 105| 42[ 260 £ ontrolier
Overall length | Horizontal Stroke+198 2 B ®| 2.4kg| 56| 57 .
(mm) Vertical Stroke+236 S| ekg| 235 27| 62 G| e6kg| 31 11 135 § Controller |Operation method
Maximum dimensions of cross S| 3kg| 1105] 59| 142 | 3kg| 113] 42| 810 | 3kg| 41 42 Programming /
section of main unit (mm) W45 x H53 K 9 kS d B g SR1-X05  ||/0 point trace /
Cable length (m) Standard: 3.5/ Option: 5,10 Y| 6kg| 520/ 27| 66 3| 6kgl 32 11| 305 S| 7.2kg 0 0 RCX320 Remote command /
~ = ~ = Operation
Linear guide type 2rows of gothic arch grooves x 1 rail ~ Note. Distance from center of slider top to center of gravity of object being carried at a guide service 22;5?3/222 us‘?ng RS-232C
Position detector Resolvers"*°? life of 10,000 k. communication
Note. Service life is calculated for 300mm stroke models.
Resolution (Pulse/rotation) 16384 TS-X105 _ |1/O point trace /
- o _— TS-X205 Remote command
Note 1. Positioning repeatability in one direction.
Note 2. Position detectors (resolvers) are common to incremental and RDV-X205 |Pulse train control

absolute specifications. If the controller has a backup function
then it will be absolute specifications.

(T4LH )

__ Approx. 250 (Motor cable length) 125.5+/-3 Effective stroke 72.5+/-3

When origin is on motor side‘ g When originis
74.5+/-2(Note 1 35 < on non-motor side| 21.5+/-2(Note 1)
20+-0.02 A
E
£

30 (Between

@:ﬁl\\ [ Z{,jci [ [l ] L o .
= J

I A |
s g ——
© 2-$3 H7 Depth6
109.5+/-2(with brakes) 4-M4x0.7 Depth 9
160.5+/-3 (with brakes) (44)
:
(44) o ||
[ 1N — ‘_l |
] I [y =~

53
i oo
c
5
(38.5)
45
—h
L

Grounding terminal (M4)

@) L
(3: Screw head) L+35 (with brakes)
122.5 (with brakes) -
87.5 A <
o
D E @
—
o — JE
L N )
0
$4H7 Depth6 Installation hole:N-(See cross-section B-B) /2 £
1215 c 2
156.5 (with brakes) 12mmor less (Note d) 1.2 EX
’V

Effective stroke 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400

r
\
e
sllL
[ 24

L 248 | 298 | 348 | 398 | 448 | 498 | 548 | 598 o =
A 125.5|175.5|225.5|275.5/325.5|375.5|425.5|475.5 2l 45 3
[ 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 8.5 3
D - - - - |125.5|125.5/125.5(125.5 Cross-section B-B
E - - - - - - 200 | 200 -
M 0 1 2 3 0 1 0 1
N 4 6 8 10 6 8 8 10
" ot Note 1. Stop positions are determined by the mechanical stoppers at both ends.
Weight (kg)*** 1111211415 |16 |17 ] 18| 19 Note2. Minimum bend radius of motor cable is R30.
Maximum |Lead 12 720 Note 3. Weight of models with no brake. The weight of brake-attached models is 0.2 kg heavier than the models with no
speed for each Lead 6 360 brake shown in the table.
stroke ea Note 4. The under-head length of the hex socket-head bolt (M4x0.7) to be used for the installation work is 12mm or less.
(mm/sec) | Lead 2 120 Note 5. External view of T4LH is identical to T4L.

SR1-X > 540 | TS-X > 514 | RDV-X » 528 | 199 W=




© Controller: 24V

5 @ High lead: Lead 20 @ Origin on the non-motor side is selectable J——= e |

@ Ordering method
-
TSL{ | ] H - ERCD - |
- Brake Note! Bl Origin position change @ Grease type [ Bl Cable length Nete2 —— 1/0 connector specification
CLDEUCUILE  [No entry: No brakes None: Standard None: Standard 50 to 800 : CN1: I/O flat cable 1m (Standard)
| |GC:Clean (50mm pitch) 13,

20: 20mm BK: Brakes provided | |Z: Non-motor side CN2: Twisted-pair cable 2m (pulse train function;

12: 12mm
6: 6mm

Note 1. The model with a lead of 20mm cannot select specifications with brake (vertical specifications).
Note 2. The robot cable is flexible and resists bending. See P.614 for details on robot cable.

]
o
x.
@ . gn . . .
3 M Specifications H Allowable overhang N°t M Static loading t
& AC servo motor output (W) 30 A
Repeatability Mot ' (mm) +/-0.02
Deceleration mechanism Ball screw $12 B e
Ball screw lead (mm) 20 12 6 B Cc A
Maxi speed°te2 (mm/sec) | 1200 800 400 c A @ w
Maximum [ Horizontal| 3 5 9 Horizontal i ion _(unimm)  Wall installation  (unit:mm) ~Vertical i ion (urit mm) (Unit: N-m)
ga\tf":‘a& (kg)t (N)‘ Vertical, 12| 24 A]B]C A]B]C A c MY | MP_| MR
ated thrus = =
Stroke (mm) 5010 600 (somm pitch) G| 1%o| 600 323 683 &| kgl 600 201 600 £/ I F 30 | 34 [ 40
Overall length | Horizontal Stroke+201.5 98| 3kg| 675 103| 247 8| 3kg| 215/ 73| 589 3
(mm) Vertical Stroke+239.5 S| g 1170 159 406 §| 2kg 308 127 1082 © Il Controller
Maximum dimensions of cross W55xH52 k-] 2 ®| 2.4kg| 113 113 S
section of main unit (mm) ®| 5kg| 555 59| 155 | 5kg| 127| 30| 449 § Controller |Operation method
Cable length (m) Standard: 3.5/ Option: 1,510 "o © Pulse train control /
Linear guide type 2 rows of gothic arch grooves x 1rail 7§ 3kg| 1498) 104) 294 2 3kg) 263 73| 970 Programming /
Position detector Resolvers et 3 8| o9kg| 628 31| 89 4| 9kg| 54 0] 400 ERCD KO po{nt trace / "
Resolution (Pulse/rotation) 16384 Note. Distance from center of slider top to center of gravity of object being carried at a guide service Ogg(;gocrzlomman
Note 1. Positioning repeatability in one direction. life of 10,000 km. using RS-232C
Note 2. When the stroke is longer than 600mm, resonance of the Note. Service life is calculated for 600mm stroke models. communication
ball screw may occur depending on the operation conditions
(critical speed). In this case, reduce the speed setting on the
program by referring to the maximum speeds shown in the
table below.
Note 3. Position detectors (resolvers) are common to incremental and
absolute specifications. If the controller has a backup function
then it will be absolute specifications.
( N\
T5L
_Approx. 250 (Motor cable length) 127+-3 Effective stroke 74.5+/-3
When origin is on motor sideT - g When origin is
g3 on non-motor side
73+/-2(Note 1) 40 % ¥ 20.5+/-2(Note 1)
25+1-0.02 Qg
wn c
; ™ X
(0 e iy T A |
= PR i R VR - 18
L d|le o ®
! = e =7 ] 1 [
3| 2-$3 H7 Depth6
108+/-2 (with brakes) (Note 1), 4-M4x0.7 Depth9
162+/-3 (with brakes) (51)
(96) g;
(55) © o
T [ —————— # i
q e T - i !
g [k = BEII—s | 33| !
L h [ 1
Grounding terminal (M4)
@ L
(3: Screw head) L+35 (with brakes)
122 (with brakes)
87 A (34.5)
15mmorless (Noted) 1 - "
- B D | Installation hole:N-{See cross-section B-B) F%’
H | | | [
B
e S e B 1 Sllees T T e T 86 86, e g
s j / o 0% i & 40 &6 lseT
3 )
45| 5 z
9 —= G4H7 Depthé ¥ 2l s8|s
T 135.5 c <8
Cross-section B-B 170.5 (with brakes)

Note 1. Stop positions are determined by the mechanical stoppers at both

Effective stroke | 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 ends.
L 251.5[301.5[351.5401.5451.5/501.5/551.5/601.5[651.5701.5751.5801.5851.5(901.5/951.5[1001.5 Note 2. Minimum bend radius of motor cable is R30.
A 130 | 180230 | 280330 | 380 | 430 | 480 | 530 | 580 | 630 | 680 | 730 | 780 | 830 | 880 Note 3. Weight of models with no brake. The weight of brake-attached
[¢] 50 | 100|150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 models is 0.2 kg heavier than the models with no brake shown in
D - - - - - - 1230|230 | 230|230 |230]| 230|230 | 230 | 230 | 230 the table.
M 0 1 2 3 4 5 0 1 2 3 4 5 6 7 8 9 Note 4. The under-head length of the hex socket-head bolt (M4x0.7) to
N 4 6 8 10 12 14 6 8 10 12 14 16 18 20 22 24 be used for the installation work is 15mm or less.
weightm""'” 17118202223 2527128 30|32 |33|35]|37 |38 4.0 | 4.2 Note5 When the stroke is longer than 600mm, resonance of the ball
i Lead 20 1200 960 | 840 | 720 | 660 screw may occur depending on the operation conditions (critical
sp::ghfor Ii_ea(;? 288 ggg ggg ‘2‘28 ggg Isr??tﬁg)(-:ase, reduce the speed setting on the program by referring
stroke"*** ea " o o to the maximum speeds shown in the table at the left.
(mmisec) | Speed setting - 80% | 70% [60% | 55% Note 6. External view of T5LH is identical to T5L.
. J

- 200 ERCD » 534




15LH

@ Ordering method

Brake "t
No entry: No brakes|
BK: Brakes provided| |Z: Non-motor side

Il Origin position ge kg
None: Standard

Grease type @ Stroke [
None: Standard| 50 to 800
GC: Clean 50mm pitch)

Cable length"**

BL: 3.5m
5L: 5m

10L: 10m

BK/5K/10K

|(Flexible cable)

Note 1. The model with a lead of 20mm cannot select specifications with brake (vertical

specifications).

Note 2. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible cable.

See P.614 for details
Note 3. See P.522 for DIN rai

on robot cable.
| mounting bracket.

Note 4. Select this selection when using the gateway function. For details, see P.66

M Specifications

- SR1

H Allowable overhang \°t¢

- TSX |

Positioner “**

@ High lead: Lead 20 @ Origin on the non-motor side is selectable

© Controller: 100V / 200V

Driver: Power-supply voltage /

1/0 selection & Battery

jad LCD monitor i
[No entry: None]
L: With LCD

X

Power capacity INP: NPN IB: With battery|
105: 100V/100W or less| IPN: PNP
[205: 200V/100W or less| ICC: CC-Link
IDN: DeviceNet™ |

[EP: EtherNet/IP™
IPT: PROFINET

IGW: No /O board Note4|
1

05

- RDV-X

Power-supply voltage Jll Driver: Power capacity
2: AC200V 05: 100W or less

-
Driver: Power capacity g Usable for CE fd
05: 100W or less INo entry: Standard|

[~ Vo sciection B Battry |

IN: NPN IB: With battery|
\E: CE marking| [P: PNP (Absolute)|

ICC: CC-Link IN: None

IDN: DeviceNet™

IPB: PROFIBUS

2 05

Il Static loading t

@
S
=
2
)
o<
@
S
<3
S
@

AC servo motor output (W) 30 A
Repeatability Vo' (mm) +/-0.02
Deceleration lism Ball screw ¢$12 B e
Ball screw lead (mm) 20 12 6 B Cc A
Maximum speedMte2 (mm/sec) | 1200 800 400 ¢ A m w
Maxlim:r?k ] } Horizontal| 3 5 9 Horizontal i ion _(unitmm) Wall installation _ (unit:mm) Vertical i Unit; mm) (Unit: Nom)
payloa g Vertical - 1.2 2.4 A B c A B c A c MY MP MR
Rated thrust (N) 19 32 64 = = ~ 30 } 34 } 20
Stroke (mm) 5010 800 (50mm pitch) _ 5| 'ke| 967 324] 598 3 kgl 551 304| 925 T, 1 o0 o39
Overall length [ Horizontal Stroke+201.5 S| 3kg| 429] 104| 226 S| 3kg| 185 89 378 %
T I Y ATITEA] Stroke+239.5 S| 2kg| 916 159 398 & 2kg| 347| 141) 800 M Controller
Maximum dimensions of cross W55xH52 k-] 2 @l 2.4kg| 109, 110 S
section of main unit (mm) 8| 5kg| 436| 60| 152 &| 5kg| 119 44| 355 § Controller |Operation method
Cable length (m) Standard: 3.5/ Option: 5,10 "« K © K Programming /
Linear guide type 2rows of gothic arch grooves x 1rall 3 3kg| 1194] 105 294 5| 3ke 259| 87| 950 SR1-X05  ||/0 point trace /
Position detector Resolvers Noe 3 S| 9kg| 624 31 89 $| 9kg| 50/ 15| 385 RCX320 Remote command /
i = Operation
Resolution (Pulse/rotation) 16384 Note. Distance from center of slider top to center of gravity of object being carried at a guide service 22;5?3/222 us‘?ng RS-232C
Note 1. Positioning repeatability in one direction. life of 10,000 km. communication
Note 2. When the stroke is longer than 600mm, resonance of the Note. Service life is calculated for 600mm stroke models. TS-X105 R
ball screw may occur depending on the operation conditions oAU J1/O point trace /
(critical speed). In this case, reduce the speed setting on the TS-X205 Remote command
program by referring to the maximum speeds shown in the "
table below. RDV-X205 |Pulse train control
Note 3. Position detectors (resolvers) are common to incremental and
absolute specifications. If the controller has a backup function
then it will be absolute specifications.
4 N\
T5LH
_Approx. 250 (Motor cable length) 127+/-3 Effective stroke 74.5+/-3
When origin is on motor side ‘ < g When origin is
g on non-motor side
73+/-2(Note ) 40 = 20.5+/-2(Note 1)
254004 23
v c
; ™ X
; -0 S o (ol
| s 4—**—*—*—*—*—*—*—*—*—&*—\* LZ*S
1 I
W 4 e Tor=") e
© 2-¢3 H7 Depth6
108+/-2 (with brakes) (Note 1 4-M4x0.7 Depth9
162+/-3 (with brakes) (61)
96 4
e mg
=]
_ e — "% o~
I T - 7\ GV I
8 I ® SWEE || 3| !
[ AN e S 1
Grounding terminal (M4)
@) L
(3: Screw head) L+35 (with brakes) =
<
122 (with brakes) 5
87 A (34.5)
15mmorless (Noted) 1 - -
- B D | Instalation hole:N-{See ross-section B-B) "%
o - \ \ |
= —— |le» ., % _ __ ____®0 _#0 cou@i
— b o0& N % %0 @ se IT, =
1
©o
B G4H7 Depth6 & 2]8|g
. 135.5 C <8
Cross-section B-B 170.5 (with brakes)
Effective stroke | 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 4 1. st iti determined by th h I st t both
L 251,5[301.5351.5401.5451.5501.5551.5601.5651.5701.5751.5801.5851.5901.505 1510015 = = angar o - cre cerormined by e mechanical sioppers & bol
A 130 | 180 | 230 | 280 | 330 | 380 | 430 | 480 | 530 | 580 | 630 | 680 | 730 | 780 | 830 | 880  Note 2. Minimum bend radius of motor cable is R30.
C 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800  Note 3. Weight of models with no brake. The weight of brake-attached
D - - - - - - 230|230 | 230 | 230 | 230 | 230 | 230 | 230 | 230 | 230 models is 0.2 kg heavier than the models with no brake shown
M 0 1 2 3 4 5 0 1 2 3 4 5 6 7 8 9 in the table.
N 4 6 8 10 | 12 | 14 6 8 10 | 12 | 14 | 16 | 18 | 20 | 22 | 24  Note 4. The under-head length of the hex socket-head bolt (M4x0.7)
Weight (kg)™™* 1.7118120[22]23[25]27[28]30[/32[33[/35[37/38[40]4.2 to be used for the installation work is 15mm or less.
. Lead 20 1200 960 | 840 | 720 | 660 Note 5. When the stroke is longer than 600mm, resonance of the ball
spiﬂ:&(lf?ruer:‘:h Lead 12 300 640 | 560 | 480 | 440 :;;e:jfay occur depending on the operation conditions (critical
stroke"*** Lead 6 400 320 | 280 | 240 | 220 In this case, reduce the speed setting on the program by
mm/sec) " referring to the maximum speeds shown in the table at the left.
( ) _|speedsettng - 80% | 70% | 60% | 55%  Note 6. External view of TSLH is identical to T5L.

J

SR1-X > 540 [ TS-X » 514 | RDV-X > 528 |

201 .




I I @ Origin on the non-motor side is selectable
© Controller: 100V / 200V
M Ordering method
T6L | | el | TSX -

Brake™*' B Origin position ge B Cable length™** * Il Driver: Power-supply voltage / i - 1/0 selection B Battery
INo entry: No brakes| [None: Standard 50 to 800 3BL: 3.5m Power capacity INo entry: None| [NP: NPN IB: With battery|
(50mm pitch) L: With LCD

5L: 5m PN: PNP
10L: 10m CC: CC-Link
3K/5K/10K DN: DeviceNet™ |
(Flexible cable) EP: EtherNet/IP™
PT. PROFINET

IGW: No 1/0 board Mot
i H i 1

- SR1-X 05 - H o
Driver: Power capacity fd Usable for CE [ 1/0 selection —
05: 100W or less No entry: Standard| [N: NPN IB: With battery|

E: CE marking| |P: PNP (Absolute)
. e . . ICC: CC-Link N: None
Note 1. The model with a lead of 20mm cannot select specifications with brake (vertical DN: DeviceNet™
specifications). PB: PROFIBUS

Note 2. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible cable.

See P.614 for details on robot cable. - RDV'X 2 05 - RBR1

Note 3. See P.522 for DIN rail mounting bracket.

Note 4. Select this selection when using the gateway function. For details, see P.66. Power-supply voltage ll Driver: Power capacity [l Regenerative unit |
2: AC200V 05: 100W or less

]
o
x.
@ . gn . . .
3 M Specifications H Allowable overhang N°t M Static loading t
& AC servo motor output (W) 60 A
Repeatability Mt ' (mm) +/-0.02
Deceleration mechanism Ball screw $12 B e
Ball screw lead (mm) 20 12 6 B Cc A
Maxi speed°te2 (mm/sec) | 1333 800 400 c A @ w
Maximum [ Horizontal| 10 12 30 Horizontal ir fon _(unismm) - Wall ir ion__ (unit.mm)  Vertical i ion (urit:mm) (Unit: N-m)
iy ENE: st re T S
Stroke (mm) 50 to 800 (50mm pitch) Q| 2kg| 319] 184 234 Q| 2kg| 234| 152] 265 g 1kg| 355| 352 35 \ 40 \ 50
Overall length | Horizontal Stroke+247.5 E 6kg 98 37 77 E 6kg 61 13 71 g 2kg| 165/ 165
(mm) Vertical Stroke+285.5 —| 10kg| 64 0| 55 4| 10kgl 30 o] 42 3| akg| 70| 72 | Hede)plige)l[=7
Maximum dimensions of cross ~ ki o ki 2k
section of main unit (mm) W65xH56 ; gkg 252 1‘2:; ?g? ; :kg 2:‘3 ?i 218 : 4kg 1;; Zi Controller |Operation method
Cable length (m) Standard: 3.5/ Option: 5,10  § 9 4 9 8 9 Programming /
Linear guide type 2rows of gothicarch grooves x 1rail =1| 12kg| 216] 24] 77 | 12kg) 43 0] 130 8kg| 23] 26 SR1-X05 ||/0 pointtrace/
Position detector Resolvers Mot 3 ©| 5kg| 694 73] 236 ©| 5kg| 204] 45/ 530 RCX320 gemotte; command /
Resolution (Pulse/rotation) 16384 E 10kg| 374| 33| 109 § 10kg| 72 o] 245 Sg;gig/zzz us?%aégjgazc
Note 1. Positioning repeatability in one direction. —| 30kg| 159 0 25 - 30kg 0 0 0 communication
Note 2. When the stroke is longer than 600mm, resonance of the
ball screw may occur depending on the operation conditions Note. Distance from center of slider top to center of gravity of object being carried at a guide service TS-X105 1/0 point trace /
(critical speed). In this case, reduce the speed setting on the life of 10,000 km. TS-X205 |Remote command
program by referring to the maximum speeds shown in the Note. Service life is calculated for 600mm stroke models.
N table below. ) RDV-X205-RBR1 | Pulse train control
ote 3. Position detectors (resolvers) are common to incremental and
absolute specifications. If the controller has a backup function
then it will be absolute specifications.
( N\
T6L
Approx. 250 (Motor cable length) 156.5+/-3 Effective stroke 91+/-3
When origin is on motor side \ s 5 When origin is on
92.5+/-2(Note 1) 4 22 non-motor side
0+-0,02 5o 27+/-2(Note 1)
F oS
£
[%% i =1 o EeeEm
e
i EHOER
(5e)
27.5+/-2(with brakes)Note 1 2-$3H7 Depth6
191.5+/-3 4-M5x0.8 Depth11 (58)
(116) 8
(60) Ql 32
— i —— =
g [ 5 2 g w
[ YT ]
Grounding terminal (M4)
@ L
(3: Screw head) L+35 (with brakes)
148.5 (with brakes)
1135 40 A (49)
08 B_| D Installation hole:N-(See cross-section B-B) Mx50
15 mm or less (Note 4)7(; & T T
i Y
gI *;E, S/ = H=® ©e ‘»,7,7,7,7f£7,7,7,7,i©, @ DE’)",,,Q
===t | lo dije 00 @ @ o 0 &/p |60
©) [ 0 | ]
EME
05 B $4H7 Depth % ng
168 [ 2
Cross-section B-B 203 (with brakes) 2
*ﬁ‘
Effective stroke 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 Note 1. Stop positions are determined by the mechanical
L 297.5|347.5|397.5|447.5|497.5|547.5|597.5|647.5697.5|747.5|797.5|847.5|897.5|947.5/997.5/1047.5 " stoppers at both ends.
A 95 | 145 | 195 | 245 | 295 | 345 | 395 | 445 | 495 | 545 | 595 | 645 | 695 | 745 | 795 | 845 Note 2. Minimum bend radius of motor cable is R30.
c 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 Note3. ‘é‘ﬁ:'kgeh‘aftfa?;ed;';:d':‘ls": %fgkfg- I’e‘:v“i’;'g':‘g:fme
2] - - - - - - 195 | 195 | 195 | 195 | 195 | 195 | 195 | 195 | 195 | 195 models with no brake showﬁ in the table.
M 0 1 2 3 4 5 0 1 2 3 4 5 6 7 8 9  Note 4. The under-head length of the hex socket-head
N 6 8 10 12 14 16 8 10 12 14 16 18 20 22 24 26 bolt (M4x0.7) to be used for the installation work
is 1 less.
Weight (kg)™** | 2.4 | 2.6 | 2.6 | 3.1 | 33 | 35 | 8.7 | 4.0 | 42 | 44 | 4.6 | 4.8 | 51 | 5.3 | 5.5 | 5.7 yoes. wwnen ine strare is longer than 600mm,
Maximum | Lead 20 1333 1133 /1000| 866 | 800 resonance of the ball screw may occur depending
speed for each Lead 12 800 680 | 600 | 520 | 480 on the operation conditions (critical speed).
Note 5 In this case, reduce the speed setting on the
stroke Lead 6 400 340 | 300 | 260 | 240 program by referring to the maximum speeds
(mm/sec) [Speed setting - 85% | 75% | 65% | 60% shown in the table at the left.
\C J

— 202 SR1-X > 540 [ TS-X > 514 [ RDV-X > 528 |




I 9 @ High lead: Lead 30

Note. Strokes longer than 1050mm are special order items. Please consult us for delivery time.

[ Ordering method
T 1 |

W Lead @ Brake'ot! g Origin position change @ Grease type | Positioner "' il Driver: Power-supply voltage / g Regenerative unit g LCD monitor 1/0 selection m Battery
LRI (No entry:No brakes | [None: Standard None: Standard| [Lead 20-105: Power capacity NP: NPN B: With battery|
[30: 30mm | [BK: Brakes provided GC: Clean 150 to 1050 [105: 100V/100W or less| |R: With RGT | |L: With LCD | |PN: PNP
0: 20mm (50mm pitch)| [10L: 10m [205: 200V/100W or less| ICC: CC-Link
0: 10mm Lead 30: 3K/5K/10K DN: DeviceNet™ |
5: 5mm 150 to 1250| |(Flexible cable) EP: EtherNet/IP™
50mm pitch) PT: PROFINET
IGW: No 1/O boardMete|
i i i i i
- SR1-X 05 - H H Ho
Driver: Power capacity @ Usable for CE —--— 1/0 selection -—
Note 1. The model with a lead of 30mm cannot select specifications with brake (vertical [05: 100W or less No entry: Standard No entry: None| |N: NPN B: Wi battery
ificati E:CE marking |R: With RG1 | [P: PNP (Absolute)
speci Ic? ions). e - . ICC: CC-Link N: None
Note 2. If selecting 5mm lead specifications then the origin point cannot be changed to the DN: DeviceNet™
non-motor side. PB: PROFIBUS
Note 3. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible cable.
See P.614 for details on robot cable. — RDV-X 2 05 - RBR1

Note 4. See P.522 for DIN rail mounting bracket. . . . . . 4
Note 5. Select this selection when using the gateway function. For details, see P.66. Power-supply voltage l_Driver: Power capacity _[g Regenerative unit | =
2: AC200V 05: 100W or less ?
x.
= 7 q . @
M Specifications H Allowable overhang N°t M Static loading moment g
AC servo motor output (W) 100 A &
_Repeatability V! (mm) +/-0.01
Deceleration mechanism Ball screw $15 B
‘Ball screw lead (mm) 30 [ 20 [ 10 5 B c A c
Maximum speed™*2 (mmisec)| 1800 | 1200 | 600 _| 300 c A MR) @
Maximum [Horizontal| 15 30 55 80 ] L " . . . - . " )
payload (kg) | Vertical| — 4 10 20 Horizontal on__(unitmm) - Wall installation (unit: mm)  Vertical (Unit: mm) (Unit: N-m)
Rated thrust (N) 56 84 169 | 339 A B c A B c A Cc MY MP MR
gtrokeil(lmm) h IHorizontal 150 to 123510“‘;;es (gggﬁm pitch) 3| skg| 864 501 383 3| 5kg| 348] 384] 776 g| 1kg| 600 600 86 133 117
verall lengt orizonta roke+! 3 3
o) erheal StroKker289 3| 15kg| 491 156] 140 S| 15kg| 87 40| 306 | 2kg| 1098| 1098
Maximum dimensions of cross W94 x H98 Q| 5kg| 1292| 505| 462 g| 5kg| 416| 388| 1186 | 4kg| 545 545 Controller
section of main unit (mm) S S -
Cable length (m) Standard: 357 Oplion: 510§ 1ok9| 572 158 151 ‘g 15kg) 92 42| 386 2| 4kg| 594) 594 “gontroller [Operation method
Linear guide type 4rows of circular arc grooves x frail | 30kg| 455 73| 75 | 30kg 0 0] 61 §| 8kg 280 280 oo |PTOgramming /
Position detector Resolvers M= 4 o| 20kg| 617] 119] 127 o 1okg| 193] 132] 910 3| 1okg| 217] 217 SRI-XO5™|1/O point trace /
Resolution (Pulselrotation) 16384 p p RCX320 |Remote command /
= —— —— — B| 40kg| 422 53 59 Q| 20kg 53 0] 400 | 10kg| 221 221 RCX221/222 |Operation
Note 1. Positioning repeatability in one direction. @ P - ing RS-232C
Note 2. When the stroke is longer than 700mm, resonance of the ball —| 55kg| 420 36 40 | 30kg 0 0| 109 s 15kg| 135/ 135 RCX340 gts)lrrr‘\gnuni;:ation
screw may occur depending on the operation conditions (critical -
speed). In this case, reduce the speed setting on the program ~ '® S0kg| 722 42 47 w| 10kg| 197 133| 2360 20kg 92 92 TS-X105Me 1/0 point trace /
by referring to the maximum speeds shown in the table below. o 60kg| 657 33 37 o 20kg 54 0| 985 TS-X205Note | Remote command
Note 3. Strokes | than 1050, ilable only for high lead o @ :
% (Lean 30, (pecial order tem) o 0o O 3 gokgl 577] 23] 25 | aokgl 0 0| 427 'RDV-X205-RBR1 | Pulse train control _
Note 4. Position detectors (resolvers) are common to incremental and Note. Distance from center of slider top to center of gravity of object being carried at a guide service Note. Regenerative unit is required

absolute specifications. If the controller has a backup function when the models used vertically

then it will be absolute specifications. life of 10,000 km. and with 700mm or larger stroke.
e A
T9

Approx. 250 (Motor cable length) 165+-3 Note 2: When origin s on motor side Effective stroke (94): When origin is on motor side
& (165): When origin is on non-motor swde‘ Q4+/-3 (Note 3): When origin is on non-motor side
2 115+/-1 (Note 1 (938 2-¢6H7 Depth8 44411
% ‘ [ 4-M6 x 1.0 Depth18 N (Note 4)

% g ] T & & f T
gl ¢ 5 4
(%)

. 2

T 3 ®

=1 ;__~u9 Q{
© = LFs 5 o1 S—————

145+/-1 (with brakes) (Note 1

Approx. 250 195+/-3: When origin is on motor side
(195): When origin is on non-motor side
94 4-M5 x 0.8 Depth4 50 20

(The same position on the opposite surface at two (2) locations)

1L

10

‘ |y - R -
N
e | f 3 3 S
21; el | L
23NN\ 0| w30 (with brakes) || L
43 N 165 60 x (N-1) A 11
83.7 Grounding terminal B (Note 5) 60 ‘
87.7 ! : N — - N =
— # ol N é
PELALN | o o o o o o o Y o @
& 1 @ e @ hd hd @ @ @ @
E%H i O
‘ — 1 N-M8 x 1.25
‘ 195 (with brakes) | B
Note 1. Stop positions are determined by the mechanical stoppers at both ends. Note 5. When installing the unit, washers, etc., cannot be used in the ¢11 counter bore hole.
Note 2. 167.5+/-4 when the high lead specification (Lead 30) is used. Note 6. Minimum bend radius of motor cable is R5.
Note 3. 94+/-4 when the high lead specification (Lead 30) is used. Note 7. Weight of models with no brake. The weight of brake-attached models is 0.5 kg heavier than the models with no brake
Note 4. 41.5+/-1 when the high lead specification (Lead 30) is used. shown in the table.
Effective stroke 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 {100***1150"* {1200 }1250""*
L 409 | 459 | 509 | 559 | 609 | 659 | 709 | 759 | 809 | 859 | 909 | 959 | 1009|1059 | 1109 | 1159 | 1209 | 1259 | 1309 | 1359 | 1409 | 1459 | 1509
A 64 54 44 94 84 74 64 54 44 94 84 74 64 54 44 94 84 74 64 54 44 94 84
N 4 5 6 6 7 8 9 10 1 1 12 13 14 15 16 16 17 18 19 20 21 21 22
Weight (kg) “*°” 55|59 |62)|66 |69 |73 |76 |80)|83|87|90|94 |97 |10.0|10.3|10.7|11.0|11.4 | 117|121 125|129 |13.3
Lead 30 1800 1440 1170 900 810
Maximum | Lead 20 1200 960 780 600 540
speed"™®| Lead 10 600 480 390 300 270
(mm/sec) Lead 5 300 240 195 150 135
'Speed setting — 80% 65% 50% 45%

Note 8. When the stroke is longer than 700mm, resonance of the ball screw may occur depending on the operation conditions (critical speed). In this case, reduce the speed setting on the program by referring to
the maximum speeds shown in the table above.
L Note 9. Strokes longer than 1050mm are special order items. Please contact us for speed setting.

SR1-X > 540 [ TS-X > 514 [RDV-X » 528 | 203 -




(%]
=
2
o
=,
@
S
<3
S
@

204

T9H

@ High lead: Lead 30

Note. Strokes longer than 1050mm are special order items. Please consult us for delivery time.

rdering method

Note 1.

specifications).
Note 2.

Note 3.

Brake "ote

No entry:No brakes
BK: Brakes provided|

See P.614 for details on robot cable.

Note 4.
Note 5.

See P.522 for DIN rail mounting bracket.
Select this selection when using the gateway function. For details, see P.66.

M Specifications

Lead 2010-5:
150 to 1050

m Origin position change @ Grease type —m
None: Standard None: Standard
|Z: Non-motor side **2| |GC: Clean

|(50mm pitch)|

10L: 10m

Lead 30:
150 to 1250
|(50mm pitch)|

3K/5K/10K
Flexible cable)

The model with a lead of 30mm cannot select specifications with brake (vertical

If selecting 10mm-5mm lead specifications then the origin point cannot be changed
to the non-motor side.
The robot cable is standard cable (3L/5L/10L), but can be changed to flexible cable.

TSX |

Positioner"'**

1/0 selection m Battery

Driver: Power-supply voltage / gl Regenerative unit gl —|
Power capacity No entry: None| [NP: NPN
110: 100V/200W R:With RGT | [L:With LCD | |PN: PNP

[210: 200V/200W

SR1X 10

Controller Driver: Power capacity i
10: 200W

RDV-X 2

Power-supply voltage
2: AC200V

ICC: CC-Link

IDN: DeviceNet™ |

EP: EtherNet/IP™

IPT: PROFINET

IGW: No I/0 board Note5|

-
Regenerative unit g
o entry: None|

N IN: NPN B: With battery
E: CE marking |R: With RG1 | [P: PNP (Absolute),
ICC: CC-Link N: None
IDN: DeviceNet™
IPB: PROFIBUS

10

10: 200W or less

- RBR1
Driver: Power capacity —

H Allowable overhang N°t¢

M Static loading moment

AC servo motor output (W) 200 A
_Repeatability V' (mm) +/-0.01
Deceleration mechanism Ball screw $15 B
‘Ball screw lead (mm) 30 B c A c
Maximum speed " (mm/sec)| 1800 | 1200 | 600 | 300 c A w m
Maximum Horizontal| 25 40 80 | 100 ! ; it f ; it ioal i it '
payload (kg) Vertical| — 8 20 30 Horizontal 1 (unitmm)  Wall installation (Unit: mm)  Vertical (Unit: mm) (Unit: N-m)
Rated thrust (N) 113 170 | 341 683 A B c A B c A c MY MP MR
gtroke"(:nm)th Forizanial 150 to 122? ”‘:”(ZS%W pitch) 8| 10kg| 415] 286 183 B[ 10kg| 140| 120 323 g| 4kg| 515] 515 86 133 117
verall leng orizonta roke+. © <
(mm) Vertical Stroke+303 3| 20kg| 270/ 105 93 3| 20kg 41 0| 123 § 6kg| 334| 334
Maximum dimensions of cross o| 10kg| 667| 244| 225 o| 10kg| 170| 128| 549 | 8kg| 244 244 Controller
tion of main unit (mm) W94 x Ho8 S 20kg| 330 112| 107 > 20kg| 46 0| 182 o| 10kg| 217| 217 :
Cable length (m) Standard: 3.5/ Option: 5,10 o & - Controller |Operation method
_Linear guide type 4rows of circulararc grooves x 1rail | 40kg| 162| 42] 47 | 40kg 0 0 0 || 15kg| 133] 133 o |Programming/
Position detector Resolvers Noe4 o 3okg| 392] 75| 81 o 20kg| 52 of 335 3| 20kg] 90| g0 SRIXI0O™ /O pointtrace /
Resolution (Pulse/rotation) 16384 = = RCX320 Remote command /
= — —— — S| 50kg| 297 40 44 T| 25kg 24 0] 235 | 15kg| 135 135 RCX221/222 |Operation
Note 1. Positioning repeatability in one direction. @ @ - ing RS-232C
Note 2. When the stroke is longer than 700mm, resonance of the ball -1| 80kg| 265 21 24 4| 30kg 0 0| 108 s 20kg 92 92 RCX340 gcs)w%nuni-cation
screw may occur depending on the operation conditions (critical P
speed). In this case, reduce the speed setting on the program w| 60kg 477 22 37 w| 20kg 54 0] 710 30kg 49 49 TS-X110M* [|/0 point trace /
by referring to the maximum speeds shown in the table below. G| 80kg| 412| 22| 25 §| 25kg| 25 0| 505 TS-X210Nete | Remote command
Note 3. Strokes longer than 1050mm are available only for high lead @ @ B X i
(Lead 30). (Special order item) -l 100kg| 362 16 18 =| 30kg 0 ol 355 RDV-X210-RBR1 | Pulse train control
Note 4. Position detectors (resolvers) are common to incremental and ) ) ) _ ) . . . Note. When using the unit vertically, a
absolute specifications. If the controller has a backup function Note. IZ_)lstance from center of slider top to center of gravity of object being carried at a guide service regeneration unit s required.
then it will be absolute specifications. life of 10,000 km.
( )
T9H
Approx. 250 (Motor cable length) 179+-3 Note 2: When origin s on motor side Effective stroke 94): When origin is on motor side
g (179): When origin is on non-motor side\ 94+/-3 (Note 3): When origin is on non-motor side
< 129+/-1 (Note 1) 90 2-$6H7 Depthd 44+/-1
P 60 4-M6 x 1.0 Depth18 TiNote 4)
8 ‘ A ‘
£ T e & &t — T
g —
g ®
i ] — & Q"
1L B o I o T —
| |159+/-1 (with brakes) (Note 1)
Approx. 250 ‘ 209+/-3 (with brakes): When origin is on motor side
(209): When origin is on non-motor side
94 4-M5 x 0.8 Depth4 50 20
(The same position on the opposite surface at 2 locations) \ [~ - %
= ¥ [+ j -
: i : j
(S
I
30 (with brakes)| | L \
179 60 x (N-1) A 1
B (Note 5) 60 F;\
N iR AISED:
WAL | > o o o o o o o o
" 1 P hd hd hd hd hd hd hd hd A
L o TNN-M8x1.25
‘ 209 (with brakes) | B
Note 1. Stop positions are determined by the mechanical stoppers at both ends.  Note 5. When installing the unit, washers, etc., cannot be used in the ¢11 counter bore hole.
Note 2. 181.5+/-4 when the high lead specification (Lead 30) is used. Note 6. Minimum bend radius of motor cable is R5.
Note 3. 94+/-4 when the high lead specification (Lead 30) is used. Note 7. Weight of models with no brake. The weight of brake-attached models is 0.5 kg heavier than the models with no brake
Note 4. 41.5+/-1 when the high lead specification (Lead 30) is used. shown in the table.
Effective stroke 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000 | 1050 |1100"**|1150"*[1200""**|1250""
L 423 | 473 | 523 | 573 | 623 | 673 | 723 | 773 | 823 | 873 | 923 | 973 | 1023 | 1073 | 1123 | 1173 | 1223 | 1273 | 1323 | 1373 | 1423 | 1473 | 1523
A 64 54 44 94 84 74 64 54 44 94 84 74 64 54 44 94 84 74 64 54 44 94 84
N 4 5 6 6 7 8 9 10 1 1" 12 13 14 15 16 16 17 18 19 20 21 21 22
Weight (kg)"*°’ 58 162 |65|69|73 |77 |80)]84]|88]|91]95]99[10.2]106/|11.0|11.4|11.7|121 125|129 | 13.3 | 13.7 | 141
Lead 30 1800 1440 1170 900 810
Maximum | Lead 20 1200 960 780 600 540
speed™*®| Lead 10 600 480 390 300 270
(mm/sec) | eads 300 240 195 150 135
'Speed setting| - 80% 65% 50% 45%
Note 8. When the stroke is longer than 700mm, resonance of the ball screw may occur depending on the operation conditions (critical speed). In this case, reduce the speed setting on the program by referring to
the maximum speeds shown in the table above.
Note 9. Strokes longer than 1050mm are special order items. Please contact us for speed setting.
J

SR1-X > 540 [ TS-X » 514 | RDV-X > 528 |




@ High lead: Lead 20 |
@ Origin on the non-motor side is selectable

F8 { -

- T TSX i :
H | H
Positioner"'* [l Driver: Power-supply voltage / g LCD monitor 1/0 selection -
Power capacity INP: NPN :
L: With LCD

105: 100V/100W or less| IPN: PNP

|205: 200V/100W or less| ICC: CC-Link
DN: DeviceNet™
EP: EtherNet/IP™

PT: PROFINET

IGW: No I/0 board e+

i H i 1

- SR1-X 05 - H B :
Driver: Power capacity fg Usable for CE [ 1/0 selection -—
[05: 100W or less No entry: Standard|  [N: NPN B: With battery|

E: CE marking |P: PNP (Absolute)

: . . . . CC: CC-Link :
Note 1. The model with a lead of 20mm cannot select specifications with brake (vertical DN: Devic'gNetm Z‘ng‘,‘;,”femah

specifications). PB: PROFIBUS
Note 2. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible cable.

See P.614 for details on robot cable. - RDV'X 2 05 - RBR1

m— Lead [ Brake™*' [ Origin position change fd Grease type [
[LECUENE  [No entry: No brakes| [No tandard None: Standard| (150 to 800
20: 20mm | [BK: Brakes provided| GC: Clean (50mm pitch)

12: 12mm
6: 6mm

Note 3. See P.522 for DIN rail mounting bracket. . . . . . 4
Note 4. Select this selection when using the gateway function. For details, see P.66. Driver: Power capacity [d _Regenerative unit _] =
2: AC200V 05: 100W or less ?
x.
. gn . . . @
M Specifications H Allowable overhang N°t M Static loading moment g
AC servo motor output (W) 100 A &
Repeatability Vo' (mm) +/-0.02
Deceleration hanism Ball screw ¢$12 B e
Ball screw lead (mm) 20 12 6 B Cc A
Maximum speedMte2 (mm/sec)| 1200 720 360 ¢ A m w
Maximum } Horizontal| 12 20 40 Horizontal installation _wnitmm) Wall installation _(unit:mm)  Vertical i ion (unit: mm) (Unit: Nom)
payload (kg) Vertical - 4 8 A B c A B C A c MY MP MR
Rated thrust (N) 84 141 283
Stroke (mm) 150 to 800 (50mm pitch) Q| S5kg| 197) 76| 120 g| 5kg| 104) 67| 174 ~ 1kg| 447| 448 70 95 110
Overall length |Horizontal Stroke+286 ®| 10kg| 100] 32| 54 [ 10kg| 37| 23] 72 T| 2kg| 214] 216
(mm) Vertical Stroke+316 S 12kg| 85| 25| 43 3] 12kg] 27| 15| 55 E 3kg| 137| 138 H Controller
Maximum dimensions of cross
section of main unit (mm) W80 x H65 o Skg| 364 89 188 | Skg| 171] 81 340 4kg| 98| 99 “controller |Operation method
Cable length (m) Standard: 3.5/Option: 510 | 10kg| 203 39| 87 T 10kg| 69 32| 172 2kg| 244| 245 Prot i
E 5 - - gramming /
Linear guide type 4rows of circulararc grooves x 1rail — §| 15kg| 139 22| 51 §| 15kg| 33 15| 100 9| 4kg| 113] 113 SR1-X05 1/0 point trace /
Position detector Resolvers Note3 = = ] RCX320 Remote command /
Resolution (Pulselrotation) 16384 20kg| 103 14 33 20kg) 15| 6] 55 5| 6kgl 69 69 pexoo1/222 |Operation
Note 1. Positioning repeatability in one direction. 10kg) 403 43 113 10kg| 94 36| 369 8kg| 46| 46 RCX340 using RS.'Z??C
Note 2. When the stroke is longer than 550mm, resonance of the ball 9| 20kg| 214| 16| 43 9| 20kg| 25 9| 157 communication
screw may occur depending on the operation conditions (critical ~ ® © TS-X105 .
speed). In this case, reduce the speed setting on the program G| 30kg 140 6 20 $| 30kg 0 0 14 ep— IéOn;:o;nt tre::]:;/ nd
by referring to the maximum speeds shown in the table below. TS-X205 emote co 2
y referring P 40kg| 113 0 8 40kg 0 0 0
Note 3. Position detectors (resolvers) are common to incremental and RDV-X205-RBR1 | Pulse train control
absolute specifications. If the controller has a backup function ~ Note. Distance from center of slider top to center of gravity of object being carried at a guide service
then it will be absolute specifications. life of 10,000 km.
4 N\
F8
Approx. 240 (Motor cable length) 193+/-3: When origin is on motor side Effective stroke 93+/-3: When origin is on non-motor side
(193): When origin is on non-motor side| 50 (93): When origin is on motor side
148+/-1 (Note 1) 30 *-0.02 48+/-1
| T | (Note 1)
= ri £y Hoe [ [0F e s
@ 1= Fo A L e e e S
= | |38 | ‘ ‘
& | gt e —
178+/-1 (With brake) (Note 1) | | 4-M6 x 1.0 Depth12 !
Approx. 210 (Motor cable length) | 223+/-3 (With brake): When origin is on motorside‘ 2-$5H7 Depth10
(223): When origin is on non-motor side
L + 30 (With brake)
L
78 Greasing hole
‘ 11 T
Wl
8 ||
—
Iy
198 (With brake)
5 168 50 Ax 100 B 50 (68)
© )
2 5 C-05.5 See cross-section E-E. E 100
1.5 2
n Y ‘
— > @ 4 % S
3' B e — — =]
:4— E ! - -
Ja = s @ £ % F @ N5 =
Use M5 x 0.8 hex socket @l = 3l2 °
head bolt with length Note Recommended plate nut: Ei l \$10H?7 Plate thickness 10 =
(under head) of 16mm or more. M3 (16 * t 1.6) 145 (Note 4) D 2
Cross-section E-E _F: Detail of T-groove 175 (With brake)
Effective stroke 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800
L 436 | 486 | 536 | 586 | 636 | 686 | 736 | 786 | 836 | 886 | 936 | 986 | 1036 | 1086
A 0 0 1 1 2 2 3 3 4 4 5 5 6 6 Note 1. S " p ined by th nanical
B 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 "°'®- Siop positions are determined by the mechanical stoppers at
(o] 8 8 10 10 12 12 14 14 16 16 18 18 20 20 Note 2. When installing the robot, do not use washers inside the robot
D 240 | 290 | 340 | 390 | 440 | 490 | 540 | 590 | 640 | 690 | 740 | 790 | 840 | 890 Note 3 :AQd_Y- bend radius of motor cable is R0
N Note 5 ote 3. Inimum bend radius of motor cable Is .
Weight (kg) 3.6 3.9 | 4.2 4.4 4.7 5.0 5.3 5.6 5.9 | 6.2 | 64 6.7 7.0 7.3 Note 4. When using this ¢10 knock-pin hole to position the robot body,
Maxi Lead 20 1200 1080 | 900 | 780 | 720 | 600 the knockpin must not protrude more than 10mm inside the robot
s:;‘;g‘,:f,[{‘s Lead 12 720 648 | 540 | 468 [ 432 [360 o bodv. e stiached
ote o. eight of models with no brake. e weignt of brake-attachet
( Isec) Lead 6. 360 324 | 270 | 234 | 216 | 180 models is 0.3 kg heavier than the models with no brake shown in
Speed setting| — 90% | 75% | 65% | 60% | 50% the table.
Note 6. When the stroke is longer than 550mm, resonance of the ball screw may occur depending on the operation conditions (critical speed). In this case, reduce the speed setting on the program by referring to the
maximum speeds shown in the table above.

. J

SR1-X > 540 [ TS-X > 514 [RDV-X » 528 | 205 -




FSL

@ Ordering method

F8L -

@ High lead: Lead 30

@ Origin on the non-motor side is selectable

TSX |

Grease type [g
None: Standard| 150 to 1050
IGC: Clean (50mm pitch)

B Cable length"o?

m— Lead |l Brake™*' B Origin position change [
designation
0: 30mm 'Z: Non-motor side
|20: 20mm
0: 10mm
: S5mm

Note 1. The model with a lead of 30mm cannot select spe
specifications).

Flexible cable)

cifications with brake (vertical

Note 2. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible cable.

See P.614 for details on robot cable.
Note 3. See P.522 for DIN rail mounting bracket.

Note 4. Select this selection when using the gateway function. For details, see P.66.

M Specifications

Positioner "'** Bl Driver: Power-supply voltage / i ——
i INo entry: None| |[NP: NPN :
: |L: With LCD | [PN: PNP
[205: 200V/100W or less| ICC: CC-Link
DN: DeviceNet™

EP: EtherNet/IP™
PT: PROFINET
IGW: No I/0 board M+

- SR1-X 05 -

Controller Driver: Power capaclty - Usable for CE i 1/0 selection
[05:100Worless | |Noentry: Standard|

B Battery

RDV-X 2

Power-supply voltage
2: AC200V

Driver: Power capacity
05: 100W or less

N: NPN B: With battery|
E: CE marking| |P: PNP (Absolute)

CC: CC-Link N: None

IDN: DeviceNet™ (Incremental)

PB: PROFIBUS

05 RBR1

H Allowable overhang N°t¢

H Static Ioadlng moment

2
o
=,
@
S
<3
S
@

B Regenerative unit

AC servo motor output (W) 100 A
Repeatability Mot ' (mm) +/-0.01
Deceleration mechanism Ball screw $15 B e
Ball screw lead (mm) 30 20 10 5 B Cc A c A P R)
M speed°te2 (mm/sec)| 1800 | 1200 | 600 | 300
Maximum [Horizontall 7 | 20 | 40 [ 50  Horizontali ion _(unimm)  Wall installation  (unit:mm) ~Vertical (Urit:mm) (Unit: N-m)
payload (kg) | Vertical| — 4 8 16 A B T A B T T MY VP MR
Rated thrust (N) 56 84 169 _339 S| 5kg| 112] 80| 80 S| 5kg| 55| 57| 77 8 240 70 95 110
Stroke (mm) 150 to 1050 (50mm pitch) ~ S| 7kg| 78] 43] 49 S| 7kg] 21| 19] 34 F 110
q Stroke
Overall length |Horizontal Stroke+292 o| 5ka| 211] 108| 147 o| 5kg| 119 89 176 o | 311
o d | +300 N[ okg| 116] 45 69 | 1okg| 38| 26| 69 T il Controller
(mm) © ° © | 149
R Venticall - Stroke+322 S| 15kg| 76| 24| 39 §[ 15kg| 7| O 16 § 86
sMeaézr;]#:}::r:iﬁnus:i:tn;t;f‘cross W80 x H65 - 20kg 58 14 26 —[ 20kg 0 0 0 — | 58 _Controller |Operation method
SO L LTI eI (T : 10kg| 251 56| 122 10kg 85 39| 202 124 Programming /
Cable length (m) Standard: 3.5/Option: 510 2 0R 21 20 46 S 208 7 o 30 9 45 SRI1-X05 1/0 point trace /
Linear guide type 4 rows of circular arc grooves x 1rail g 30kg 7 s 20 e 30kg 0 0 0 ® 2o RCX320 Remote command /
Position detector Resolvers Note 3 4 40k9 35 0 5 L] 40kg 0 0 0 3 19 RCX221/222 | Operation
Resolution (Pulse/rotation) 16384 g g RCX340 using RS-232C
N — —— — 20kg| 249| 23] 62 20kg 19 7] 140 communication
ote 1. Positioning repeatability in one direction. v v
Note 2. When the stroke is longer than 650mm, resonance of the ball g 30kg 170 10 29 g 30kg 0 0 0 TS-X105 .
screw may occur depending on the operation conditions (critical @| 40kg| 138 4 12 o| 40kg 0 0 0 2=o-AW9  JI/O point trace /
speed). In this case, reduce the speed setting on the program = 50kg 51 0 0o - 50kg| 0 0 0 TS-X205 Remote command
by referring to the maximum speeds shown in the table below. -
Note 3. Position detectors (resolvers) are common to incremental and ~ Note. Distance from center of slider top to center of gravity of object being carried at a guide service RDV-X205-RBR1 | Pulse train control

absolute specifications. If the controller has a backup function
then it will be absolute specifications.

life of 10,000 km.

(F8L

Approx. 240 (Motor cable length)

204+/-3: When origin is on motor side

Effective stroke

88+/-3: When origin is on non-motor side

(204): When origin is on non-motor side| 59 (88): When origin is on motor side
160+/-1 (Note 1) 30 *-0.02 44+/-1
LT | (Note 1)
= [1 = Tee [ [SF e e
3‘ ! " "
@ P T —,,,,,,-
=" 5§ | : :
£= | £ == ————
190+/-1 (With brake) (Note 1) | ‘ 4-M6 x 1.0 Depth12 ‘
Approx. 210 (Motor cable length) |234+/-3 (With brake): When origin is on motor side‘ 2-¢5H7 Depth10
(234): When origin is on non-motor side
L + 30 (With brake)
L
78 Greasing hole
‘ 1| ¥
bes{ B
E=
209 (With brake)
179 50 Ax100 B 50 (63)
C-$5.5 See cross-section E-E. g_' 100
—
-l b & + + P
e —— =
<19 ; 3 K3 > K3 & ~3
Use M5 x 0.8 hex socket ©fe L j Skl
head bolt with length Note Recommended plate nut: E $10H7 Plate thickness 10 =
(under head) of 16mm or more. MS(D.G t1.6) 156 (Note 4) D P
Cross-section E-E F: Detail of T-groove 186 (With brake)
Effective stroke 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 [1000|1050 Note 1. i‘gghz%?gia?';f:"z‘f:’:";“;"‘:i:é’;he
L 442 | 492 | 542 | 592 | 642 | 692 | 742 | 792 | 842 | 892 | 942 | 992 |10421092| 1142|1192 1242 1292|1342 note 2. When instaling the robot. do not
A 0 0 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 9 use washers inside the robot body.
B 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 No'® 3 Minimum bend radius of motor
(9 8 8 10 10 12 12 14 14 | 16 16 18 18 | 20 | 20 | 22 | 22 | 24 | 24 | 26 Note 4. When using this $10 knock-pin
hole to position the robot body, the
i D —_— 240 | 290 | 340 | 390 | 440 | 490 | 540 | 590 | 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 |1040(1090| 1140 knockpin must not protrude more
Weight (kg) 39|42 |45 /48 |51]54|57|61/64|67|70]73|76]7982|85|88]92)95 than 10mm inside the robot body.
_ Lead 20 1200 1020] 900 | 780 [ 720 [ 660 | 600 [ 540 [ 480 Note 5. Weight of models with no brake.
Maximum The weight of brake-attached
speed " Lead 10 600 510 | 450 | 390 | 360 | 330 | 300 | 270 | 240 models is 0.3 kg heavier than the
(mm/sec) Lead 5 300 255|225 | 195 | 180 | 165 | 150 | 135 | 120 mglde'sw'th no brake shown in the
Speed setting - 85% | 75% | 65% | 60% | 55% | 50% | 45% | 40% table.

Note 6. When the stroke is longer than 650mm, resonance of the ball screw may occur depending on the operation conditions (critical speed). In this case, reduce the speed setting on the program by referring to

the maximum speeds shown in the table above.

206

SR1-X > 540 [ TS-X » 514 [ RDV-X > 528 |




FSL

(F8L High lead type: Lead 30

Approx. 240 (Motor cable length)

212+/-4: When origin is on motor side

Effective stroke

‘90.5+/4: When origin is on non-motor side

~N

(209.5): When origin is on non-motor side| 50 (88): When origin is on motor side
165.5+/-1 30 +-0.02 44+/-1
| T |
@ = = FEes [ (&} e e
SIS §§ D e - i—aa—-—Aa i Ak— - i ai-—-ki i L s isiiiir.
28 | |
F==—" | |5t : ‘
== ¥ ; ; T i -
‘ 4-M6 x 1.0 Depth12 ‘
2-$5H7 Depth10
L
78 Greasing hole
1 1
w0
3
! 1
5 187 _ 50 Ax 100 ) B _ 50 __ (83)
@ 0 C-$5.5 See cross-section E-E. E—){ % ‘ ‘ ‘
0|
5 ‘ ‘ ‘ ‘ ‘
1512 ! » & & & & 4 <
s —— - =
= & @ 4 4 4 & ~3
w0 5z
Use M5 x 0.8 hex socket @l E_,i $10H7 Plate thickness 10 -
head bolt with length Note Recommended plate nut: 164 (Note 4) D 2
(under head) of 16mm or more. M3 (16 *t 1.6)
Cross-section E-E F: Detail of T-groove
Effective stroke 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 [1000 1050 Note 1. Stop positions are determined
L 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000|1050| 1100|1150 [1200|1250 | 1300|1350 g{égfh";ifj';?”'“'s“’ppe“
A 0 0 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 9  Note 2. When installing the robot,
B 100 | 150 | 100 [ 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 o o ore nside
c 8 | 8 10|10 |12 |12 | 14 |14 |16 | 16 | 18 | 18 | 20 | 20 | 22 | 22 | 24 | 24 | 26 Note3. Mi”tim“mb‘fe'-‘d,{as‘éi““f
D 240 | 290 | 340 | 300 | 440 | 490 | 540 | 590 | 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 | 10401090 1140 note 4. Wi uaing this $10 knook-
Weight (kg) 39|42 |45 |48 |51 |54 |57 |61 |64|67|70|73|76|79|82|85|88|92]095 pin hole to position the robot
body, the knockpin must
Maximum speed™*| Lead 30 1800 1530|1350| 1170|1080 990 | 900 | 810 | 720 not protrude more than
(mmisec) |Speed setting - 85% | 75% | 65% | 60% | 55% | 50% | 45% | 40% 10mm inside the robot body.

Note 5. When the stroke is longer than 650mm, resonance of the ball screw may occur depending on the operation conditions (critical speed). In this case, reduce the speed setting on the program by referring to
the maximum speeds shown in the table above.

SR1-X > 540 [ TS-X > 514 [RDV-X » 528 |

@
S
=
2
)
o<
@
S
<3
=
@

adA) 4

207 =



F 8 I H @ Origin on the non-motor side is selectable

@ Ordering method
E L |y TSX |

B Origin position change fd Grease type [ Bl Cable length "t ner 2 Driver: Power-supply voltage / fed - 1/0 selection -
LRI [None: Standard None: Standard| 150 to 1050 3L:3.5m Power capacity No entry: None INP: NPN :
20: 20mm GC: Clean (50mm pitch) 5L: 5m 105: 100V/100W or less |L: with LCD PN: PNP

10: 10mm 10L: 10m |205: 200V/100W or less ICC: CC-Link
5: 5mm 3K/5K/M0K DN: DeviceNet™
Flexible cable) EP: EtherNet/IP™
PT: PROFINET

IGW: No 1/0 boardNet3)
H H i 1
' l_ _l '
- SR1-X 05 - | . .
Controller Driver: Power capacity Usable for CE - 1/0 selection | Battery
05: 100W or less

No entry: Standard N: NPN B: With battery|
[E: CE marking P: PNP (Absolute)
ICC: CC-Link N: None
DN: DeviceNet™ (Incremental)
Note 1. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible PB: PROFIBUS

cable.

See P.614 for details on robot cable. - RDV'X 2 05 - RBR1

Note 2. See P.522 for DIN rail mounting bracket

Note 3. Select this selection when using the gateway function. For details, see P.66. > “pp'y voltage Driver: Power capacity [ _Regenerative unit |

g 05: 100W or less
X
@ . gn .
3 M Specifications H Allowable overhang N°t I Static Ioadlng moment
& AC servo motor output (W) 100 A
Repeatability Mot ' (mm) +/-0.01
Deceleration mechanism Ball screw $15 B
Ball screw lead (mm) 20 10 5 B Cc A c P R
Maxi speed™°te?2 (mm/sec)| 1200 600 300
:ﬂ:;lggg'?m) Horizontal 30 60 80 Horizontal i : i I3. (Unit(::mm) Wall instaIIaAtion = (Uni!:cmm) (Unit: N-m)
Rated thrust (N) 84 169 339 my mp MR
Stroke (mm) 150 to 1050 (50mm pitch) Q| 10kg| 573 256| 176 g| 10kg| 147| 215 515 128 163 143
&/:lr)all length | |0 lizontal Stroke+368 §l 20kg| 334| 116] 81 F| 20kg| 53| 75 255 C
Maximum dimensions of cross P 3| 3okg| 279] 70 50 S| 3okg] 20| 29 160 Il Controller
section of main unit (mm) ' _ ©| 20kg| 629] 137| 111 e| 20kg| 80| 99 545 Controller |Operation method
Cable length (m) Standard: 3.5 / Option: 5,10 o 20k 479 57 47 | a0k
- s - — 2 g o g 15 19| 270 P ing /
Linear guide type 4 rows of circular arc grooves x 1 rail @ b SR1-X05 rogramming
Position detector ResolversNote3 -l| 6Okgl 382] 30| 25 | 6Okgl - . . RCX320 Kgnegigtg)a;ﬁem/and/
Resolutlgp (.F‘ulselrota.t.lop) __ 16384 o 20kg| 1094| 148 127 o 20kg 96| 112| 1005 RCX221/222 | Operation
Note 1. Positioning repeatability in one direction. | 40kg| 851 63 54 | 40kg 22 26| 604 RCX340 using RS-232C
Note 2. When the stroke is longer than 600mm, resonance of the ball © @ communication
screw may occur depending on the operation conditions (critical 3 60kg| 714 34 29 3 60kg) - - -
speed). In this case, reduce the speed setting on the program 80kg| 601 20 17 80kg| - - - TS-X105__ |1/0 point trace /
by referring to the maximum speeds shown in the table below. TS-X205 Remote command
Note 3. Position detectors (resolvers) are common to incremental and ~ Note. Distance from center of slider top to center of gravity of object being carried at a guide service -
absolute specifications. If the controller has a backup function life of 10,000 km. RDV-X205-RBR1 | Pulse train control
then it will be absolute specifications.
( N\
F8LH
__Approx. 240 (Motor cable length) 242+/-3: When origin is on motor side Effective stroke 126+/-3: When origin is on non-motor side
5 R (242): When origin is on non-motor side |120 (126): When origin is on motor side
B 50
e 160+/-1 (Note 1) "1 |sowoe 44411
2l \ N (Note 1)
i = X S S ; =
A
O M) =
= - @ ®
Note Recommended plate nut: | = S
M3 (6 *116) = - : —
- Detail of T R 3 T : "
F: Detail of T-groove 8-M6 x 1.0 Depth 12
2-$5H7 Depth10
L
154 2-Greasing hole
;I I B
o 2 192 50 Ax100 B 50 (76)
3 3| C-95.5 See cross-section E-E. Ey 100
- b & & & L
$| @ &
& @ & & ¢ @ &%
Use M5 x 0.8 hex socket B
head bolt with length E.' $10H7 Plate thickness 10 =
(under head) of 16mm or more. 169 (Note 4) D 2
Cross-section E-E
Effective stroke 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000| 1050 Note1. Sto;; positi%ns ?reldetermined
L 518 | 568 | 618 | 668 | 718 | 768 | 818 | 868 | 918 | 968 | 1018|1068 | 1118 | 1168] 1218|1268 | 1318 1368 1418 by the mechanical stoppers
A 0 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 9 9 Note 2. When installing the robot,
B 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 ?r? nO‘lbUTiV\:jaSherS inside
e robot body.
c 8 10 | 10 12 12 14 | 14 | 16 16 | 18 | 18 | 20 | 20 | 22 | 22 | 24 | 24 | 26 | 26 i3 Minimum bend radius of
D 290 | 340 | 390 | 440 | 490 | 540 | 590 | 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 | 10401090 | 1140 | 1190 motor cable is R50.
Weight (kg) 47 | 50|53 |56 |59(62|66 |69 |72)|75|78) 818487909397 10.0[10.3 Note4. Whinlusiﬂg this ¢10hk"0<;k-
pin hole to position the robot
Maximum Lead 20 1200 1020 | 900 | 780 | 720 | 660 | 600 | 540 | 480 | 420 body, the knockpin must not
speed ™" Lead 10 600 510 | 450 | 390 | 360 | 330 | 300 | 270 | 240 | 210 protrude more than 10mm
(mmisec) Lead 5 300 255 | 225 | 195 | 180 | 165 | 150 | 135 | 120 | 105 inside the robot body.
Speed setting — 85% | 75% | 65% | 60% | 55% | 50% | 45% | 40% | 35%
Note 5. When the stroke is longer than 600mm, resonance of the ball screw may occur depending on the operation conditions (critical speed). In this case, reduce the speed setting on the program by referring to
the maximum speeds shown in the table above.

= 203 SR1-X > 540 [ TS-X > 514 [RDV-X » 528 |




F10

[ Model [ Lead
designation

No entry:
[30: 30mm | |No brakes
0: 20mm | BK:
0: 10mm | (Brakes
5: 5mm provided

Note 1.

specifications).
Note 2.
Note 3.

@ High lead: Lead 30

location

INo entry:
Standard (S)

Origin position change
None: Standard
|Z: Non-motor side "2

|U:From the top

The model with a lead of 30mm cannot select specifications with brake (vertical

If selecting 5mm lead specifications then the origin point cannot be changed to the non-motor side.
The robot cable is standard cable (3L/5L/10L), but can be changed to flexible cable.

See P.614 for details on robot cable.

Note 4.
Note 5.

See P.522 for DIN rail

mounting bracket.

Select this selection when using the gateway function. For details, see P.66.

M Specifications

L H gy Tsx |

Positioner "'l Driver: Power-supply voltage /

rease type —— Cable
None: Standard| [Lead 20105: | - LA LR
GC: Clean 150t0 1050 | [3L:3.5m

g Regenerative unit g LCD monitor

1/0 selection W Battery

Power capacity INP: NPN 1B: With battery|
105: 100V/100W or less| |R: With RGT | [L: With LCD | |PN: PNP
(50mm pitch)| [5L: 5m |205: 200V/100W or less| ICC: CC-Link
Lead 30: DN: DeviceNet™
150 to 1250 EP: EtherNet/IP™
(50mm pitch)| |(Flexible cable) PT. PROFINET

IGW: No 1/0 board Note5|

- SR1-X 05

Controller Driver: Power capacity
05: 100W or less

Usable for CE g Regenerative unit g 1/0 selection W Battery
No entry: None|

- RDVX 2

Power-supply voltage
2: AC200V

05: 100W or less

N: NPN B: With battery
E:CE marking |R: With RG1 | [P: PNP (Absolute)
ICC: CC-Link N: None
DN: DeviceNet™
PB: PROFIBUS
Driver: Power capacity —

H Allowable overhang \°t¢

M Static loading moment

@
S
=
2
)
o<
@
S
<3
S
@

AC servo motor output (W) 100 A
_Repeatability "t ' (mm) +/-0.01
Deceleration mechanism Ball screw $15 B
‘Ball screw lead (mm) 30 c A c
- B (MR}
Maximum speed™©? (mm/sec)| 1800 | 1200 | 600 | 300 c A m
Maximum [Horizontal| 15 20 40 60 . o ' . . : - '
payload (kg) | Vertical 4 10 20 Horizontal on__ (unitmm)  Wall installation (Unit: mm)  Vertical (Unit: mm) (Unit: N-m)
Rated thrust (N) 56 169 | 339 A B c A B c A c MY MP MR
gtrokeil(lmm) h IHorizontal 150 to 1285P“‘;93 (ZSggﬁm pitch) 8| skg| 491 273] 215 8| 5kg| 206] 209 480 g| 1kg| 600 600 131 131 115
+
T Il 1 Strokei590 8| 15kg| 223 61] 63 8| 15kg| 45 0| 177 2| 2kg| 649] 691
Maximum dimensions of cross WA10 x H71 Q| 5kg| 937| 282| 259 g| 5kg| 250| 213| 905 S| akg| 306 347 Controller
section of main unit (mm) S S -
Cable length (m) Standard: 3.5/ Oplion 5,10 §1oke| 487] 121] 116 g 10kg| 99| S1| 438 2| 4kg| 338 380 “controller |Operation method
Linear guide type 4rows of circular arc grooves x frail  —!| 20kg| 236| 40| 44 -] 20kg) 21 0 149 || 8kg 142| 183 e |Programming /
Position detector ResolversMee? o| 15k S SR1-X05™* |10 point trace /
] g| 389 7 74 2| 10kg| 105 53| 550 | 10kg| 102| 144 %
Resolution (Pulse/rotation) 16384 5[ 30k p RCX320 Remote command /
= ——— — — o gl 179 17 20 G| 20kg 22 0| 230 | 10kg| 105 146 RCX221/222 Operation
Note 1. Positioning repeatability in one direction. @ o s ing RS-232C
Note 2. When the stroke is longer than 700mm, resonance of the ball -1| 40kg| 106 0 0 | 30kg 0 0 0 s 15kg 51 93 RCX340 g(s)':]%'uni;ation
screw may occur depending on the operation conditions (critical -
speed). In this case, reduce the speed setting on the program ~ © 30kg| 419 19 20 w| 10kg| 107 54| 1410 20kg 25 66 TS-X105" [I/0 point trace /
by referring to the maximum speeds shown in the table below. g 50kg 0 0 08 20kg 22 0| 540 TS-X205Nete | Remote command
Note 3. Strokes longer than 1050mm are available only for high lead @ @ . - i
(Lead 30). (Special order item) -| 60kg 0 0 0 —| 30kg 0 0 0 _RDV-X205-RBR1 | Pulse train control
Note 4. Position detectors (resolvers) are common to incremental and ) ) ) ) ) . B . Note. Regenerative unit is required
absolute specifications. If the controller has a backup function Note. IZ_)lstance from center of slider top to center of gravity of object being carried at a guide service when the models used vertically
then it will be absolute specifications. life of 10,000 km. and with 700mm or larger stroke.
( )
F10

165+/-3 (Note 2):

adA) 4

Approx. 250 (Motor cable length) When origin is on motor side Effective stroke (95): When origin is on motor side
(165): When origin is 95+/-3 (Note 3): When origin is on non-motor side
8 on non-motor side
< 117+/-1 (Note 1) 86 2-$5H7 Depth15 47+/1
—-{Direction of robot cable connection}--- P o7 ‘H 70 4-M5 x 0.8 Depth12 (Note 4)
i H 8 I P
| 14 125 e N ——
~| i ! 8| = @
H g 5 = g I [DB: % A
! 1 = | e i
' { H f=3
| 0l o i 2 v
i e ¥ ' i
! , L i 127 (with brake) || 147+ uith brake) tvote 1
L | Approx. 250 \195+/-3 (with brake): When origin is on motor side
(195): When origin is on non-motor side
4-M5 x 0.8 Depth9 50 18 1o
| (The same position on the opposite surface at 2 locations) \ [ 2
— o | PP = Sl
———— ) - h 8
e o
109 30 (with brake) | L 102
195 (with brake) K+/-0.02
165 M x 200 A 45
200 B (Note 5)
$9.5 (Note 5) % =)
s g 3 >
€ 4o 40
N\N-455 70 NN-M5 x 0.8 Depth10 I
B (S=11) 175 M x 200 35
205 (with brake) 2-$10H7 Plate thickness 10 (Note 7)
Note 1. Stop positions are determined by the mechanical stoppers at both ends. Note 5. When installing the unit, washers, etc., cannot be used in the $9.5 counter bore hole.
Note 2. 167.5+/-4 when the high lead specification (Lead 30) is used. Note 6. Minimum bend radius of motor cable is R50.
Note 3. 95+/-4 when the high lead specification (Lead 30) is used. Note 7. When using this $10 knock-pin hole to position the robot body, the knockpin must not protrude more than 10mm inside the robot body.
Note 4. 44.5+/-1 when the high lead specification (Lead 30) is used. Note 8. Weight of models with no brake. The weight of brake-attached models is 0.6 kg heavier than the models with no brake shown in the table.
Effective stroke 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 [1100""®|1150Nt0|120QN! | 125QMNot
L 410 | 460 | 510 | 560 | 610 | 660 | 710 | 760 | 810 | 860 | 910 | 960 | 1010|1060/ 1110 | 1160 | 1210 | 1260 | 1310 | 1360 | 1410 | 1460 | 1510
A 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 200 50 100
[} 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6
N 4 6 6 6 [] 8 8 8 8 10 10 10 10 12 12 12 12 14 14 14 14 16 16
K 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 |1050| 1100 | 1150 | 1200 | 1250
Weight (kg) Note8 55 | 57 | 58 |62 |65|69 |73 |77 81858819296 [100/104]108| 111115119 12.3 | 12.7 | 131 13.5
Lead 1800 1440 1170 900 810
Maximum | Lead 2 1200 960 780 600 540
speed"**°| Lead 600 480 390 300 270
(mm/sec) Lead 5 300 240 195 150 135
Speed setting| = 80% 65% 50% 45%

maximum speeds shown

in the table above.

Note 10.Strokes longer than 1050mm are special order items. Please contact us for speed setting.

Note 9. When the stroke is longer than 700mm, resonance of the ball screw may occur depending on the operation conditions (critical speed). In this case, reduce the speed setting on the program by referring to the

J

SR1-X > 540 [ TS-X > 514 [RDV-X » 528 |

209 =



@ High lead: Lead 30
@ Origin on the non-motor side is selectable: Lead 10-2

@ Ordering method

T TSX | H H H

_| | Note 1 ™ Positioner "** Jll Driver Power-supply voltage / g Regenerative unit gl LCD monitor -— Battery
[ Vocel ] Brake ] g pooke | Cable Fovercapchy NP:NPN B i bt
Wil No entry: Lead 20105 | (IR 110: 100V/200W R-With RGT | L With LCD | [PN: PNP Absolut
0: 50mm | INo brakes 15010 1000 [210: 200V/200W = = CC: CC-Link e Nona
|20: 20mm (50mm pitch) _5L: 5m - < —
0: 10mm Lead 30: ggl gﬁvael\:ﬁg':M Incremental
5: 5mm 150 t0 1000 | [3K/5K/10K BT PROFNET |
(50mm pitch)| |(Flexible cable) GW' No /O board™es
Driver: Power capacity g Usable for CE gl Regenerative unit ——
3 3 . . . 10: 200W No entry: Standard| [No entry: None| |N: NPN IB: With battery|
Note 1. The model with a lead of 30mm cannot select specifications with brake (vertical [E: CE marking |R: With RG1 | |P: PNP (Absolute)
specifications). ICC: CC-Link IN: None
Note 2. If selecting 5mm lead specifications then the origin point cannot be changed to the DN: DeviceNet™
non-motor side. PB: Profibus
Note 3. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible cable. _
See P.614 for details on robot cable. - RDV‘X 2 10 RBR1
Note 4. See P.522 for DIN rail mounting bracket. Power-supply voltage [l  Driver: Power capacity [ Regenerative unit |
s Note 5. Select this selection when using the gateway function. For details, see P.66. H AC200V 10: 200W or less
o
x.
@ . gn . . .
3 M Specifications H Allowable overhang N°t M Static loading moment
& AC servo motor output (W) 200 A
Repeatability "t ' (mm) +/-0.01
Deceleration mechanism Ball screw $15 B 2
Ball screw lead (mm) 30 20 10 5 Cc A
Maximum speed™*Z (nmisec)| 1800 | 1200 | 600 | 300 B c A ™ m
Maximum [Horizontal| 25 | 40 | 80 [ 100 " : ion (Ut : nit eali on (Unt: N
T ‘ Vertioal 8 0 30 Horizontal - n ( nlcmm) Wall ir Auon B (Uni (;nm» Vertical : ( nlcmm) - o (:’:}; N-m)
Rated thrust (N) 113 | 170 | 341 | 683 =
Stroke (mm) 150 to 1000 S| 10kg) 1181] 681 219 J| 10kg| 193] 570| 1062 Q| 4kg| 1650 1650 348 348 160
Overall length |Horizontal Stroke+355 8| 20kg| 772| 298] 99 §| 20kg] 65 187| 549 T 6kg| 1104| 1104
©
SVT;;‘;r)num dimens“ons‘?f'c‘r'::s' Stroke+385 a| 10kg| 1961] 685] 232 g| 1okg| 198 570/ 1786 S| 8kg| 832 832 | Nede)jiine]|-1¢
section of main unit (mm) W10 x H71 G| 20kgl 949 301 103 3| 20kg| 65 187| 732 2| 10kg| 927 927 Controller |O ti thod
Cable length (m) Standard: 3.5/ Option: 5,10 3| 40kg| 432] 109] 38 3| 4okg] 0 0 0 | 15kg| 614] 614 _-ontroter Pr‘(’)e::r:w‘;:‘i:"; °
Ir;me_?_r gu‘lld‘e W‘Pe 4 rows OfIngUk’Ir archo?vaes x 1 rail 2| 30kg| 1615 239 84 2| 20kg| 100/ 283| 1981 3 20kg| 458 458 gR1-x10* ||/0 goint trac%/
osition or esolvers Not
Resolution (Pulse/rotation) 16384 E 50kg| 1131 112| 39 § 25kg| 66| 187| 1546 © 15kg| 752 752 ES§353/222 ggr:rgtt?o%ommand /
Note 1. Positioning repeatability in one direction. -] 80kg| 812 40 14 | 30kg) 43| 123) 1223 g| 20kg| 560] 560 Rcx3s0 using RS-232C
Note 2. When the stroke is longer than 600mm, resonance of the ball w| 60kg| 3091 112 39 w| 20kg| 134| 379| 7629 -| 30kg| 369 369 communication
screw may occur depending on the operation conditions (critical - TS-X110"¢ |1/0 point trace /
speed). In this case, reduce the speed setting on the program g 80kg| 2330 64 23 g 25kg 93| 264| 5987 W R p t d
by referring to the maximum speeds shown in the table below. -| 100kg| 1733 36 12 | 30kg 66| 187| 4841 TS-X emote comman
When the movement distance is short, the speed may not RDV-X210- Pulse train control
reach the maximum speed according to the payload. Note. Distance from center of slider top to center of gravity of object being carried at a guide service RBR1
Note 3. Position detectors (resolvers) are common to incremental and life of 10,000 km. Note. When using the unit vertically, a
absol_ule_speclflcatlons. If th_e co_nlroller has a backup function  Note. Service life is calculated for 600mm stroke models. . regeneration unit is required. ’
then it will be absolute specifications.
( N\
F10H
Approx. 250 (Motor cable length) 218+/-3: When origin is on motor side Effective stroke (137) : When origin is on motor side
(218) : When origin is on non-motor side \ 13743 .
15¢ 3-45H7 Depth15 Whenl|origin is on non-motor|side
= 135+/-1 (Note 1) 140 6-M5x0.8 Depth12 54+/-1 (Note 1)
g 115 “ ‘ 70 +-0.02 ﬁ r—’
% E’é f = 3 f H
i S|
=
8 ® ®
El
l:%l) L K3 K3 9] T T
o 145 (with brake
S [165+/-1 (with brake) (Note 1)
Approx. 250 | 248+/-3 (with brake): When origin is on|motor side

(248): When origin is on non-motor side
6-M5x0.8 Depth 9 120 18 o

o (Same position on opposite side) ;:]50 é 1
—— © ; > M ‘ — 8 [], U
] " ~ 2 4

30 (with brake)| | L 102
109 280 (with brake)
195 (with brake)

165

69.5
7
68

K
250 Mx200 A (85) $9.5 (Note 2)

100 200 B (Note 2)
M o s 1y rrae
q’ =

—--{ Direction of robot cable

L

$10H7 Plate thickness 10 (Note 4) @

17]
17

koS
i
80

) &
EE ( E] B 5
22 L b4 5
100 200 N-M5X08 2 |
260 Mxeop  Depth 10 A (45)
290 (with brake) 10"8% Plate thickness 10 (Note 4
Effective stroke 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 [ 1000 Note 1. Stop positions are determined by the
L 505 | 555 | 605 | 655 | 705 [ 755 | 805 | 855 | 905 | 955 | 1005|1055 [ 1105 | 1155 [ 1205 [ 1255 [ 1305 [ 1355 .. » {,"Vﬁ;';ai'r“'sﬁ:'”?r‘]‘;"l‘;“;’ﬁ;} both ends.
A 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 " etc., cannot be used in the 9.5
M 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 counter bore hole.
N 6 8 8 8 8 10 10 10 10 12 12 12 12 14 14 14 14 16 Note 3. Minimum bend radius of motor cable
_ K 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 \ote 4. {,sw?esn%sing this $10 knock-pin hole to
Weight (kg) Notes 69 | 73 | 77 | 81|84 |88 92|96 100103107 [11.1]115[119]12212.6|13.0 134 position the robot body, the knockpin
Lead 30 1800 1440 | 1260 | 1080 900 720 630 must not protrude more than 10mm
Maximum |Lead 20 1200 960 | 840 | 720 600 480 420 inside the robot body.
speed Noted 1 0 ad 10 600 480 | 420 | 360 300 240 210 Note 5. Weight of models with no brake. The
weight of brake-attached models is
(mm/sec) |Lead 5 300 240 | 210 | 180 150 120 105 0.5 kg heavier than the models with no
Speed setting| - 80% | 70% | 60% 50% 40% 35% brake shown in the table.
Note 6. When the stroke is longer than 600mm, resonance of the ball screw may occur depending on the operation conditions (critical speed). In this case, reduce the speed setting on the program by referring to the
\_ maximum speeds shown in the table above. J

- 210 SR1-X > 540 [ TS-X > 514 [RDV-X » 528 |




F10H

@
S
=
2
)
o<
@
S
<3
=
@

s - h
F10H High lead type: Lead 30
Approx. 250 (Motor cable length) 220.5+/-4: When origin is on motor side Effective stroke (134.5): When origin is on motor side
= 218) : When origin is on non-motor side, | 137+/-4:
g (Ao 156 3-G5HT Depth1s When|origin 15 on non-motorside
g 135+/-1 (Note 1) ‘ 140 6-M5x0.8 Depth12 51.5+/-1 (Note 1)
P 115 70+002 a/—L Y —
[53 T
= g (@
= 5 d 3 @
=
3 @ @)
g £ 3
6-M5x0.8 Depth 9 120 18 110
(Same position on opposite side) 50 2 1
e ——— “0 ES + ( 8 [ ‘ ‘
b g P —e r |- I - ]' ‘Uw
8 ~ Y 43
]
LN L 102
165 K
250 Mx200 A (55)
—--{ Direction of robot cable }'—'i 100 200 B (Note 2) $9.5 (Note 2)
125 ! Ly
VA w7
~ i | HI0H7 Platd thickness 10 (Nate4) @/ ‘
: = 8 Q
© | — N-95.5
< : &
! Yy B by |
: N-M5x0.8 2 <
100 0 Depth 10 - 3
260 Mx200 A (45)

10°§% Plate thickness 10 (Note 4)

Effective stroke 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 [ 1000 Note 1. Stop positions are determined by the

L 505 | 555 | 605 | 655 | 705 | 755 | 805 | 855 | 905 | 955 | 1005 | 1055 | 1105 | 1155 | 1205 | 1255 | 1305 | 1355 . 2.V\?;\Z(i\hian?t(;?llir?gog\’;elzii?txgtsm:p:s-
A 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 etc., cannot be used in the ¢9.5'
M 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 counter bore hole.
N 6 8 8 8 8 10 10 10 10 12 12 12 12 14 14 14 14 16 Note 3. Minimum bend radius of motor cable
K 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 Note 4. {;Eeioﬂsing this $10 knock-pin hole to
Weight (kg) 69 | 73 | 77 81|84 |88 |92 96 |10.0)10.3]10.7 11.11115]11.9]12.2|12.6 | 13.0 | 134 position the robot body, the knockpin
Lead 30 1800 1440 | 1260 | 1080 900 720 630 must not protrude more than 10mm
Maximum |Lead 20 1200 960 | 840 | 720 600 480 420 inside the robot body.
speed"**®|Lead 10 600 480 | 420 | 360 300 240 210
(mm/sec) |Lead 5 300 240 | 210 | 180 150 120 105
Speed setting - 80% | 70% | 60% 50% 40% 35%

Note 5. When the stroke is longer than 600mm, resonance of the ball screw may occur depending on the operation conditions (critical speed). In this case, reduce the speed setting on the program by referring to the
\_ maximum speeds shown in the table above.

J

SR1-X > 540 [ TS-X > 514 [RDV-X » 528 | 211 -




@ High lead: Lead 30
@ Origin on the non-motor side is selectable

Note. Strokes longer than 1050mm are special order items. Please consult us for delivery time.

@ Ordering method
o H poTsx | i .

m— Lead —— Cable entry g Origin position chang Grease type @ m Cable Positioner "= |l Driver: Power-supply voltage / gl Regenerative unit g LCD monitor & 1/0 selection m Battery
designation NPT XTI [None: Standard None: Standard| [Lead 2010-5: | | LNt Power capacity INP: NPN IB: With battery|
[30: 30mm | |No brakes Z:Non-motor side | |GC: Clean
Standard (S,

15010 1050 | [3L: 3.5m [105: 100V/100W orless| |R: With RGT | |L: With LCD | |PN: PNP
0: 20mm | [BK: (50mm pitch) | |5L: 5m 205: 200V/100W or less| ICC: CC-Link
0: 10mm | [Brakes Lead 30: 10L: 10m DN: DeviceNet™ |
5:5mm provided 150t0 1250 | [3K/5KMOK EP: EtherNet/IP™

L: From the left| (50mm pitch) | |(Flexible cable PT: PROFINET
IGW: No /O board Net=#

i i i i 1

- SR1-X 05 - 5 H 5 :
Controller Driver: Power capacity gl Usable for CE [l Regenerative unit i 1/0 selection m Battery

05: 100W or less No entry: Standard IN: NPN IB: With battery|

E: CE marking| |R: With RG1 | |P: PNP ((Absolute)

. . . . . ICC: CC-Link :
Note 1. The model with a lead of 30mm cannot select specifications with brake (vertical DN: Devic‘;‘New e

specifications). PB: PROFIBUS
Note 2. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible cable.

See P.614 for details on robot cable. - RDV'X 2 05 - RBR1

Note 3. See P.522 for DIN rail mounting bracket.

Note 4. Select this selection when using the gateway function. For details, see P.66. °p'y voltage Driver: Power capacity gl Regenerative unit ]

g 05: 100W or less
x.
@ e . . .
3 M Specifications H Allowable overhang N°t M Static loading moment
& AC servo motor output (W) 100 A
_Repeatability V' (mm) +/-0.01
Deceleration mechanism Ball screw $15 B
‘Ball screw lead (mm) 30 | 20 | 10 5 B c A c
Maximum speed"*Z (mmisec)| 1800 | 1200 | 600 | 300 c A w m
Maximum Horizontal| 15 30 55 80 . . . ) . . . Lo . ’
payload (kg) Vertical| — 4 10 20 Horizontal 1 (unitmm) Wall installation (Unit: mm)  Vertical (Unit: mm) (Unit: N-m)
Rated thrust (N) 56 84 169 | 339 A B c A B c A c MY MP MR
gtroke"(:nm)th Forizanial 150 to 1285? “‘;fs (ggénm pitch) 8| skg| 1756 1364) 863 S| 5kg| 951) 969 1286 | 1kg| 600 600 232 233 204
+,
P R . Strokerpas 5| 15kg| 1236] 467| 438 8| 15kg| 408| 277 803 B| 2kg| 1200] 1200
Maximum dimensions of cross WA136 x H83 Q| 5kg| 2153| 1366| 980 g| 5kg| 1066 974| 1578 S akg| 1154 895 l Controller
tion of main unit (mm) - s —
Cable length (m) Standard: 3.5/ Option: 5.10 g 15kg| 1193| 465| 430 g 15kg| 402| 276| 775 2| 4kg| 1232] 956 “controller Operation method
_Linear guide type 4rows of circular arc grooves x 2rail  —!| 30kg| 1266| 245| 294 ) 30kg| 219 105 678 § 8kg| 634 492 \oe | Programming /
Position detector Resolvers "+ of 20kg| 1132] 353] 361 o 20kg| 312] 189] 690 S| fokg| 499 387 SRIXO5™ /O point trace /
Resolution (Pulse/rotation) 16384 o 40k b RCX320 Remote command /
= — —— — < g| 872| 183] 218 G| 40kg| 140 57| 402 | 10kg| 587 456 RCX221/222|Operation
Note 1. Positioning repeatability in one direction. @ @ - ing RS-232C
Note 2. When the stroke is longer than 700mm, resonance of the ball -1l 55kg| 946| 140/ 184 | 55kg 92 0| 345 s 15kg| 383| 297 RCX340 gzlrr;%ﬂuni_cation
screw may occur depending on the operation conditions (critical P
speed). In this case, reduce the speed setting on the program 2 50kg| 1575| 158| 222 | 30kg| 246 107| 1095 20kg) 281] 218 TS-X105""[|/0 point trace /
by referring to the maximum speeds shown in the table below. G 60kg| 1493| 135/ 194 e 40kg| 167 64| 798 TS-X205 Nete | Remote command
Note 3. Strokes longer than 1050mm are available only for high lead @ @ A | i
(Lead 30), (pecial order ftem) —[ 8okg| 1466] 107] 159 —| e0kg 88 20l 508 RDV-X205-RBR1 | Pulse train control
Note 4. Position detectors (resolvers) are common to incremental and N K X - K . N . . Note. Regenerative unit is required
absolute specifications. If the controller has a backup function ote. Distance from center of slider top to center of gravity of object being carried at a guide service when the models used vertically
then it will be absolute specifications. life of 10,000 km. and with 700mm or larger stroke.
( N\
F14
170+/-3 (Note 2):
Approx. 250 (Motor cable length) When origin is on motor side Effective stroke 85+/-3 (Note 3): When origin is on non-motor side
(170): When origin is (85): When origin is on motor side
_ on non-motor side
35 g 120+/-1 (Note 1 90 ]
.5 Y 2 20 2-06HT Depths 35+/-1 (Note 4
£ 32 8-M6 x 1.0 Depth8 F
o
3 < — [
g
| oo I % — ‘
BB:! & = ‘
= :
= - J:E% I
Approx. 250 1501 (vith brake) (N ) | |200+/-3: When origin is on motor side
135 (200): When origin is on non-motor side
131 4-M5 x 0.8 Depth7 50 20 rey
(The same position on the opposite surface at 2 locations) \ | T 2 & o
oA )
0| ﬁ ,’: p T
j 18.5
136 B 30 (with brake) L i 55 |
130 (with brake, §
— [ Direction of robot cable extraction |— 100 M x 200N V610 B0 A 105 S ED
62 415 17 200 | XD = s
12 ® i = rii rei ek
#Lﬂ% 126 K+-0.02 =
28 -5 Py
=7 “\156 (with brake) — ©)
!
Use M6 x 1.0 hex socket
i * 2 g 2 : head bolt with length head
200 [\N-¢7 Depth9 bolt with length (under head)
= 125 M x 200 A 30 of 20mm or more.
o 155 (with brake) 2-$10H7 See cross-section C-C. le—C Cross-section C-C
Note 1. Stop positions are determined by the mechanical stoppers at Note 4. 32.5+/-1 when the high lead specification (Lead 30) is used.
both ends. Note 5. Minimum bend radius of motor cable is R50.
Note 2. 172.5+/-4 when the high lead specification (Lead 30) is used. Note 6. Weight of models with no brake. The weight of brake-attached models is 0.7 kg heavier than the models with no brake shown in the table.
Note 3. 85+/-4 when the high lead specification (Lead 30) is used.
Effective stroke 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 |1100Mete#[1150 Note#|120Q Note3]1250 Noted
L 405 | 455 | 505 | 555 | 605 | 655 | 705 | 755 | 805 | 855 | 905 | 955 | 1005|1055 | 1105 | 1155 | 1205|1255 |1305| 1355 | 1405 | 1455 | 1505
A 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 200 50 100
M 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6
N 4 6 6 6 6 8 8 8 8 10 10 10 10 12 12 12 12 14 14 14 14 16 16
K 240 | 240 | 240 | 240 | 420 | 420 | 420 | 420 | 600 | 600 | 600 | 600 | 780 | 780 | 780 | 780 | 960 | 960 | 960 | 960 | 1140 | 1140 | 1140
Weight (kg) Note 62 /69|75 /82)|88|95[101/108|11.4/121]126|134/139]146/15.2/159/16.5|17.2|178 ]| 18.5 1941 19.8 | 20.4
Lead 30 1800 1440 1170 900 810
Maximum | Lead 20 1200 960 780 600 540
speed"**”| Lead 10 600 480 390 300 270
(mm/sec) Lead 5 300 240 195 150 135
Speed setting| = 80% 65% 50% 45%
Note 7. When the stroke is longer than 700mm, resonance of the ball screw may occur depending on the operation conditions (critical speed). In this case, reduce the speed setting on the program by referring to
the maximum speeds shown in the table above.

\_Note 8. Strokes longer than 1050mm are special order items. Please contact us for speed setting. J

— 012 SR1-X > 540 [ TS-X > 514 [RDV-X » 528 |




@ High lead: Lead 30

F14H

@ Ordering method

FI4H{ |

1 ]y Tsx | i i

m— Lead — Cable entry g Grease type —— Cable Positioner " |l Driver: Power-supply voltage / gl Regenerative unit g LCD monitor —— Battery
LEECUENE] (No entry: location Lead 2010-5; | L1 Rt Power capacity INP: NPN
[30: 30mm | |No brakes 150 to 1050 [110: 100V/200W R: With RGT | |L: With LCD | [PN: PNP Absolute)
0: 20mm | [BK: Standard (S} (50mm pitch) 210: 200V/200W CC: CC-Link N: None
0:10mm | |Brakes Lead 30: 10L: 10m DN: DeviceNet™ | |(Incremental)
5. 5mm provided | [R: From the righi 150 to 1250 EP: EtherNet/IP™
LL: From the left] (50mm pitch)| |(Flexible cable) PT: PROFINET

GW: No I/0 board 5|
i i H
- SR1-X 10 - 5 H
Controller Driver: Power capacity g Usable for CE [gl Regenerative unitg  1/0 selection [ Battery
10: 200W INo entry: Standard N: NPN B: With battery|
R: With RG1

Note 1. The model with a lead of 30mm cannot select specifications with brake (vertical . GE marking B-PNP (Absolute)
spemflcgtlons). o - . CC: CC-Link N: None
Note 2. If selecting 5Smm lead specifications then the origin point cannot be changed to the DN: DeviceNet™ | |(Incremental)
non-motor side. PB: PROFIBUS
Note 3. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible cable.
See P.614 for details on robot cable. ~ RDV-X 2 10 - RBR1
Note 4. See P.522 for DIN rail mounting bracket. . . . " . @
Note 5. Select this selection when using the gateway function. For details, see P.66. m 2 Pwefcapacﬂy i Regenerative unit | %
" 3 orless 11
o
x.
s a g E @
M Specifications H Allowable overhang N°t Il Static loading t g
AC servo motor output (W) 200 A &
_Repeatability V! (mm) +/-0.01
Deceleration mechanism Ball screw $15 B
‘Ball screw lead (mm) 30 B c A c
Maximum speed™*2 (mmisec)| 1800 | 1200 | 600 | 300 c A MR) @
Maximum Horizontal| 25 40 80 100
payload (kg) } Vertical| — 8 20 30 Horizontal installation _(unitmm)  Wall installation (Unit: mm)  Vertical i (Unit: mm) (Unit: N-m)
Rated thrust (N) 113 170 | 341 683 A B c A B c A Cc MY MP MR
gtroke"(lmm) h IHorizontal 150 to 125510“‘;*3 (gggﬁm pitch) 8| 10kg| 2152) 1673] 934 8| 10kg| 975 1219] 1625 g| 4kg| 2400| 2016 551 552 485
+.
(n‘,’s,';a e Strokeisgo 8| 25kg| 1847| 691 533 8| 25kg| 482 426) 1257 T| ekg| 1699] 1364
Maximum dimensions of cross W136 x H83 o[ 1okg| 2265 1674] 961 g| 1okg] 999| 1220] 1711 3| skg| 1301) 1051 |_KELelgl{felI[:]
section of main unit (mm) s 20k S
- — g| 1402| 855| 537 20kg| 515| 558| 987 <o| 10kg| 1370| 1106 :
“Cable length (m) Standard: 3.5/ Option: 5,10 § S = Controller |Operation method
Linear guide type 4rows o circular arc grooves x 2rail | 40kg| 1047| 445| 324 | 40kg| 263 227| 635 E 15kg| 906| 732 e |PTOgramming /
Position detector Resolvers e ¢ o| 30kg| 1953 583 485 o 30kg| 419 338 1282 S| 20kg| 678 548 on %O pOpointirace/
Resolution (Pulseirotation)| 16384 S| 50kg| 1655 365| 328 T| 50kg| 240| 162| 934 | 20kg| 767| 619 Overati
Note 1. Positionin, & o RCX221/222 |Operation
. g repeatability in one direction. @ P S ing RS-232C
Note 2. When the stroke is longer than 700mm, resonance of the ball —| 80kg| 1720| 242| 238 | 80kg| 134 62| 756 s 25kg| 612| 494 RCX340 gg'{;‘]%unication
screw may occur depending on the operation conditions (critical -
speed). In this case, reduce the speed setting on the program ~ © 60kg| 2443| 31| 317 w| 60kg) 209 117) 1398 30kg) 503] 407 TS-X110™" ||/0 point trace /
Note 3 kg rekferrling to t{\he m%igz)um speeds s_lh%vlvn inlthfe til?lel_lt?el?jw. E 80kg| 2193| 242| 253 E 80kg| 135 62| 1120 TS-X210Nete | Remote command
ote 3. rokes longer than mm are avallable only tor high lea A .| i
(Lead 30), (Special order tem, —[100kg| 2000] 202] 214 —[ 100kg 90 29 900 RDV-X210-RBR1 | Pulse train control

Note 4. Position detectors (resolvers) are common to incremental and
absolute specifications. If the controller has a backup function

then it will be absolute specifications.

Note. When using the unit vertically,

Note. Distance from center of slider top to center of gravity of object being carried at a guide service a regeneration unit is required.

life of 10,000 km.

4 N\
F14H
210+/-3 (Note 2): L .
Approx. 250 (Motor cable length) When origin is on motor side Effective stroke 110+/-3 (Note 3): When origin is on non-motor side
_— (210): When origin is (110): When origin is on motor side
35 g on non-motor side 149
15 /15 + 135+/-1 (Note 1) 124 2-$6H7 Depth8 35+/-1 (Note 4)
T 2 \ ‘ .10 8-M6 x 1.0 Depth8
<} .
p £ — [60 %0+ os
g ‘
) EHIE = |
f ©
@: QA ¢ = ‘ w
= i
B = o [$0 %0+ 0% oe
Approx. 250 105+ (vt brake) (ot ) | 240+/-3: When origin is on motor side
(240): When origin is on non-motor side
+ 4-M5 x 0.8 Depth7 50 45 )|
(The same position on the opposite surface at 2 locations) \ \ [ L
i A 1
Sl ——F
s j 18.5
136 B 30 (with brake) | L j 55] |
143 (with brake) i
---—{ Direction of robot cable F--— 113 M x 200 A 157 B
62 200 N-M6 x 1.0 Depth10 e
] ~
11.5 14 = a2 ~ 3 ~ % z o
Il 151 K +-002 S
28 -= T = 9
SS— "$181 (with brake) r— —
Use M6 x 1.0 hex socket
Y 4 o 3 3 head bolt with length head
N so e b |
138 M x 200 A 132 >
168 (with brake) 2-G10H7 See cross-section C-C. C Cross-section C-C @
Note 1. Stop positions are determined by the mechanical stoppers at both ends. Note 4. 32.5+/-1 when the high lead specification (Lead 30) is used.
Note 2. 212.5+/-4 when the high lead specification (Lead 30) is used. Note 5. Minimum bend radius of motor cable is R50.
Note 3. 110+/-4 when the high lead specification (Lead 30) is used. Note 6. Weight of models with no brake. The weight of brake-attached models is 0.7 kg heavier than the models with no brake shown in the table.
Effective stroke 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 |1100"¢[1150"!¢|1200 '?/1250
L 470 | 520 | 570 | 620 | 670 | 720 | 770 | 820 | 870 | 920 | 970 {1020 | 1070 | 1120 | 1170 | 1220 | 1270 | 1320 | 1370 | 1420 | 1470 | 1520 | 1570
A 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 50 100
] 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6
N 4 6 6 6 6 8 8 8 8 10 10 10 10 12 12 12 12 14 14 14 14 16 16
K 240 | 240 | 240 | 420 | 420 | 420 | 420 | 600 | 600 | 600 | 600 | 780 | 780 | 780 | 960 | 960 | 960 | 960 | 1140 | 1140 | 1140 | 1140 | 1320
Weight (kg) Nete® 7582 /18895101108 | 114|121 |127]134]139/146|15.2|159|165|172|178 185|191 | 19.8 | 204 | 211 | 21.7
Lead 3 1800 1440 1170 900 810
Maximum | Lead 2 1200 960 780 600 540
speed"*” | Lead 600 480 390 300 270
(mm/sec) Lead 5 300 240 195 150 135
Speed setting| - 80% 65% 50% 45%
Note 7. When the stroke is longer than 700mm, resonance of the ball screw may occur depending on the operation conditions (critical speed). In this case, reduce the speed setting on the program by referring to
the maximum speeds shown in the table above.
Note 8. Strokes longer than 1050mm are special order items. Please contact us for speed setting.
J

SR1-X > 540 [ TS-X > 514 [RDV-X » 528 | 213 -




GF1

4XL

@ Ordering method

GF14XL- S

m— Model Installation g Lead Cable entry jin position g Grease | Cable Positioner [l Driver: Power-supply voltage /@ LCD —-
i direction [Mldesignation| location change No entry: type 750 t0 2000  aiteLukel Note2 Power capacity monitor BN B: With battery|
H: Horizontall No entry: None: |Standard (50mm pitch)|  [3L: 3.5m [TS-X 1110: 100V/200W No entry: | [PN: PNP (Absolute)
installation Standard (S) | |Standard | [Spot facing) 5L: 5m [210: 200v/200W | [None [CC: CC-Link N: None
U: From the top| |Z: Non- [T: Tapping| 10L: 10m L: With LCD| DN: DeviceNet™
R: From the right| |motor side 3K/5K /10K [EP: EtherNet/IP™
L: From the left (Flexible IPT: PROFINET
cable) IGW: No I/0 board™"=3|

Note 1. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible cable.

H -20

LMy sx|

See P.614 for details on robot cable.

Note 2. See P.522 for DIN rail mounting bracket. Noontry: | IN: NPN B Wihbatt
Note 3. Select this selection when using the gateway function. For details, see P.66. s?aﬁga?:i P-PNP (Absolau.uteer{
[Cautions after purchase] E: CE CC_: CC-Link _ N: None

+ When changing the origin position, contact us since the adjustment is needed. marking Eg_- Esg‘;fgjé

* When changing the cable entry location, contact us since necessary parts may vary depending on the cable

entry location.

- SR1-X 10 -

oo o rone oy fione i 1osomeion oo |
10: 200W

- RDVX 2

« Do not install the robot with the horizontal installation specifications in a direction other than the horizontal

20 - RBR1

5 direction. Power-supply voltage [l Driver: Power capacity —
;.'v( 2: AC200V 20: 600W or less
@ . gn . . .
3 M Specifications H Allowable overhang N°t M Static loading moment
1<
2 AC servo motor output (W) 200 A
Repeatability Mot ' (mm) +/-0.01
Deceleration mechanism Ball screw $15 B c m
Ball screw lead (mm) 20 m
M speed (mm/sec) 1200 Horizontal i 1 (Unit: mm) (Unit: N-m)
Maximum payload (kg) 45 A B [ MY MP MR
Rated thrust (N) 170 Q| 10kg| 3550) 1340| 1210 551 552 485
Stroke (mm) 750 to 2000 (50mm pitch) B| 20kg| 2075| 685 633
o
Overall length (mm) Stroke+561 5[ a5kg| 1280] 326/ 308 Il Controller
Maximum dimensions of cross W140xH91.5 Note. Distance from center of slider top to center of gravity of object being carried at a guide service Controller |Operation method
section of main unit (mm) . life of 10,000 km. Programming /
Cable Iength (m) Standard: 3.5/ Option: 510 Note. Service life is calculated for 1000mm stroke models. SR1-X10 /0 point trace /
Linear guide type 4 rows of circular arc grooves x 2 rail RCX320 Remote command /
9 P 9 RCX221/222| Operation
Position detector Resolvers Note2 RCX340 ggmﬁﬁﬁéﬁﬁ%
Resolution (Pulse/rotation, 20480
( ) TS-X110 1/0 point trace/
Note 1. Positioning repeatability in one direction. TS-X210 Remote command
Note 2. Position detectors (resolvers) are common to incremental and -
absolute specifications. If the controller has a backup function RDV-X220-RBR1 Pulse train control

then it will be absolute specifications.

( )
GF14XL
Approx. 250 346+/-3: L )
(Motor cable length) When origin is on motor side Effective stroke (215:When origin is on motor side)
(346: When origin is & 215+/-3:
I--{ Direction of robot cable { }---! Cable securing on non-motor side) 140 s< xY]hr?gn?erl%Po\rs
H i position 263+/-1 (Note 1) 128 2o side
| ® : (Note 3) ‘ 0| gg8 122:'/ ]1
i ! mmmu S .
H i b I
! ! =7 15 ‘E 1.5
| ! 35
i () i 8-M6x1.0 Depth 13 Details of B
! ; 4-M5x0.8 Depth 11 2-¢6 H7 Depth 8
(The same position on the opposite 140
surface at 2 locations) b 118
o
s LB
IS 140
(i4) -
152 (B/2-2)x200 C .
200 B-(See cross-section A-A.) ‘ ) (1)
=-A o
- - - - - - *},
J - & & N T:
L\*A $10 H7 Depth 11 (See cross-section A-A.) D 5l 1195 f}
162 A Cross-section A-A
Spot facing hole installation specifications
162 (B/2-2)x200 C A
[ 200 B-M6x1.0 Depth 10
: ‘ &
= - _ e
2]l
[9) $10 H7 Depth 11 (See cross-section A-A.) D S
sl o
= 162 A S
S Tapping hole installation specifications by
Note 1. Stop positions are determined by the mechanical stoppers at both ends. . N
Note 2. When changing the return-to-origin direction, the adjustment is needed. (The standard is the origin on the motor side.) Details of D
Note 3. Secure the cable with a tie-band 100mm or less from unit’s end face to prevent the cable from being subjected to excessive loads.
Note 4. The cable’s minimum bend radius is R30.
Note 5. The length under head of the hexagonal socket head bolts (M6 x 1.0) that are used to install the main body with the spot facing hole installation specifications is 20mm or more.
Itis recommended that the length under head of the hexagonal socket head bolts (M6 x 1.0) that are used to install the main body with the tapping hole installation specifications is the thickness of the
installation base + 10mm or less.
Effective stroke| 750 | 800 | 850 | 900 | 950 |1000/1050| 1100|1150 | 1200 1250|1300 1350|1400 | 1450 |1500| 1550|1600 | 1650|1700 1750 1800|1850 |1900 | 1950|2000
L 1311 |1361| 1411 | 1461 | 1511|1561 | 1611|1661 | 1711 | 1761 | 1811|1861 | 1911 | 1961|2011 | 2061 | 2111 | 2161 | 2211 | 2261 | 2311|2361 | 2411 | 2461 | 2511 | 2561
A 1050|1100 1150|1200 |1250| 1300|1350 | 1400 | 1450|1500 1550| 1600|1650 | 1700| 1750|1800 1850|1900 1950|2000|2050|2100|2150 |2200|2250|2300
B 14 14 14 16 16 16 16 18 18 18 18 | 20 | 20 | 20 | 20 | 22 | 22 | 22 | 22 | 24 | 24 | 24 | 24 | 26 | 26 | 26
C 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150
Weight (kg) | 22.5[23.223.8|24.5|25.225.9|26.5|27.2|27.9|28.6]29.2]29.9|30.6|31.3|31.9[32.6|33.3|33.9)/34.6|35.3|/36.0|36.6|37.3|38.0|38.7|39.3
J

214 SR1-X»> 540 [ TS-X » 514 [ RDV-X » 528 |




@ High lead: Lead 40
@ Origin on the non-motor side is selectable

Note. Upper robot cable (U) on models with brakes is a special order item, so please consult our sales office or sales representative for assistance.
(External dimensions: overall length + 20 mm)

@ Ordering method
F17-
| Model |8

220 -

Driver: Power-supply voltage / il
Power capacity

Regenerative g - 1/0 selection m Battery
No entry: None]

—— Cable entry =

unit Notes

P : INP: NPN IB: With battery|
d t : locat 10:
il o entry: o e_ = pead 2010, [220: 200V/400 to 600W | |No entry: None| |L: With LCD | |PN: PNP (Absolute)
20:20mm | [BK: Standard (S (50mm pich)| [10L: R: With RGT gﬁf gc‘_'-'"h = N: None
10: 10mm | |Brakes U: From the top™><? Lead40: | [3K/SKIOK EP;E;"'CI\? tzpm
provided | [R: From the right 20001450 | |(Flexible cable) W
LL: From the left |(50mm pitch)) :
IGW: No 1/0 board Nete6|
H i 1 H H
- SR1-X 20 3 1 1 1
Driver: Power capacity @ Usable for CE [ Regenerative o 1/0 selection —
) o ) . [20: 400 to 600W No entry:Standerd| [NRALSRINN IN: NPN B: With battery|
Note 1. The model with a lead of 40mm cannot select specifications with brake (vertical E: CE marking |No entry: None| |P: PNP (Absolute)|
specifications). |R: With RG1 | |CC: CC-Link N: None
Note 2. Upper robot cable (U) on models equipped with brake is a special-order item. Eg‘fg;g;?é“jg”
Note 3. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible cable. :

See P.614 for details on robot cable. L A
Note 4. See P.522 for DIN rail mounting bracket. RDV x 2

Note 5. The robot with the high lead specifications (lead 40) needs a regenerative unit. Power-supply voltage [l Driver: Power capacity @ Regenerative unit
Note 6. Select this selection when using the gateway function. For details, see P.66. 2: AC200V [20: 600W or less RBR1 (Horizontal)

RBR2 (Vertical

@
S
=
2
)
o<
@
S
<3
=
@

M Specifications H Allowable overhang \°t¢ Il Static loading
AC servo motor output (W) 400 Al
_Repeatability ' (mm) +/-0.01
Deceleration mechanism Ball screw $20 B c
‘Ball screw lead (mm) 40 20 10 B c A c o
Maximum speed ™2 (mm/sec)| 2400 |1000 (1200™*)] 600 @ @
Maximum [Horizontal| 40 80 120 Horizontal installation  (unit:mm) Wall installation (unit: mm)  Vertical installation (unit: mm) .
payload (kg) | Vertical| - 15 35 A B C A B C A © (Unit: N'm)
Rated thrust (N) 169 339 678 < 3540[ 2753| 1999 | 10kg| 2022 2670| 3501 & 5kg| 3000| 3000 MY MP MR
Stroke (mm) 200 to 1450™** (50mm pitch) 3 2541] 1357] 1181 2| 20kg| 1202] 1283] 2483 | 10kg| 2447| 2447 1032 1034 908
Overall length [Horizontal | Stroke+375] Stroke+365 3 2639| 66 736 3] 40kg| 752[ 587] 2516 [ 15kg| 1650[ 1650
(mm) Vertical B Stroke+395 < 2647| 894| 989 &[ 30kg| 987| 820| 2578 2| 15kg| 1782| 1782
Maximum dimensions of cross W168 x H100 ] 1770] 52 588 Q| 50kg| 574| 447| 1685 G| 25kg| 1054| 1054
tion of main unit (mm) 3 1391] 312] 362 8| 80kg| 342] 237] 1263 S| 35kg| 742 742
_Cable length (m) Standard: 3.5 / Option: 5,10 2 2443| 430] 572 2| 60kg| 535 355| 2443
Linear guide type 4 rows of circular arc grooves x 2rail g 2000 243| 326 7| 100kg| 283 169| 2000
Position detector Resolvers Netes 3 1841] 197] 264 S| 120kg| 220] 123] 1841
Resolution (Pulse/rotation) 16384 Note. Distance from center of slider top to center of gravity of object being carried at a guide service life of 10,000 km.

Note 1. Repeatability for single oscillation.

Note 2. When the stroke exceeds 800mm, although depending on the
moving range, the ball screw may resonate (critical speed). In con rOIIer
that case, make adjustment to lower the speed on the program —

Note 3 _LIJ_smg thetmtixlmu_rtn stpeed gl(\j/en in thde, be1o(\;voioable/as a ’l\llllde. Controller Operation method

ote 3. To operate the unit at a speed exceeding 1,000mm/sec. (Max. SR1-X20 Note Programming / /0 point trace / Remote command /

speed), a regeneration unit RG1 is required. H : Y

Note 4. Longer than 1250mm stroke can be handled by the high lead RCX320, RCNX221/222‘ RCX340 | Operation using RS-232C communication
specification (Lead 40) only. TS-X220 Note 1/0 point trace / Remote command

Note 5. Position detectors (resolvers) are common to incremental and ~ RDV-X220-RBR1 (Horizontal)

Note. [The following arrangements require a regeneration unit.]
« Using in the upright position.

! ! i . T t d ding 1,000 mm/sec horizontally.
fisolte spectcatns, I he conrllerhas abackup functon _RVXo20-RERE (Vera] | 152 21 co71) TR Toad ity boed Rovsoniaty. 00 Meoe oriontaly
4 N\
F17
Approx. 250 (Motor cable length) 240+/-3: When origin is on motor side Effective stroke 125+/-3: When origin is on non-motor side
R —[ Direction of robot cable ion | (240): When origin is on nonmoiorswd1e‘55 2-66H7 Depth0 (125): When origin is on motor side
) 76.5 56.5 (with brake 37.5) 17 g 156.5+/-2 (Note 1) 142 8-M8 x 1.25 Depth25 42.5+/-1(Note 1
22 (with brake) | 13] 1 F® g ‘ ‘ 120 ‘
= H 2 : lﬂ
5 L[ . Bo I
(Note 5) 1 | § f :
©H £ L] L]
| 2 S * C
= 8[ 4 2 L = =
BE % = [D-.:; 3 = ° =2
, 3
e | - L I
© | 1186.5+/-2 (with brake) (Note 1)

|_ Approx. 250 _|270+/-3: When origin is on motor side|
(270): When origin is on non-motor side

4-M5 x 0.8 Depth12 50 525 |
(The same position on the opposite surface at two (2) locations) o .
a | Y i T —t
f— RN i
Ny — 55
[ [ i5
30 (with brake), L
70 (with brake)
40 M x 200 A 75
200 N-9 Depth27 (Note 2) ‘ ‘
3.7 ‘{{ 1 1
15 25 A4 A4 @ 3
s = % oI
o oo s |
3 L3 & 3 3 >
B (S=211) 166.5 2-¢10H7 Depth16 .02 @
Note 1. Stop positions are determined by the mechanical stoppers at both ends. 196.5 (with brake)

Note 2. When installing the robot, do not use washers inside the robot body.

Note 3. Minimum bend radius of motor cable is R50.

Note 4. Weight of models with no brake. The weight of brake-attached models is 1.2 kg heavier than the models with no brake shown in the table.

Note 5. Make a separate consultation with us regarding robot cable (brake specifications) U extraction. (External dimensions: overall length + 20 mm)

Note 6. When the stroke is longer than 800mm, resonance of the ball screw may occur depending on the operation conditions (critical speed). In this case, reduce the speed setting on the program by referring to
the maximum speeds shown in the table above.

Note 7. To operate the unit at a speed exceeding 1,000mm/sec. (Max. speed), a regeneration unit RG1 is required.

Effective stroke 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000|1050 1100 | 1150 | 1200 | 1250

L 565 | 615 | 665 | 715 | 765 | 815 | 865 | 915 | 965 | 1015|1065 1115 | 1165 | 1215 | 1265 | 1315 | 1365 | 1415 | 1465 | 1515 | 1565 | 1615

A 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100

M 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6 7 7

N 8 8 8 8 10 | 10 | 10 | 10 | 12 | 12 | 12 | 12 | 14 | 14 | 14 | 14 | 16 | 16 | 16 | 16 | 18 | 18

o] 240 | 240 | 420 | 420 | 420 | 600 | 600 | 600 | 600 | 780 | 780 | 780 | 780 | 960 | 960 | 960 | 960 | 1140 | 1140 | 1140 | 1140 | 1320

Weight (kg) Nete4 1451153 116.2117.0 | 17.8 | 186 | 19.5/20.3 | 211 /1219|1228 236(244|25.2|26.1|26.9|277|285]294|302|31.0]318

Maximum | Lead 20 1000(1200 Mt 7) 960 840 720 600 480

speed™ot®| Lead 10 600 480 420 360 300 240

(mm/sec) [Speed setting| - 80% 70% 60% 50% 40%
(. J

SR1-X > 540 [ TS-X > 514 [RDV-X » 528 | 215 -




F17

2
o
=,
@
S
<3
S
@

( -
F17 High lead type: Lead 40
— — Approx. 250 (Motor cable length) 245+-5: When origin is on motor side Effective stroke 131+/-5: When origin is on non-motor side
—=-—{Direction of robot cable J {244):When origin s on non-motor sice! (130): When origin is on motor side
765 61517 g 155 2:46HT Deptht0
2 BT S 157.5+/-2 (Note 1) 142 8-M8 x 1.25 Depth25 43.5+/-1
= T ® g 120 (Nole 1)
n L7 ® [ |
i ] g e .
0 9 £ L ]
= =
S| — 3 =g’ * ‘3 _
= [D-D % | m— B —
[==] R 3
sch g
) - tBe i
165 4-M5 x 0.8 Depth12 ol
12 (The same position on the opposite surface at 2 locations)\ .80 ..52.5_ o
| ( p PpoO; AN ‘ ‘
N t v v : f f ="
S8 N ‘
’E OO o
g 168 B L
P 45 M x 200 A 80
v 200 N-$9 Depth26.5 (Note 2) ‘ LD
37 ° & ° P P
1.5 2.5 I
[
o AN 5 8 :
se M8 x 1.25 hex socket Cel T \ —
head bolt with length head =+ s
bolt with length (under head) s & o s o
of 40mm or more.
c tion D-D 2-$10H7 Depth16 _Q
LAloss-seclion DU B 1715 See cross-section D-D. c+/'0‘02
Note 1. Stop positions are determined by the mechanical stoppers at both ends. Note 3. Minimum bend radius of motor cable is R50.
Note 2. When installing the robot, do not use washers inside the robot body.
Effective stroke 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000(1050(1100|1150(1200/ 1250|1300 (135014001450
L 575|625 | 675|725 | 775 | 825 | 875 | 925 | 975 |1025|1075|1125|1175|1225|1275|1325|1375|1425|1475|1525|1575| 1625| 1675| 1725|1775/ 1825
A 50 | 100|150 [ 200 | 50 | 100 | 150 | 200 | 50 | 100|150 [200| 50 | 100 | 150 | 200| 50 | 100 | 150|200 | 50 | 100 | 150 | 200 | 50 | 100
M 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6 7 7 7 7 8 8
N 8 8 8 8 10 10 |10 |10 (12 |12 |12 |12 |14 | 14 |14 |14 | 16 | 16 | 16 | 16 | 18 | 18 | 18 | 18 | 20 | 20
C 240 | 240 | 420 | 420 | 420 | 600 | 600 | 600 | 600 | 780 | 780 | 780 | 780 | 960 | 960 | 960 | 960 |1140|1140|1140|1140|1320|1320 (1320 (1320|1320
Weight (kg) 14.7|15.5|16.4|17.2|18.0|18.8|19.7 |20.5|21.3 |22.1|23.0|23.8 |24.6 | 25.4|26.3| 27.1 | 27.9|28.7 |29.6 |30.4|31.2|32.0 | 32.8 | 33.6 | 34.4 | 35.2
Maximum speed"™‘| Lead 40 2400 1920 1680 1440 1200 960 840 720
(mm/sec) Speed setting - 80% 70% 60% 50% 40% 35% |30%
Note 4. When the stroke is longer than 800mm, resonance of the ball screw may occur depending on the operation conditions (critical speed). In this case, reduce the speed setting on the program by referring to
the maximum speeds shown in the table above.

_— 216 SR1-X > 540 [ TS-X > 514 [RDV-X » 528 |




F17L

Note. Upper robot cable (U) on models with brakes is a special order item, so please consult our sales office or sales representative for assistance.
(External dimensions: overall length + 20 mm)

F17L- 50 -

m— Lead —— Cable entry g Origin position change gl Grease type [l Stroke [ Cable length"
[CECIE] [No entry: location None: Standard | [None: Standard| {1100 to 2050| [3L: 3.5m
No brakes |Z: Non-motor side| |[GC: Clean (50mm pitch) :
Standard (S; :

BK:
Brakes U: From the top "1
provided R: From the right

LL: From the left

Note 1. Upper robot cable (U) on models equipped with brake i

Note 2. The robot cable is standard cable (3L/5L/10L), but can
See P.614 for details on robot cable.

Note 3. See P.522 for DIN rail mounting bracket.

Note 4. Acceleration / deceleration is different depending the Positioner or Controller or

TSX

-

- SR1X

Driver:

Power capacity
[20: 400 to 600W

Positioner "*** [l Driver: Power-supply voltage / g Regenerative unit g LCD monitor
LGVl R: With RGT
220: 200V/400 to 600W L: With LCD

Note 4

1/0 selection m Battery

INP: NPN B: With battery|
PN: PNP Absolute
ICC: CC-Link

N: None
Incremental)

DN: DeviceNet™

EP: EtherNet/IP™

PT: PROFINET

IGW: No I/0 board "tes

H 1
R - -
1 1
e i
Usable for CE &g Regenerative unit gf 1/0 selection W Battery

- -
1 '
i H

s a special-order item.
be changed to flexible cable.

L RDVX

ply voltage

No entry: Standard| |R: With RG1 | [N: NPN B: With battery|
|E: CE marking P: PNP (Absolute)
ICC: CC-Link N: None
DN: DeviceNet™
PB: PROFIBUS

Driver: Power capacity “** & Regenerative unit
IRBR1 (Horizontal)

Driver.
Note 5. Select this selection when using the gateway function. For details, see P.66. 2: AC200V [20: 600W or less
IRBR2 (Vertical)
M Specifications H Allowable overhang N°t Il Static loading t
AC servo motor output (W) 600 A
Repeatability Vo' (mm) +/-0.02
Deceleration lism Ball screw ¢$25 B e
Ball screw lead (mm) 50 B Cc A PR m
Maximum speed M2 (mm/sec) 2200 ¢ A
Maxlim:r?k ) } Ho‘r,izotr_na: ?8 Horizontal installation (unit:mm) Wall installation  (unit: mm) Vertical i (Unit: mm) (Unit: N-m)
payoad (kg clitca Al B | C Al B | C Al c MY MP MR
Rated thrust (N) 204
Stroke (mm) 1100 to 2050 (50mm pitch) 9 10kg| 4000| 2755 2608 g@| 10kg| 2720| 2681| 4000 2| 2kg| 1200] 1200 1032 1034 908
Overall length |Horizontal Stroke+475 B| 30kg| 3045/ 895| 1175 Z| 30kg| 1185 8213045 T| 5kg| 3000/ 3000
(mm) Vertical Stroke+505 3| sokg| 2602] 523] 715 3| sokg| 680 449] 2602 3| 1o0kg| 2650 2650 | MO alifel|F1
Maximum dimensions of cross
section of main unit (mm) W168 x H100 Note. Distance from center of slider top to center of gravity of object being carried at a guide service Controller |Operation method
Cable length (m) Standard: 3.5 / Option: 5,10 life of 10,000 km. Programming /
Linear guide type 4 rows of circular arc grooves x 2 rail SR1-X20-R ||/0 point trace /
Position detector Resolvers Not3 RCX320 Remote command /
Resolution (Pulse/rotation) 16384 RCX221/222 | Operation
— —— — RCX340 using RS-232C

Note 1. Positioning repeatability in one direction. communication
Note 2. When the stroke is longer than 1200mm, resonance of the ball 1/0 point trace /

screw may occur depending on the operation conditions (critical TS-X220-R Renqote command

speed). In this case, reduce the speed setting on the program RDV-X220-RBRY

by referring to the maximum speeds shown in the table below. H ALY tal
Note 3. Position detectors (resolvers) are common to incremental and —{Horizontal) | Pulse train control

absolute specifications. If the controller has a backup function RDV'XZ.ZO'RBRZ

then it will be absolute specifications. _(Vertical) |

(F17L

Approx. 250 (Motor cable length) 293+/-7: When origin is on motor side Effective stroke 182+/-7: When origin is on non-motor side
(293): When origin is on non-motor side| (182): When origin is on motor side
37 o 203+/-2 (Note 1) 155 2-¢6H7 Deptn10 87+/-2 (Note 1)
15, /.25 S ‘ 142 /T 8-M8 x 1.25 Depth25
Il v —120 d ‘ 7
m 0 3 f kiich ,
o gl 7
B feof £
L § . | 3 p4 @
= 2| — 7
< S = * %
= <~
w
~ i =0T A
233+/-2 (With brake) (Note 1)
323+/-7 (With brake)
4-M5 x 0.8 Depth12 50 525
(The same position on the opposite surface at 2 locations) \ ) \ E\ - )
& VI e e

Bk 2 ‘ »

] =

R i -

B 30 (With brake) L (16)
123 (With brake) M x 200 A 82 =
--------- —{ Direction of robot cable extraction )»-—--—--— 93 ‘ 200 N-9 Depth26.5 (Note z)‘ ‘(_C é
76.5 56.5 (With brake 37.5) 17 | | 7
22 (With brake 12) & : :
( ) | BLTT® o & 7 e ?
il | | ~ —
él}l)ote 4) i o = & s
®B b . N 7
= S — 7
- % =3 & & Ya & & Use M8 x 1.25 hex socket
N |.( = Eelad pgltl withhle(ng? hﬁadd)
2-p10£17 Depth16 I<C olt with length (under hea
T 211.5
See cross-section C-C. of 40mm or more.
© 2415 (With brake) K002 Cross-section C-C

Note 1. Stop positions are determined by the mechanical stoppers at both ends.
Note 2. Itis not allowed to use a counter bore washer, etc. when installing the main unit.

Note 3.
Note 4.
overall length + 20 mm)

This is the weight of the model without a brake. The weight of the model equipped with a brake is 1.2kg heavier than this value.
Make a separate consultation with us regarding robot

cable (brake specifications) U extraction. (External dimensions:

Effective stroke 1100 [ 1150 [ 1200 ] 1250 | 1300 | 1350 | 1400 | 1450 1500 | 1550 1600 | 1650 [ 1700 | 1750 | 1800 | 1850 | 1900 | 1950 | 2000 | 2050
L 1575 | 1625 | 1675 | 1725 | 1775 | 1825 | 1875 | 1925 | 1975 | 2025| 2075 | 2125 | 2175 | 2225 | 2275 | 2325 | 2375 | 2425 | 2475 | 2525

A 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150

M 6 | 7 | 7 [ 7 [ 7 [ 8818819191919 [10][10][10]10]1[1]N"

N 16 | 18 | 18 | 18 | 18 | 20 | 20 | 20 | 20 | 22 | 22 | 22 | 22 | 24 | 24 | 24 | 24 | 26 | 26 | 26

K 1140 | 1140 | 1320 | 1320 | 1320 | 1320 | 1320 | 1320 | 1320 | 1320 | 1320 | 1320 | 1320 | 1320 | 1320 | 1320 | 1320 | 1320 | 1320 | 1320

Weight (kg)"®? 3411349358 36.7 | 37.6 | 38.4139.3 402 | 411 | 42 |42.0 |43.8 | 447|456 |46.5 | 47.3 | 48.2 | 491 | 50 | 50.9
Maximum speed"™5 _Lead 50 2200 1900 1500 1200 900 800
(mmisec) Speed setting - 86% 68% 54% 40% 36%

maximum speed given in the above table as a guide.

Note 5. When the stroke exceeds 1200mm, although depending on the moving range, the ball screw may resonate (critical speed). In that case, make adjustment to lower the speed on the program using the

SR1-X > 540 [ TS-X > 514 [RDV-X » 528 |

adA) 4

@
S
=
2
)
o<
@
S
<3
S
@

217 .




2
o
=,
@
S
<3
S
@

GF17XL

@ Ordering method
GFI7TXL- S H -20

[ osel B Wods
'S: Straight
model

Installation @ Lead |g Cable entry Qi Origin position
direction [@designation| location change

Grease

See P.614 for details on robot cable.
Note 2. See P.522 for DIN rail mounting bracket.

regenerative unit is not needed.

g Cable
50 to 2500] ik

|-. :
§ !0 selection § Battery |

g Regenerative g
unit

type 'm NP: NPN IB: With battery|
¥ No entr IN try: | [PN: PNP Absolute
IH: Horizontall No entry: None: IStandard | |None: Standard| [(50mm pitch)| |3L: 3.5m Ngneen Y Ngneen Ty ICC: CC-Link L None )
iinstallation Standard (S) | |Standard | |(Spot facing) |GC: Clean 5L: 5m R: With RGT]| | With LCD| IDN: DeviceNet™| y
U: From the top| |Z: Non- [T: Tapping| 10L: 10m - - Ep-‘ EtherNet/IP™|
R: From the right| |motor side 3K /5K /10K | BT, PROFINET
L: From the left (Flexible GW- No /0 board7
. . cable) -
Note 1. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible cable. LT Neted 1 i H
FSRIX 20 4 HRE Fo
___________ i | 1 |
N . . N . Controller ll Driver: Power capacity jg Usable for CE & Re eneratwe 1/0 selection Battery
Note 3. Select this selection when using the gateway function. For details, see P.66. Coricele) 20: 400 to 600W | m N: NPN B:With batery
Note 4. When operating the robot at a speed that is a maximum speed of 750 mm/sec or less, the Standard Noentry: | |P:PNP (Absolute)
E:CE None ICC: CC-Link IN: None
marking R: With DN: DeviceNet™|
RG1 PB: PROFIBUS

[Cautions after purchase]

« When changing the origin position, contact us since the adjustment is needed.
* When changing the cable entry location, contact us since necessary parts may vary depending on the

cable entry location.

« Do not install the robot with the horizontal installation specifications in a direction other than the

horizontal direction.

M Specifications

AC servo motor output (W) 400 A

Repeatability Mot ' (mm) +/-0.01

Deceleration mechanism Ball screw $20 B c

Ball screw lead (mm) 20

M speed (mm/sec) 1200 Note2 Horizontal i ion__ (Unit: mm)
Maximum payload (kg) 90 A B c
Rated thrust (N) 339 | 30kg| 4050 1090| 1405
Stroke (mm) 850 to 2500 (50mm pitch) B| 50kg| 2755| 650 835
Overall length (mm) Stroke+686 3 90kg| 1610 345/ 450

Maximum dimensions of cross
section of main unit (mm)

W168xH105.5

life of 10,000 km.

H Allowable overhang N°t¢

RDV X

Power-supply voltage i Driver: Power capacity g
2: AC200V 20: 600W or less

Note. Service life is calculated for 1000mm stroke models.

Cable length (m)

Standard: 3.5/ Option: 5,10

Linear guide type

4 rows of circular arc grooves x 2 rail

(M4)
172 (B/2-2)x200 c
200 B-(See cross-section A-A.) ‘ =l (15
A T
¥ T = = g T =)
‘ g =
= ——— s
J o 2 o o o o 1\
F<—A"\_$10 H7 Depth 15 (See cross-section A-A.) D Q12 %
182 A
Spot facing hole installation specifications Cross-section A-A
192 (B/2-2)x200 c w_
200 . B-M8x1.25Depth 15 \ g &
5 7 T v T T 3
77 %
B R ——————————————...., )| w0
RSN by 20 =
() s IS s P s s PRNANIPSS 5
m $10 H7 Depth 15 (See cross-section A-A.) D £
%’ 182 A <
@ Tapping hole installation specifications 2
Note 1. Stop positions are determined by the mechanical stoppers at both ends. Details of D
Note 2. When changing the return-to-origin direction, the adjustment is needed. (The standard is the origin on the motor side.)

218

Position detector

ResolversNote3

Resolution (Pulse/rotation)

20480

Note 1. Positioning repeatability in one direction.

Note 2. To operate the unit at a speed exceeding 750 mm/sec. (Max.

speed), a regeneration unit is required.

Note 3. Position detectors (resolvers) are common to incremental and
absolute specifications. If the controller has a backup function

then it will be absolute specifications.

20 - RBR1

Note. Distance from center of slider top to center of gravity of object being carried at a guide service

M Static loading t

(MR} (MP]

(Unit: N-m)
MY MP MR
1032 1034 908

Il Controller

Controller |Operation method
SR1-X20 Nete| Programming /

1/0 point trace /
Sgigég/zzz Remote command /

Operation using RS-
RCX340 232C communication

1/0 point trace/
TS-X220 Remote command
RDV-X220-RBR1 | Pulse train control

Note. To operate the unit at a speed
exceeding 750 mm/sec. (Max.
speed), a regeneration unit is

(GF17XL

S —

Note 3.
Note 4.
Note 5.

installation base + 15 mm or less.

Ground terminal (2.6)

required.
~
Approx. 250 420.5+/-3:
(Motor cable length) When origin is on motor side Effective stroke (265.5: When origin is on motor side)
(420.5: When origin is g \2/\%55+/-3:_ .
Cable securin on non-motor side). 175 s en origin is
position ¢ 323+/-1 (Note 1) 160 §£ g&gon;nggtj”
25 X
(Note 3) ‘ ‘ r—&ﬂ § @é’ 77“%‘6 T . m[,
E 0|10,
= N
: 25 15
‘ 37
8-M8x1.25 Depth 25 ! Details of B

4-M5x0.8 Depth 12
(The same position on the opposite
surface at 2 locations)

2-$6 H7 Depth 10

Secure the cable with a tie-band 100mm or less from unit’s end face to prevent the cable from being subjected to excessive loads.
The cable’s minimum bend radius is R30.
The length under head of the hexagonal socket head bolts (M8 x 1.25) that are used to install the main body with the spot facing hole installation specifications is 45 mm or more.

It is recommended that the length under head of the hexagonal socket head bolts (M8 x 1.25) that are used to install the main body with the tapping hole installation specifications is the thickness of the

Effective stroke| 850 | 900 | 950 [1000{1050{1100 1150 [1200|1250|1300|1350|1400|1450|1500|1550|1600|1650|1700|1750|1800|1850|1900|1950|2000|2050|2100|2150|2200|2250|2300|2350|2400/2450 2500
L 1536|1586 |1636 /1686|1736 | 1786|1836 | 1886| 1936|1986|2036|2086|2136|2186|2236|2286|2336|2386|2436|2486|2536|2586|2636|2686|2736|2786|2836|2886|2936|2986|3036|3086|3136| 3186
A 1250{1300{1350{1400{1450{1500{1550{1600{1650{1700{1750|1800|1850{1900|1950|2000{2050|2100 | 2150 |2200| 2250 2300| 2350| 2400| 2450|2500| 2550|2600| 2650|2700|2750|2800| 2850|2900
B 16 | 16 | 16 | 18 | 18 | 18 | 18 | 20 | 20 | 20 | 20 |22 | 22 |22 |22 |24 |24 |24 |24 | 26 | 26 | 26 | 26 | 28 | 28 | 28 | 28 | 30 | 30 | 30 | 30 | 32 | 32 | 32
C 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150
L Weight (kg) |37.438.4139.4140.3|41.3142.3143.2144.2|45.2|46.1| 471 |48.1]49.0|50.0|51.0|51.9|52.9|53.9|54.8|55.8|56.8|57.7 | 58.7 | 59.7 | 60.6 | 61.6 | 62.6 | 63.5 | 64.5 |65.5 |66.4 | 67.4 |68.4 69.3)

SR1-X > 540 [ TS-X > 514 [ RDV-X > 528 |




@ High lead: Lead 40

(External dimensions: overall length + 20 mm)

0] ering method

F20-

@ Origin on the non-motor side is selectable

Note. Upper robot cable (U) on models with brakes is a special order item, so please consult our sales office or sales representative for assistance.

TSX 220

nertes

3 iver: X —| ive B LCD itor ™
—— Cable entry g Origin position change [l Grease type —— Cable length"* Dr\vgoizrz;::z)ﬂ/y’q\ﬂgage/ Regsil:eng‘aztﬁlve NP: NPN
No entry: location None: Standard | [None: Standard| [Lead 2010: | [3L: 3.5m " - SWih L "
- [220: 200V/400 to 600W L: With LCD | |PN: PNP
No brakes | [No entry: GC: Clean | {20010 1250 : R: With RGT CC: cC-Link
BK: Brakes| |Standard (S (50mm pitch) : ] DN: DeviceNel™
provided U: From the top "2 Lead 40: 3K/5K/M0K EP: EtherNet/IP™
: From the right 120010 1450 | |(Flexible cable) PT.PROFINET |
L: From the left (50mm pitch) IGW: No I/O board M7

Note 1.
specifications).

The model with a lead of 10mm cannot select specifications without brake (horizontal

1/0 selection m Battery

IB: With battery|
Absolute;

N: None
Incremental)

SR1-X

The model with a lead of 40mm cannot select specifications with brake (vertical Driver: [ Usablefor CE jgRegenerative /O selection _
specifications) Power capacity INo entry: Standard| unit N: NPN B: With battery|
: . ) . ’ . [20: 4 w E: CE marking| N - N P:PNP Absolut
Note 2. Upper robot cable (U) on models equipped with brake is a special-order item. 0: 400 to 600 CE marking ‘R?\mrhng:e‘ CC: coLink g\‘: ,\‘sgnl;e)
Note 3. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible cable. DN: DeviceNet™
See P.614 for details on robot cable. PB: PROFIBUS

Note 4.
Note 5.

See P.522 for DIN rail mounting bracket.

Driver.
The robot with the high lead specifications (lead 40) needs a regenerative unit.
Select this selection when using the gateway function. For details, see P.66.

Note 6.
Note 7.

M Specifications

Acceleration / deceleration is different depending the Positioner or Controller or

H Allowable overhang \°t¢

RDV-X

Power-supply voltage
2: AC200V

Driver: Power capacity "' ° g Regenerative unit “**®
120: 600W or less IRBR1 (Horizontal)

IRBR2 (Vertical)

Il Static loading

@
S
=
2
)
o<
@
S
<3
=
@

AC servo motor output (W) 600 A

Repeatability "t ' (mm) +/-0.01

Deceleration mechanism Ball screw $20 B

“Ball screw lead (mm) 40 20 10 B c A c

Maximum speed™*2 (mm/sec)| 2400 [1000 (1200™¢%)] 600 c A LVR) am
r:;llt:::r?kg) }% 6_0 12250 4_5 Horizontal install. (unit mm) - Wall installation (unit: mm) ~ Vertical installation (Unit: mm) (Unit: N-m)
Rated thrust (N) 255 510 | 1020 AL _ILC A LB | © ANIC My mP MR
Stroke (mm) 200 to 14507+ (50mm pitch) | 10kg| 4000] 4000| 3450 [ 10kg| 3571 4000| 4000 &[ 15kg| 2635| 2635 1196 1199 1052
Overall length [Horizontal |Stroke+427] Stroke+417 [ — B| _20kg| 3397| 2235| 2073 Z| 20kg| 2118| 2164| 3397 Z| 20kg| 2000| 2000

(mm) ] Vertical| - |  Stroke+447 S| 60kg| 2443] 718] 977 S| 60kg| 1000 648| 2443 S| 25kg| 1621] 1621

;ﬂefg:':#rfﬂ"';ﬁnjm‘(fnﬁ)ﬂ°ss W202 x H115 Q| 50kg| 2602| 869[ 1083 &| 50kg| 1097| 799 2602 2| 20kg| 2188| 2188

Cable length (m) Standard: 3.5/ Option: 5,10 E 80kg| 2193| 528| 703 E 80kg| 708| 458| 2193 E 30kg| 1446| 1446

Linear guide type 4rows of circular arc grooves x 2rail | 120kg| 1841 339] 505 i 120kg| 468) 268 1841 | 45kg| 951 951

Position detector Resolvers Note s Note. Distance from center of slider top to center of gravity of object being carried at a guide service

_Resolution (Pulse/rotation) 16384 life of 10,000 km.

Note 1. Positioning repeatability in one direction.

Note 2. When the stroke is longer than 800mm, resonance of the ball
screw may occur depending on the operation conditions (critical
speed). In this case, reduce the speed setting on the program

Controller

by referring to the maximum speeds shown in the table below. Controller Operation method
Note 3. de%%e)réitereﬁggnuen;;ﬁéna jﬁi?eRdG%IX?sereedc:E?re%.ooomm/sec. (Max. S(B1-XZOC“°‘E ) o grogramm\ng 7110 psoint trgce / Remote command /
Note 4. Longer than 1250mm stroke can be handied by the high lead ~ RCX320. RCX221/222, RCX340| Operation using RS-232C communication  Note. [The following arrangements require a regeneration unit ]
spedification (Lead 40) only. TS-X220 Mo I/0 point trace / Remote command « Using in the upright position.
Note 5. Position detectors (resolvers) are common to incremental and ~_RDV-X220-RBR1 (Horizontal Pulse trai trol - To move at a speed exceeding 1,000 mm/sec horizontally.
absolute specifications. If the controller has a backup function RDV-X220-RBR2 (Vertical) ulse train control « High lead (40) used horizontally.
then it will be absolute specifications.
( N\
F20
Approx. 250 (Motor cable length) 272+/-3: When origin is on motor side Effective stroke (145): When origin is on motor side
(272): When origin is on non-motor sice 2.8 10 145+/-3: When origin is on non-motor side
— n & 176+/-2 (Note 1 180 -$8H7 Depth 50+/-1
—--—-[Direction of robot cable } g INB X 125D
2 -| .25 Depth30 Note 1
90 39 (with brake 42.5) 17 g ‘ 160 | P (Noto 1)
27 (with brake 14.5) % S I )
€
s i 5
= 5=
[}
8 |
A = - HED | I g
Approx. 250 20642 {with brake) (ot 1) 302+/-3: When origin is on motor side
(302): When origin is on non-motor side
4-M5 x 0.8 Depth15 5
(The same position on the opposite surface at 2 locations) \
1Y
| — t (14.8)
SEIY | ;
=
L
30 (with brake) | | L
72 M x 200 A 95
37 } 200 . N-69 Depth33 (Note 2 ] .C
15 2.5 [ & & 3 3 S
m‘ (
| o 175 K +-0.02
- <
Use M8 x 1.25 hex socket
i,
B N olt with length (under hea -
— 102 (with brake) \‘ hd i id id k4 of 45mm or ?nore. z
7‘W(Wi#h brake) 2-$10H7 See cross-section C-C. _Q Cross-section C-C g
Note 1. Stop positions are determined by the mechanical stoppers at both ends. Note 4. Weight of models with no brake. The weight of brake-attached models is 1.5 kg heavier than the models with
Note 2. When installing the robot, do not use washers inside the robot body. no brake shown in the table.
Note 3. Minimum bend radius of motor cable is R50. Note 5. Make a separate consultation with us regarding robot cable (brake specifications) U extraction. (External
dimensions: overall length + 20 mm)
Effective stroke 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250
L 617 | 667 | 717 | 767 | 817 | 867 | 917 | 967 | 1017 | 1067 | 1117 | 1167 | 1217 | 1267 | 1317 | 1367 | 1417 | 1467 | 1517 | 1567 | 1617 | 1667
A 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100
M 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6 7 7
N 8 8 8 8 10 10 10 10 12 12 12 12 14 14 14 14 16 16 16 16 18 18
K 420 | 420 | 420 | 420 | 600 | 600 | 600 | 600 | 780 | 780 | 780 | 780 | 960 | 960 | 960 | 960 | 1140 | 1140 | 1140 | 1320|1320 | 1320
Weight (kg) Note 4 21.0]22.0(22.9|23.8|24.8|257|26.6|275|285|29.4[30.3|31.2|321|33.0/34.0/34.9|35.8|36.7|37.7|38.6|39.5|404
Maximum | Lead 20 1000 (1200Nete7) 960 840 720 600 480
speedNote® | Lead 10 600 480 420 360 300 240
(mmi/sec) |Speed setting - 80% 70% 60% 50% 40%
Note 6. When the stroke exceeds 800mm, although depending on the moving range, the ball screw may resonate (critical speed). In that case, make adjustment to lower the speed on the program using the
maximum speed given in the above table as a guide.
L Note 7. To operate the unit at a speed exceeding 1,000mm/sec. a regeneration unit RG1 is required. )

SR1-X > 540 [ TS-X > 514 [RDV-X » 528 |

219 e



F20

2
o
=,
@
S
<3
S
@

('F20 High lead type: Lead 40

— Approx. 250 (Motor cable length) 277+/-5: When origin is on motor side Effective stroke 151+/-5: When origin is on non-motor side
H Direction of robot cable H 276): When orgin is on non-motor side] (150): When origin is on motor side
! H 57 177+/-1 (Note 1) 180 2-¢p8H7 Depth10 51+/-1
| -2 | S 160 4 4-M8 x 1.25 Depth30 (Note 1)
: : ¥ r 1
| | ° 5 s £l T F
i ' 8
| ! g
| ! =g ¢
| i b= 3 *
i i g
: -~ = Te 3T T g
4-M5 x 0.8 Depth15
(The same position on the opposite surface at 2 locations) Fﬂ,’-&,‘ <
P PR ————————————————————
gL DI | ‘ [
= =
B ‘ L )
77 M x 200 A 100
200 | N-¢9 Depth33 (Note 2) lC
37 3 ¢ 3 4 ©
1.5 25
w0 o
) ©|
b 1< N
@ Use M8 x 1.25 hex socket
head bolt with length head
¢ 3 & < 4 bolt with length (under head)
B 2-¢10H7: See cross-section C-C. e C of 45mm or more.
181 K*-0.02 Cross-section C-C
Note 1. Stop positions are determined by the mechanical stoppers at both ends. Note 3. Minimum bend radius of motor cable is R50.
Note 2. When installing the robot, do not use washers inside the robot body.
Effective stroke 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000/1050(1100|1150|1200|1250| 1300|1350 1400|1450
L 627 | 677 | 727 | 777 | 827 | 877 | 927 | 977 (1027|1077|1127 |1177|1227|1277|1327|1377|1427|1477|1527|1577|1627 | 1677|1727 | 1777|1827 | 1877
A 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 [ 200 | 50 | 100|150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100
M 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6 7 7 7 7 8 8
N 8 8 8 8 |10 |10 |10 |10 |12 |12 |12 |12 |14 |14 |14 |14 |16 |16 | 16 | 16 | 18 | 18 | 18 | 18 | 20 | 20
K 420|420 | 420 | 420 | 600 | 600 | 600 | 600 | 780 | 780 | 780 | 780 | 960 | 960 | 960 | 960 |1140|1140(1140|1320|1320|1320|1320(1320|1320|1320
Weight (kg) 21.2|22.2|231|24.0|25.0|25.9|26.8|27.7 | 28.7 |29.6 |30.5|31.4|32.3|33.2|34.2|35.1|36.0({36.9|37.9|38.8|39.7 |40.6 | 41.5 |42.4 | 43.3 | 44.2
Maximum speed"**!| Lead 40 2400 1920 1680 1440 1200 960 840 720
(mm/sec) Speed setting - 80% 70% 60% 50% 40% 35% 30%

Note 4. When the stroke is longer than 800mm, resonance of the ball screw may occur depending on the operation conditions (critical speed). In this case, reduce the speed setting on the program by referring to
the maximum speeds shown in the table above.

Note 5. Longer than 1250mm stroke can be handled by the high lead specification (Lead 40) only.
.

. 220

SR1-X > 540 [ TS-X » 514 [ RDV-X > 528 |




F20N

rdering method

F20N - 20 - -

m— Lead [l Origin position change [ Grease type | B Cable length ™!
LSRR [None: Standard None: Standard| {1150 to 2050 3L:3.5m
Z: Non-motor side GC: Clean (100mm pitch) 5L: 5m

TSX -

220 -
I '
Positioner "2 [l Driver: Power-supply voltage / |l Regenerative unit g LCD monitor —— Battery
Power capacity NP: NPN B: With battery
1220: 200V/400 to 600W | |R: With RGT | |L: With LCD PN: PNP Absolute)

ICC: CC-Link
10L: 10m DN: DeviceNet™ Incremental]
3K/5K/10K EP: EtherNet/IP™
(Flexible cable) PT: PROFINET

IGW: No I/O board Mete2

- SR1-X 20 -
Driver: Power capacity i Usable for CE [ Regenerative unit il 1/0 selection —
120: 400 to 600W No entry: Standard| [No entry: None| [N: NPN B: With battery|

[E:CE marking |R: With RG1 | |P: PNP (Absolute)
ICC: CC-Link N: None
DN: DeviceNet™ (Incremental)
PB: PROFIBUS

Note 1. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible

cable, L RDV-X 2 - RBR1
See P.614 for details on robot cable. 0
Note 2. See P.522 for DIN rail mounting bracket. Power-supply voltage Jll Driver: Power capacity [l Regenerative unit | 2
Note 3. Select this selection when using the gateway function. For details, see P.66. 2: AC200V [20: 60OW or less g
o
3
. gn . . . @
M Specifications H Allowable overhang N°t M Static loading moment g
AC servo motor output (W) 400 A &
Repeatability Vo' (mm) +/-0.04
Deceleration mechanism Ball screw $20 c
Ball screw lead (mm) 20 B (MR} [vP)
Maximum speed (mm/sec) 1000 (1200 Note2) . o " ]
Maximum payload (kg) 80 Horizontal )N (Unit: mm) (Unit: N-m)
Rated thrust (N) 339 A0 IE R G my mP MR
Stroke (mm) 1150 to 2050 (100mm pitch) o 20kg| 3397| 2332| 2683 1196 1199 1052
Overall length (mm) Stroke+420 g 40kg| 2795| 1144| 1361
Maximum dimensions of cross W202 x H120 3| 60kg| 2443| 749 914 H Controller
section of main unit (mm) - 80kg| 2193 551| 695
Cable length (m) Standard: 3.5/ Option: 5,10 9 Controller |Operation method
Linear guide type 4 rows of circular arc grooves x 2rail  Note. Distance from center of slider top to center of gravity of object being carried at a guide service SR1-X20"°* Progrgmming /
Position detector Resolvers Nete 3 life of 10,000 km. RCX320 1/ point trace /
= = Remote command /
Resolution (Pulse/rotation) 16384 RCX221/222 Operation using RS-
Note 1. Positioning repeatability in one direction. wmﬂw
Note 2. A regenerative unit is needed if using the SR1-X, TS-X at TS-X220 Vet /0 point trace /
maximum speeds exceeding 1000mm /sec.. If using the Remote (?OmmaNd
RDV-X, then the regenerative unit RBR1 is required regardless RDV-X220-RBR1 | Pulse train control

of the installation conditions.

Position detectors(resolvers) are common to incremental and
absolute specifications. If the controller has a backup function
then it will be absolute specifications.

Note. When the unit is operated at a
speed exceeding the maximum
speed of 1,000mm/sec., a
regeneration unit is required.

Note 3.

4 N\
F20N
219+/-3: When origin is on L side Effective stroke 201+/-3: When origin is on R side
219): When origin is on R side| 201): Wh igin i L sid
(219) g 242 - 2-48H7 Depth10 (201): When origin is on L side ur
160 4-M8 x 1.25 Depth16 15 25
gu’ ©
= 0] o
C section detailed chart
224.5
201
5 185 (Between knocks +/-0.02)
S ‘
' = |
©l | | L{ ) ] 3 o
’/K e i 1 — — o q s 92
VL | iy - 1 . NS ESN
e _— 1= I " [~
\\¥ [ ; (o o} %A\ ‘ | "I & |
157 (Note 1) 101+/-2 (Note 1) noe2 /|53 202 &
14.8 %
[Yeli¥el
35 M x 200 A 35 N lza:
[ 200 N-09 thickness 33 (Note 3) <l W W
‘ ! L } Cross section of cable guide '_‘:'
i RS S N :
o i i i i ““ _J ““ i i @
O 71—~ ——— e — - 4N\ —
N ! T Y |
f’*’ ’f’*’*f’*’ﬁ*’*\ ﬁ’ﬂ\’*’f ’’’’’ f Use M8 x 1.25 hex socket head bolt
2-$10H7: See cross-section D-D. with length head bolt with length (under head)
+-0.02 el of 45mm or more.
129 E y
Cross-section D-D
Effective stroke| 1150 | 1250 | 1350 | 1450 | 1550 | 1650 | 1750 | 1850 | 1950 | 2050 Note 1. Stop positions are determined by the mechanical stoppers at both ends.
L 1570|1670 | 1770 | 1870 | 1970 | 2070 | 2170 | 2270 | 2370 | 2470 Note 2. The shaded position indicates the user cable extraction port.
A 100 | 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100 | 200 Note 3. When installing the robot, do not use washers inside the robot body.
B 602 | 648 | 694 | 740 | 786 | 832 | 878 | 924 | 970 | 1016 Note 4. The origin is set on the left (L) side at shipping.
E 1320|1320 | 1320 | 1320 | 1320 | 1320 | 1320 | 1320 | 1320 | 1320
M 7 7 8 8 9 9 10 10 11 1
N 18 18 | 20 | 20 | 22 | 22 | 24 | 24 | 26 | 26
Weight (kg) | 54.0 | 56.2 | 58.4 | 60.6 | 62.9 | 65.1 | 67.3 | 69.6 | 71.8 | 74.0
(. J

SR1-X > 540 [ TS-X > 514 [RDV-X » 528 | 221 -




b Y
Il

N15 =

@ Ordering method

H i H
N15-20 [ | [ o L
| T \
H
Note3 _
m— Lead [ Cablecarrier il Cable carrier|@ Origin position change [ Grease typej@ Stroke [d Cable length"e s
LV Gl BRI Hori- [None: R side (Standard)|  [None: Standard| (500 to 2000| [3L: 3.5m
(100mm pitch)| [5L: Sm

Driver: Power-supply voltage / gl Regenerative unit gf LCD monitor — Battery
S Power capacity R: With RGT INP: NPN 1B: With battery]
1220: 200V/400 to 600W L: With LCD | |PN: PNP Absolute;

H: Horizontal, right|  |S: Standard | |zontal IGC: Clean CC: CC-Link IN: None
H: Horizontal, left] |Cable carrier W INone: L side (Standard) 10L: 10m Devi ™
3 S - al 5= DN: DeviceNet Incremental
RW: Wall, right| [M: Optional 3K/5K/10K EP: EtherNet/IP™
LW: Wall, left | |Cable carrier Flexible cable)| PT-PROFINET |

IGW: No I/O board"e¢

. i i 1

- SR1X 20 - - R - - :

| H TN H

Driver: Power capacity g Usable for CE & Regenerative unit i 1/0 selection —
120: 400 to 600W

No entry: Standard| |R: With RG1 | [N: NPN IB: With battery|
[E: CE marking| P: PNP ((Absolute)|
ICC: CC-Link IN: None
IDN: DeviceNet™
Note 1. To find information on cable carrier extraction directions see P.197. PB: PROFIBUS
Note 2. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible cable. L RDV-X 2 20 - RBR1
See P.614 for details on robot cable.
& Note 3. See P.522 for DIN rail mounting bracket. Driver: Power capacity @l Regenerative unit |
< Note 4. Select this selection when using the gateway function. For details, see P.66. 2: AC200V |20: 600W or less
o
x.
@ e . . .
3 M Specifications H Allowable overhang N°t M Static loading moment
5 AC servo motor output (W) 400 A
Repeatability "* ' (mm) +/-0.01
Deceleration mechanism Ball screw ¢15 A B
Ball screw lead (mm) 20 B c c [MR) a
Maximum speed "’ (mm/sec) 1200
Maximum payload (kg) 50 Horizontal installati (it mm) - Wall installation (Unit: mm) (Unit: N-m)
Rated thrust (N) 339 A B c A B c MY MP MR
Stroke (mm) 500 to 2000 (100mm pitch) | 10kg| 3048 2322 1259 Q| 10kg 1258| 1823| 2449 691 692 608
Overall length (mm) Stroke+330 T| 30kg| 1489 841| 500 TJ| 30kg| 428| 545/ 1039
Maximum dimensions of cross 2 ] _
et ot fa ) W145 x H120 50kg| 1278] 544| 344 s0kg| 248] 289 749 Controller
Cable length (m) Standard: 3.5 / Option: 5,10 Note. Distance from center of slider top to center of gravity of object being carried at a guide service Controller |Operation method
Linear guide type 4 rows of circular arc grooves x 2 rail life of 10,000 k. Programming /
Position detector Resolvers"™? B Cable carrier for users SR1-X20-R | |/0 point trace /
Resolution (Pulse/rotation) 16384 RCX320 Remote command /

Note 1. Positioning repeatability in one direction. Standard cabl . Ot | cabl . RCX221/222 85:?&%?2320

Note 2. The maximum speed may not be reached when the moving andard cable carrier ptional cable carrier RCX340 communication
distance is short. [ Space for optional -

Note 3. Position detectors (resolvers) are common to incremental and 58 Note. Cannot pass more c§ble for user TS-X220-R /0 point trace /
absolute specifications. If the controller has a backup function o than 3 urethane Remote command
then it will be absolute specifications. hoses (6 x 4). 0| 73 RDV-X220-RBR1 | Pulse train control

O]
2 iy - 57
g w0 lﬂi
145 | 61 = "’]“‘I
e 5 A 7 2 7 3 N\
N15: Horizontal installation / Standard Cable carrier specification GI»
50, 2-M5x 0.8 Depth10 - L ~
165+/-3: L-side origin position Effective stroke 165+/-3: R-side origin position
(165: When origin is on R side) (165: When origin is on L side)
190 g
65+/-1 2-48HT Depth10 150 65 |%
Note 1 - . Note 1 &
VEWK (Note 1) 8-M6 x 1.0 Depth14 98 ‘ ‘ (Note 1) %
o _P :I. g
6 - 35
— . > A
3 S E H
1 e 5 9 [l
! § 145 61 - i N |
— = 123 58 Ground terminal for user (M4)
R £ i—
! =
s H ==\12 2
Use M6x1.0 hex socket e = |2
head bolt with length head I L =
bolt with length (under head) J j 145
of 20mm or more.
Cross-section H-H “r 200 | C-M6 x 1.0 Depth10 T
0‘ “’ - - - - 0‘
‘)1@ ol L3 L3 L3 k-3 k-3 k-3
= 3i?Z[) 3 = igj j‘v E3 E3 E3 E3 E3 e
2 2 N 0/ * \\ * + + + +
= RO.3 H—>1 200 F-$7 Depth6 See cross-section H-H. (Note 2)
D
Cross-section of 2-¢10H7 Depth17 D Ef/,%%g ()
cable carrier Detail of section J e cross-section H-H. 105 G
(Note 5)
Note 5. When using a $10H7 hole, make sure that the pin does not go into deeper than as shown
Note 1. Stop positions are determined by the mechanical stoppers at both ends. in the drawing.
Note 2. When using $7 holes for installation, do not use a washer, spring washer, etc. in the main unit. Note 6. Contact us for vertical installation.
Note 3. When shipped from the factory, the horizontal model has the origin on the right side and the wall model has Note 7. Weight of models with no brake. The weight of brake-attached models is 1 kg heavier than
the origin on the left side. (This diagram shows the machine whose cable carrier taken out from right.) the models with no brake shown in the table.
Note 4. Ifthe model is a standard cable carrier specification, it is not possible to pass 3 or more ¢6 x 4 urethane air hoses. Note 8. Depending on the stroke and the operating conditions, the cable carrier bending radius
might be larger, making it higher than the dimensions shown in the diagram.
Effective stroke| 500 | 600 | 700 | 800 | 900 1000 1100 | 1200 | 1300 | 1400 | 1500|1600 1700|1800 19002000
L 830 | 930 | 1030 1130 | 1230|1330 1430 | 1530 | 1630 | 1730 | 1830 | 1930 | 2030|2130 | 2230 | 2330
Z A 15 65 15 65 15 | 65 15 | 65 15 | 65 15 | 65 15 65 15 65
< B 4 4 5 5 6 6 7 7 8 8 9 9 10 10 1" 1"
B3 [ 10 10 12 12 14 14 16 16 18 18 20 | 20 | 22 | 22 | 24 24
D 115 | 165 | 115 | 165 | 115 | 165 | 115 | 165 | 115 | 165 | 115 | 165 | 115 | 165 | 115 | 165
E 3 3 4 4 5 5 6 6 7 7 8 8 9 9 10 10
F 8 8 10 10 12 12 14 14 16 16 18 18 20 | 20 | 22 22
G 620 | 720 | 820 | 920 | 1020 | 1120 | 1220 | 1320 | 1420 | 1520 | 1620 | 1720 | 1820 | 1920 | 2020 | 2120
L Weight (kg)"™"°" | 19 20 | 22 | 23 24 | 26 27 | 29 | 30 32 | 33 35 | 36 | 38 | 39 | 40 )

. 022 SR1-X > 540 | TS-X > 514 | RDV-X » 528 |




N15

( B - c 5 c e - N\
N15: Horizontal installation / Optional Cable carrier specification GL»
L
50, 2-M5x0.8Depth10  165+/-3: L-side origin position Effective stroke 165+/-3: R-side origin position
(165:When origin is on R side) 190/ (165: When origin is on L side)
2-p6H7 Depth10 150
65+/-1 8-M6 x 1.0 Depth14 98 65 @
(Note 1) | | o) IR
VIEW K £8
- - c3
3 &C
S
E 83
g 3 T = -
& @ ;
Z Ground terminal for user (M4) /w |0_|J_
[=1
e — (%a?\
K 2 [ F \
HsedeécS)TtO rt]\lex Soﬁkhet ) 2 o i ] ] J
e ol with engh hea * | E=—=—"————=gsrctccccrcr<
bolt with length (under head) e S S
of 20mm or more. o
Cross-section H-H A Hoy B x 200 (A) a
200 C-M6 x 1.0 Depth10 ?
73 5
5T e - ., - L, - 3
whor | 25 3R70 3 8 '%I .4 P’y g
SRy m\_ql s ﬁlﬁj - [ 4 M . hN . M . M . M 3 i 3 .
6. I
\jﬁ 1 R0.3 H_:.1 F-¢7 Depth6 See cross-section H-H. (Note 2)
Cross-section of 2-$10H7 Depth17 D 200 E X200 (0)
cable carrier Detail of section J ~ See cross-section H-H./| 105 G*H0.02
(Note 5)
(. J
( 3 5 g o q )
N15: Wall installation / Standard Cable carrier specification (RW
A By B x 200 (A)
[ 200 C-M6 x 1.0 Depth10 ‘
I
3 v - + - - *
o . . . . .
e 81 2 °
. N ° . M . M . T .
VIEW K - -secti -
2-410H7 Depth17 H_, 200 F-$7 Depth6 See cross-section H-H. (Note 2) 5
& o See cross-section H-H. D E x 200 (0)
40 0, 105 G002
— Lo <& (Note 5)
N Ground terminal for user (M4)
| 3 5w
p= s 1]
Cross-section of = I 1)
cable carrier Detail of section J L
165+/-3: L-side origin position Effective stroke 165+/-3: R-side origin position
] (165: When origin is on R side) (165: When origin is on L side)
3485 105 155
‘ 2 s
— S q g a \‘33\\
Ll < )
= i S PR D 4
S e = g —
aH 33| [ Gt
0 || @~
i TS 35 o T
Esed'\g@l(mmx so}t]:khet g »m @8
ead bolt with length hea
bolt with length (under head) % | o8 8-M6 x 1.0 Depth14
of 20mm or more. 25 |24 150 2-$p6H7 Depth10
Cross-section H-H 120 65 (Note 1) 1?0 65+/-1 (Note 1)
K
(. J
( - c q c ) - N\
N15: Wall installation / Optional Cable carrier specification GIID
A Hs B x 200 (A)
\ 200 C-M6 x 1.0 Depth10 ‘
L 1
- * - - - - *
. . . . . .
g 2 .
/ 1 * \*\ » M * M * M * 1 +
H F-$7 Depth6 See cross-section H-H. (Note 2)
—> 200
D E x 200 (D)
~ 2-$10H7 Depth17 105 G +-002
@ See cross-section H-H.
(Note 5)
0 I
o~
6.5 ﬁHk
8.2 72 g
Cross-section of
cable carrier Detail of section J
165+/-3: L-side origin position Effective stroke 165+/-3: R-side origin position
9. 110 __ 165 When origin is on R sice) 105 55 1165: When origin is on L side)
~
7 - - = CON
<] | » AN
b [ ] N
= o g Y]
% b E Y s Y
PR N =
s 22| [l = z
o ol B ¥ <
3 ¥ L 'I! ‘:I' S
<
'l.'Jsede%T1 0 rr:lex sogl;\et | - 23 -
ead bolt with length hea 98 8-M6 x 1.0 Depth14
bolt with length (under head) % J» 24 ‘ 150 2°46H7 De th10p 65+/-1 (Note 1)
of 20mm or more. T 65 (oo 1 1% P
Cross-section H-H (Note 1)
= Kt
(. J

SR1-X > 540 [ TS-X > 514 [ RDV-X » 528 |

223 m



N15D

@ Ordering method
m— Lead designation [ Installation direction [ Cable carrier specification Option - - Cable length - Controller !
H: Horizontal installation 'S: Standard Cable carrier Grease type None: Standard | |250 to 1750 3L:3.5m IRCX320
VP! (100mm pitch)

W: Wall installation M: Optional Cable carrier 5L: 5m IRCX222HP
10L: 10m SR1-X (2 units) "
3K/5K/10K TS-X (2 units) "2
(Flexible cable) "' [RDV-X (2 units)™*?

Note 1. To find controller selection options, see the ordering method on each controller page.
Note 2. 2 units are required when using SR1-X, TS-X or RDV-X.
Note 3. If a flexible cable is needed for the SR1-X, TS-X, or RDV-X, then select 3K/5K/10K. On the RCX320/RCX222HP, the standard cable is a flexible cable, so enter 3L/5L/10L

2 when ordering.
X
728 g . . .
3 M Specifications H Allowable overhang N°t M Static loading t
5 AC servo motor output (W) 400 A
Repeatability "* ' (mm) +/-0.01
Deceleration mechanism Ball screw ¢15 A B
Ball screw lead (mm) 20 B c [ [MR) a
Maximum speed "’ (mm/sec) 1200
Maximum payload (kg) 50 Horizontal i i (unit mm) - Wall installation (Unit: mm) (Unit: N-m)
Rated thrust (N) 339 A B C A B C MY MP MR
Stroke (mm) 250 to 1750 (100mm pitch) Q| 10kg| 3048| 2322) 1259 g| 10kg| 1258 1823| 2449 691 692 608
Overall length (mm) Stroke+330 T| 30kg| 1489 841| 500 T| 30kg| 428| 545| 1039
Maximum dimensions of cross 3 g _
soction of main untt (men) W145 x H120 3| sokg| 1278| 544 344 S| so0kg| 248 289] 749 Il Controller
Cable length (m) Standard: 3.5 / Option: 5,10 Note. E_)istance from center of slider top to center of gravity of object being carried at a guide service Controller |Operation method
Linear guide type 4 rows of circular arc grooves x 2 ail life of 10,000 km. . RCX320.R | Programming /
Eosition'detocto HENN Resolvers M Cable carrier for users RCX222HP-R| VO point trace /
Resolution (Pulse/rotation) 16384 T IRemote command/
Note 1. Positioning repeatability in one direction. . . . Note Ogeratlon
Note 2. The maximum speed may not be reached when the moving Standard cable carrier Optional cable carrier SR1-X20-R™* |using RS-232C
distance is short. . communication
Note 3. Position detectors (resolvers) are common to incremental and 58 Note. Cannot pass more £33 Space for optional TS-X220-R™* 1/0 point trace /
absolute specifications. If the controller has a backup function [ than 3 urethane cable for users - a Remote command
then it will be absolute specifications. - hoses (6 x 4). 2 73 RDV-X20- Pulse train control
2 ‘ 40 - 57 RBR1 Vo
< o u-,I Note. 2 units are required when using
145 61 2 DA SR-1, TS-X or RDV-X.
( o s 0 B f 5 )
N15D: Horizontal installation / Standard Cable carrier specification
L
S| [165+/-3 (Note 1) Effective stroke 250: Minimum distance between carrier) g
2-M5x 0.8 Depth10 50 * Effective stroke 16543 (Note 1) |
< Bl | 65 190 190 65| (&
2| [Note2) 150 2-¢p6H7 Depth10 2-¢p6H7 Depth10 Note2] | o
§ 98 8-M6 x 1.0 Depth14 8-M6 x 1.0 Depth14 §
{ £ £
| =T o=
I g 8
VIEWK Z 2
& Q
g 3| | 3
2 9 @
g | L L |
&
Q
K #) .
Use M6x1.0 hex socket - ®
head bolt with length head = k1
bolt with length (under head =
of 20mm or more.
Cross-section H-H H
- A = B x200 (G
T 200 C-M6 x 1.0 Depth10
I d
40 7 - . :
25137 - . ¥ . - . - . + R + R +
- S|« > °
R — w0 R0.3 = 'nf it o
™ VI vy T + \ + ° + ° + M + 1 +
\_$6.5
8.2 RO.3 H_>‘ F-$7 Depth6 See cross-section H-H. (Note 3)
Cross-section of 2-¢10H7 Depth17 D 200 E x200 (D)
cable carrier Detail of section J See cross-section H-H. (Note 5) 105 GH0.02
Note 1. Position of table carriage when searched to the origin. Note 5. When using a $10H7 hole, make sure that the pin does not go into deeper than as shown in the drawing.
Note 2. Stop positions are determined by the mechanical stoppers at both ends. Note 6. Contact us for vertical installation.
Note 3. When using $7 holes for installation, do not use a washer, spring washer, etc. in the main unit. Note 7. Weight of models with no brake. The weight of brake-attached models is 1 kg heavier
Note 4. Ifthe model is a standard cable carrier specification, it is not possible to pass 3 or more $6 x 4 urethane air hoses. than the models with no brake shown in the table.
Note 8. Depending on the stroke and the operating conditions, the cable carrier bending radius
might be larger, making it higher than the dimensions shown in the diagram.
Effective stroke| 250 | 350 | 450 | 550 | 650 | 750 | 850 | 950 | 1050 1150 | 1250 | 1350 | 1450 | 1550 | 1650 | 1750
L 830 | 930 | 1030 1130 | 1230|1330 1430 | 1530 | 1630 | 1730 | 1830 | 1930 | 2030|2130 | 2230 | 2330
Z A 15 65 15 65 15 65 15 65 15 65 15 65 15 65 15 65
< B 4 4 5 5 6 6 7 7 8 8 9 9 10 10 " "
3 [ 10 10 12 12 14 14 16 16 18 18 20 20 22 22 24 24
D 115 1165 | 115 | 165 | 115 | 165 | 115 | 165 | 115 | 165 | 115 | 165 | 115 | 165 | 115 | 165
E 3 3 4 4 5 5 6 6 7 7 8 8 9 9 10 10
F 8 8 10 10 12 12 14 14 16 16 18 18 20 20 22 22
G 620 | 720 | 820 | 920 | 1020 | 1120 | 1220 | 1320 | 1420 | 1520 | 1620 | 1720 | 1820 | 1920 | 2020 | 2120
L Weight (kg)""°"| 24 26 27 29 30 32 33 35 36 38 39 40 42 43 45 46

— RCX320 » 548 [RCX222 » 558] SR1-X > 540 [ TS-X > 514 | RDV-X > 528 |




N15D

s . : : : . : : N
N15D: Horizontal installation / Optional Cable carrier specification
L
165+/-3 (Note 1 Effective stroke (250: Minimum distance between carrier)
| Effective stroke | 165+/-3 (Note 1)
190
2 65 150 2-¢p6H7 Depth10 2-¢6H7 Depth10 150 65 %
é (Note 2) ‘ | 98 8-M6 x 1.0 Depth14 8-M6 x 1.0 Depth14 98 ‘ ‘ (Note2) | €
1 = | : : =
& & mﬁ EH
<= N — ¥ ST
'§; ]’Fé % VIEW K i% % E:;%
=4 )
| g g Q < e ———— e ————————————" A
3 T FE AL FT
s
8 145 el | ]l
2 123 Ground terminal for user (M4)
S I
e\ o 5
ead bolt with length hea : 18 2
ot with length {Under heac) 2 == ! [¥2 ¢
of 20mm or more. ADHD'%
Cross-section H-H TT e %
= A Hsy B X200 (A) =
200 C-M6 x 1.0 Depth10 [
73 | 3
57 T ¥ ry ry 3 3 2
25 [ 37 ol —- . N N N . g
gl v jpRe S E . - —
ﬂ o= / * T\ * * * * +
8.2 R0.3 H_>‘ 200 F-¢7 Depth6 See cross-section H-H. (Note 3)
Cross-section of 2-$10H7 Depth17 D E x 200 (D)
cable carrier Detail of section J See cross-section H-H. (Note 5) 105 G+-0.02
L J
'd g 2 q e g )
N15D: Wall installation / Standard Cable carrier specification
A Hsy B X200 )
\ 200 C-M6 x 1.0 Depth10
[ |
3 v E3 3 3 3 E3
o . . . . N .
Sl === . . . =
/ * \ * * * * *
H F-¢7 Depth6 See cross-section H-H. (Note 3)
2-10H7 Depth17 o~ 200 E x 200 (D)
40 ~ ,%& Q?’ See cross-section H-H. (Note 5) | 105 G +-0.02
MW’ n Ground terminal for user (M4)
o 0
S asft
7.2
. 5 . 1 | R =
Cross-section of cable carrier Detail of section J T L !
& | (250: Minimum distance between carrier) Effective stroke 165+-3 (Note 1)} |§~
(17) 34 g5 2| [165+/-3 (Note 1 Effective stroke g
T = 105 |55 ] z
i {
"2 e 3 2
3 oY 3 3
Use M6x1.0 hex socket = -
head bol ith hle(ngtjh hﬁadd) J/251 L o [N 8-M6 x 1.0 Depth14 8-M6 x 1.0 Depth14
olt with length (under hea £ = 150 2-¢p6H7 Depth1 -
of 20mm or more. 120 65 (Note 2) 190 2:96H7 Depth10 ZGBHT Depiht0
N X lote 2)
L Cross-section H-H K} Kt )
' g 2 5 5 5 a N\
N15D: Wall installation / Optional Cable carrier specification
B x 200 (A)
2-M5x 0.8 Depth10 50 _ﬁ?O C-M6 x 1.0 Depth10
+ ¥ * + - * +
o . . . . . N
S %I b . - - + = e
v + \ * + + + +
VIEW K M I-\—>1 F-¢7 Depth6 See cross-section H-H. (Note 3)
E— See cross-section H-H. (Note 5) D| 200 E x 200 (D)
73 o o 105 | G+
57 F—s %o & Ground terminal for user (M4)
Py | "}m. I
65 S asit g
8.2 2] |
Cross-section of cable carrier  Detail of section J .
] (250: Minimurn distance between carrir) Effective stroke 165+-3 (Note 1) | &
2| [165+/-3 (Note 1 Effective stroke g
9 - 110 = 105 |55 55 105 =
= g - ’ g
= . £ £
— [ 2 Al 18
o ! N (— (- P =
g § § > —C § Z
= W E _I; 51_ z <
)| Lelle) @ 73 °
i % NF 2 4_ e ©
< <
i, - e — :
ead bolit with length hea J L |98 8-M6 x 1.0 Depth14 8-M6 x 1.0 Depth14 198 |
ol with length (under head) 25) 24 150 N 2-GBH7 Depth10 2-46H7 Depth10 150
N 120 65 190 190 65
Cross-section H-H (Note 2 «} Note 2)
g J

RCX320 » 548 [RCX222 » 558/ SR1-X > 540 | TS-X > 514 [RDV-X » 528 |

225 e



b Y
Il

[y s

i ; |
i -
H 1
Note3 |
m— Lead i Stroke (g Cable length** =
designation [l entry location"**" Hori- |None:R side (Standard)] [None: Stendard| (500 t0 2500 [3L: 3.5m
H: Horizontal right]  [S: Standard | |zontal[Z:L'side | |GC: Clean | |(100mmpitch) [5L: 5m

Driver: Power-supply voltage / gl Regenerative unit gf LCD monitor — Battery
S Power capacity R: With RGT INP: NPN 1B: With battery]
1220: 200V/400 to 600W L: With LCD | |PN: PNP Absolute;

= ICC: CC-Link IN: N
H: Horizontal, left] ~|Cable carrier W INone: L side (Standard) 10L: 10m : o ™
3 3 - al 5= DN: DeviceNet Incremental
W: Wall, right] - |M: Optional Z: R side 3K/5K/10K EP: EtherNet/IP™
LW: Wall, left | |Cable carrier Flexible cable) PT PROFINET |

PT: PROFINET
IGW: No I/O board"e¢

i H

- SR1-X 20 4 - R -

Driver: Power capacity g Usable for CE & Regenerative unit i 1/0 selection —
120: 400 to 600W

No entry: Standard| |R: With RG1 | [N: NPN IB: With battery|
[E: CE marking| P: PNP ((Absolute)|
ICC: CC-Link IN: None
IDN: DeviceNet™
Note 1. To find information on cable carrier extraction directions see P.197. PB: PROFIBUS
Note 2. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible cable. L RDV-X 2 20 - RBR1
See P.614 for details on robot cable.
@ Note 3. See P.522 for DIN rail mounting bracket. Driver: Power capacity [§ Regenerative unit |
e Note 4. Select this selection when using the gateway function. For details, see P.66. 2: AC200V [20: 600W or less
o
X
@ e . . .
3 M Specifications H Allowable overhang N°t M Static loading moment
G AC servo motor output (W) 400 A
Repeatability "' (mm) +/-0.01
Deceleration mechanism Ball screw ¢20 c A B
Ball screw lead (mm) 20 B c m a
. Note 2 7 I
M i speed"**( c) 1200 Horizontal i jon (untmm) Wall installation  (unit: mm) (Unit: N-m)
Maximum payload (kg) 80 A B c A B Cc MY MP MR
RatedithrusiN) 339 : S| 30kg| 3045] 1629] 1902 g [ 30kg| 1928| 1553| 3045 1161 1163 | 1021
2"°ke (mm) 500 t0 2500 (100mm pitch) o [“5okg| 2602 961| 1150 T| 50kg| 1157| 885| 2602
verallllengthi(mm) Stroke+362 3| sokg| 2193 586] 716 | 8sokg| 707| 509] 2193 Controller
Maximum dimensions of cross W180 x H115
ion of main unit (mm) Note. Distance from center of slider top to center of gravity of object being Controller | Operation method
Cable Iength (m) Standard: 3.5/ Option: 510 carried at a guide service life of 10,000 km. -
. " - — Programming /
Linear guide type 4 rows of circular arc grooves x 2 rail . Cable carrier for users SR1-X20-R |1/O point trace /
Position detector Resolvers"*°* RCX320 Remote command /
Resolution (Pulse/rotation) 16384 . ) ) RCX221/222 | Operation
— - — Standard cable carrier Optional cable carrier RCX340 using RS-232C
Note 1. Repeatability for single oscillation. communication
Note 2. The maximum speed may not be reached when the moving 58 Note. Cannot pass more [ Space for optional
distance is short. h— than 3 urethane cable for users TS-X220-R 1/O point trace /
Note 3. Position detectors (resolvers) are common to incremental and T hoses (¢6 x 4). 73 B "™ |Remote command
absolute specifications. If the controller has a backup function I -
then it will be absolute specifications. I 40 57 RDV-X220-RBR1 | Pulse train control
|
vI o)
180 61 - N
e 7 7 2 5 e P N\
N18: Horizontal installation / Standard Cable carrier specification GL»
< () g < L o
] L M 181+/-3: L-side origin position Effective stroke 181+/-3: R-side origin position
Q (181: When origin is on R side), (181: When origin is on L side)
50_ 2-M5x0.8 Depth11 78+/-1 190 78 5
R I ) . (Note 1) 2-$6H7 Depth10 150 Note )| |3
R Jj:'* + ‘ ¢ ﬁ 8-M8 x 1.25 Depth25 98 =
J ~ T / %
I <
S | o o 2
Jd| = A g
— P o &
S © =
o~ | @
Pl 3
Use M8 x 1.25 hex socket 5 © © :%
head bolt with length head = — ———— = =
bolt with length (under head) = [y Lol
of 40mm or more. 2 A | [ | il |
Cross-section E-E 179 61). 3 (Note7)
156 58 é Ground terminal for user (M4)
a
i ] _ T
=32 [ &
=] 'g:=" =
180 A B x 200
E 200 C-$9 Depth30 See cross-section E-E. (Note 2)
= |
7 k: € 3 3 < L3 K
251137 o T N
~< = N .
T
R1 RO3 2 10H7% th15 S > tion E-E 3 < = =
Cross-section of cable carrier Detail of section F 1%:1 a p ce cross-section E-E. (Nole S)D 0,02
Note 1. Stop positions are determined by the mechanical stoppers at both ends. Note 5. When using a $10H7 hole, make sure that the pin does not go into deeper than as shown in the drawing.
Note 2. When using $9 holes for installation, do not use a washer, spring washer, etc. in the main unit. Note 6. Contact us for vertical installation.
Note 3. When shipped from the factory, the horizontal model has the origin on the right side and the wall model Note 7. For the robot with more than 2,100 stroke, a roller is installed to prevent the cable carrier hanging.
has the origin on the left side. (This diagram shows the machine whose cable carrier taken out from right.) Note 8. Weight of models with no brake. The weight of brake-attached models is 1 kg heavier than
Note 4. Ifthe model is a standard cable carrier specification, it is not possible to pass 3 or more ¢6 x 4 urethane air hoses. the models with no brake shown in the table.
Note 9. Depending on the stroke and the operating conditions, the cable carrier bending radius
Z might be larger, making it higher than the dimensions shown in the diagram.
< Effective stroke| 500 | 600 | 700 | 800 | 900 | 1000 | 1100 | 1200|1300 | 1400|1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500
® L 862 | 962 | 1062|1162 | 1262 | 1362 | 1462 | 1562 | 1662 | 1762 | 1862 | 1962 | 2062 | 2162 | 2262 | 2362 | 2462 | 2562 | 2662 | 2762 | 2862
A 131 | 81 | 131 | 81 | 131 | 81 | 131 | 81 | 131 | 81 | 131 | 81 | 131 | 81 | 131 | 81 | 131 | 81 | 131 | 81 | 131
B 3 4 4 5 5 6 6 7 7 8 8 9 9 10 10 " 1" 12 12 13 13
[ 8 10 10 12 12 14 14 16 16 18 18 | 20 | 20 | 22 | 22 24 | 24 26 | 26 | 28 28
D 650 | 750 | 850 | 950 | 1050 | 1150 | 1250 | 1350 | 1450 | 1550 | 1650 | 1750 | 1850 | 1950 | 2050 | 2150 | 2250 | 2350 | 2450 | 2550 | 2650
L Weight (kg)"**| 27 | 29 31 33 35 | 37 39 | 41 43 | 45 | 47 | 48 | 50 52 | 54 | 56 | 58 | 60 | 62 | 64 | 66

. 226 SR1-X > 540 | TS-X > 514 | RDV-X » 528 |




N18

('N18: Horizontal installation / Optional Cable carrier specification GID

L
3 181+/-3: L-side origin position Effective stroke 181+/-3: R-side origin position
] (181: When origin is on R side)| (181: When origin is on L side)
78+/-1 190 78
o 50 2-M5x0.8 Depth11 (Note 1 2-¢6H7 Depth10 (Note 1)
A 8-M8 x 1.25 Depth25 %
‘ , g
| o 2 S
£
VIEW K E%i '?\
- 5 — 1
Use M8 x 1.25 hex socket g o
head bolt with length head ) - [T T T T T N - i
bolt with length (under head) Ground terminal for user (M4) o) [ * lof|®
of 40mm or more. 179 - o
Cross-section E-E 156 _ CY oo S STy
g 1 w3 i T =
© €2 o P s ‘
I = . Y e s g o e e e g -
o =
8 180 B | A B x 200 (A) 3
F E 200 C-¢9 Depth30 See cross-section E-E. (Note 2) ‘ )
1 @
;3 1 i G G 5 5 5 el
— ] 25] 137 ‘ 2
| 0| 24 - ®
e e N = K i
6.5
¢8.2 R1 R0.3 & & - & K2 K2 -2
Cross-section of cable carrier  Detail of section F Em_; 2-¢10H7 Depth15 See cross-section E-E. (Note &) p¥-0.02
(. J
( q g . - - )
N18: Wall installation / Standard Cable carrier specification a
! A B x 200 (A)
50 2M5x 0.8 Depthtt £ 200 C-¢9 Depth30 See cross-section E-E. (Note 2) "‘
]
] ] ] ] ] ]
2 ‘ °
3 N b
R 9 9 9 9 9 9
03 e 2:$10H7 Depth1 See crosssecon €. (Noe5) 7
R 45 Ground terminal for user (M4)
72 - — [—‘L %‘& EE
Cross-section of cable carrier  Detail of section F = - T
[
(Diameter or roller: $20) 1 L
% (NO‘Z 7)1 00 181+/-3: L-side origin ﬁosition Effective stroke 181+/-3: R-side origin position
r (181: When originis on Rside) _ 105 | 55 (181: When origin is on L side)
m G Q q g IESSS
| o g RSN
o 2 W)
" i= é v v b Lo i
T8 - s 5
8 55 &L
Use M8 x 1.25 hex socket e S 0
head bolt with length head (G —i©
Dolt with length (under head) EAT |98 8-MS8 x 1.25 Depth25
- 22 36 150 2-96H7 Depth10
Cross-section E-E 115 78 (Note 1) 190 78+/-1 (Note 1
\ 3 J
( g g P g = g N\
N18: Wall installation / Optional Cable carrier specification G
50 2-M5x0.8 Depth11 A B x 200 (A)
o~ E 200 C-¢9 Depth30 See cross-section E-E. (Note 2) T
E: & 3 E3 E3 < 3
; : R
{ > ®
VIEW K = L
I S & S S & S
73 106 E—>i \_ 2-$10H7 Depth15 See cross-section E-E. (Note 5) p*o02
57 ~ R0.3 ;
1) Ground terminal for user (M4
~] |
el 1 i & . .
\_65  ~RVJI 45 = Al Woel o || |
b8.2 7.2 * i
Cross-section of . i ‘ L
cable carrier Detail of section F 14 181+4/-3: L-side origin pbsition Effective stroke 181+/-3: R-side origin position
(181: When originisonRside) _ 105 | 55 (181: When origin is on L side)
= / Ty - CBy
> | 8 + v 7Y K/
E £ . = -
N Eo, T ég\ o 0| Z
8 - 18 53 S
= L= & 2
I
Use M8 x 1.25 hex socket 8 3 ° °
lgeiad bﬂcﬁ w'rthhlengtjh hﬁadCI F o 98
olt with length (under hea r
of4gvn|1m orgr’nOr(g, ) 22 \_3@ H 150 8-M8 x 1.25 Depth25
- 115 78 (Note 1) 190 2-¢6H7 Depth10 78+/-1 (Note 1
Cross-section E-E (%

SR1-X > 540 [ TS-X > 514 [ RDV-X » 528 |

227 e



N18D

@ Ordering method

N18D- 20 | H

m —— Installation direction  @dCable carrier specificatio Option - ——
250 to 2250 3L: 3.5m IRCX320
W: Wall installation P! (100mm pitch) 5L 5m RCX222HP
10L: 10m ISR1-X (2 units)"*?
3K/5K/10K TS-X (2 units) N2
(Flexible cable)*** IRDV-X (2 units) "2

Note 1. To find controller selection options, see the ordering method on each controller page.
Note 2. 2 units are required when using SR1-X, TS-X or RDV-X.

Note 3. If a flexible cable is needed for the SR1-X, TS-X, or RDV-X, then select 3K/5K/10K. On the RCX320/RCX222HP, the standard cable is a flexible cable, so enter 3L/5L/10L
when ordering.

)
o
2
@ o . . .
3 M Specifications M Allowable overhang N> M Static loading t
G AC servo motor output (W) 400 A
Repeatability "' (mm) +/-0.01
Deceleration mechanism Ball screw ¢20 c A B
Ball screw lead (mm) 20 B c m (VP
Maximum speed"*"* (mm/sec) 1200 Horizontal i jon (unitmm) Wall installation  (unit: mm) (Unit: N-m)
Maximum payload (kg) 80 A B Cc A B Cc MY MP MR
RatedithusiiN) 339 S| 30kg| 3045 1629 1902 g | 30kg| 1928| 1553|3045 1161 1163 | 1021
2"°ke"‘:“'“’m 250 to 2250 (100 pitch) 3| 50ke| 2602 961[ 1150 g 5okg| 1157| 85| 2602
verallisngthi(mm) Stroke+362 S| sokg| 2193 586] 716 S| sokg| 707| 509| 2193 l Controller
Maximum dimensions of cross W180 x H115
tion of main unit (mm) Note. Distance from center of slider top to center of gravity of object being carried at a guide service Controller | Operation method
Cable length (m) Standard: 3.5 / Option: 5,10 life of 10,000 km. RCX320.R _|Programming /
Linear guide type 4rows of circular arc grooves x 2rail | N OF= 1 o] (=0 o= 11 8 (=) g 10) A0 o1 i ROX222HP-R | /O point trace /
Position detector Resolvers V3 Remote command /

- 5 Operation
Resolution (Pulse/rotation) 16384 @ Standard cable carrier @ Optional cable carrier SR1-X20-R"* | using RS-232C

Note 1. Positioning repeatability in one direction. communication

Note 2. The maximum speed may not be reached when the movin, Note. Cannot pass more [ Space for optional .
distance is shorE Y 9 58, than 3 urethane cable for users TS-X220-R " 1/0 point trace /
" . — Remote command
Note 3. Position detectors (resolvers) are common to incremental and hoses (6 x 4). 73 RDVX20
absolute specifications. If the controller has a backup function I || g - :
then it will be absolute specifications. = FL. T RBR1"® Pulse train control
<..I Note. 2 units are required when using
180 61 A SR1-X, TS-X or RDV-X.
e 5 A 7 P e 2 N\
N18D: Horizontal installation / Standard Cable carrier specification
& L =
3 181+/-3 (Note 1) Effective stroke 250: Minimum distance between carrier) g
r Effective stroke 181+-3 (Note 1) | |+
z 78 190 ( 190 78 z
2-M5 x 0.8 Depth11 < g
?P FW S S Moed|[ 150 2-¢6H7 Depth10 2-¢6H7 Depth10 150 _ |[(Note2)| S
3 L2 | 2
\ ; g 98] 8-M8 x 1.25 Depth25 8-M8 x 1.25 Depth25 98, 8
=== i
] ]
VIEW K = é’/ cig/
4 3 ° ) 2
Use M8 x 1.25 hex socket 3 = : e — ; =
head bolt with length head e | lad 14 m m - ] |
bolt with length (under head) S Ll 4 L It
of 40mm or more. _ 179 61) z (Note 7)
Cross-section E-E 156 58 £ Ground terminal for user (M4)
=)
© i ]
e ; >
e I i
s ighiH
T
F 180
A B x 200 A
200 C-$9 Depth30 See cross-section E-E. (Note 3)
7_ £ |
25] 137 2 E-3 £ 3 3 3 E
R
~| <f|
o) [
< <« ®
R1 R0.3 A
Cross-section of cable carrier  Detail of section F 2 =R 2 2 L3 3
E 2-$10H7 Depth15 See cross-section E-E. (Note 5)
—>|
106 D *-0.02
Note 1. Position of table carriage when searched to the origin. Note 5. When using a $10H7 hole, make sure that the pin does not go into deeper than as shown in the drawing.
Note 2. Stop positions are determined by the mechanical stoppers at both ends. Note 6. Contact us for vertical installation.

Note 3. When using ¢9 holes for installation, do not use a washer, spring washer, etc. in the main unit. Note 7. For the robot with more than 2,050 stroke, a roller to prevent the cable carrier from hanging is provided.
Note 4. Ifthe model is a standard cable carrier specification, it is not possible to pass 3 or more ¢6 x 4 urethane air hoses.  Note 8. Weight of models with no brake. The weight of brake-attached models is 1 kg heavier than the
models with no brake shown in the table.
Note 9. Depending on the stroke and the operating conditions, the cable carrier bending radius might be

larger, making it higher than the dimensions shown in the diagram.

g Effective stroke| 250 | 350 | 450 | 550 | 650 | 750 | 850 | 950 | 1050 | 1150 | 1250 | 1350 | 1450 | 1550 | 1650 | 1750 | 1850 | 1950 | 2050 | 2150 | 2250
2 L 862 | 962 | 1062 | 1162 | 1262 | 1362 | 1462 | 1562 | 1662 | 1762 | 1862 | 1962 | 2062 | 2162 | 2262 | 2362 | 2462 | 2562 | 2662 | 2762 | 2862
A 131 | 81 | 131 | 81 | 131 | 81 | 131 | 81 | 131 | 81 | 131 | 81 | 131 | 81 | 131 | 81 | 131 | 81 | 131 | 81 | 131

B 3 4 4 5 5 6 6 7 7 8 8 9 9 10 10 1" 1" 12 12 13 13

C 8 10 10 12 12 14 14 16 16 18 18 20 | 20 | 22 | 22 | 24 | 24 | 26 | 26 | 28 | 28

D 650 | 750 | 850 | 950 | 1050|1150 | 1250 | 1350 | 1450 | 1550 | 1650 | 1750 | 1850 | 1950 | 2050 | 2150 | 2250 | 2350 | 2450 | 2550 | 2650

Weight (kg)"**®| 35 37 | 39 4 43 | 45 | 47 | 48 | 50 | 52 | 54 | 56 | 58 | 60 | 62 | 64 | 66 | 68 70 72 74

.

— RCX320 » 548 [RCX222 » 558] SR1-X > 540 [ TS-X > 514 | RDV-X > 528 |




N18D

( - c g B g o c N\
N18D: Horizontal installation / Optional Cable carrier specification
(30) — 2-M5x0.8 Depth11 50 o L ... :
3 A 181+/-3 (Note 1) Effective stroke (250: Minimum distance between carrier)
—— I Effective stroke | 181+/-3 (Note 1)
! ‘ 8 190 [ \ 190 78
| 2-96H7 Depth10 2-96H7 Depth10 150 _|[{Note 2)
8-M8 x 1.25 Depth25 8-M8 x 1.25 Depth25 %
= VIEW K || \

{(®10H7)

168 (Between knocks ¢pEH7 +-0.02)

168 (Between knocks ¢p6H7 +-0.02)

Use M8 x 1.25 hex socket
head bolt with length head
bolt with length (under head)
of 40mm or more.

179 ' Ll e l .'E}

7.2

3

Cross-section E-E 156 - Ground terminal for user (M4)

€| 8%

o R E
e —= NS - -
NG 180 86| B x 200 (GY g
7 C-¢9 Depth30 See cross-section E-E. (Note 3) “‘ ?_!
@
57 I 7 % & 5 3 3
257 [37 S
@

slel el 12
I

b6.5
\_$8.2 R1 R0.3 Y Y + S S @

Cross-section of cable carrier  Detail of section F E@E‘ 2-$10H7 Depth15 See cross-section E-E. (Note 5) p#H002
(. J
( . B B e B N\
N18D: Wall installation / Standard Cable carrier specification

2-M5 x 0.8 Depth11

50 A B x 200 (A)

E 200 C-$9 Depth30 See cross-section E-E. (Note 3) T
¥ E3 E7 3 E3 <
[=2] ‘ e
VIEWK s N M
L2 L2 & K3 L2 L2
~] R0O3 < E—> 2-$10H7 Depth15 See cross-section E-E. (Note 5) 10,02
= 2 106 D
™t = Ground terminal for user (M4)
2 &
F?1 4.5 b e B ] e— Rk = e Y] e— T
7.2 3 [ 1 Y I 0 e L I R {1
| T T |
Cross-section of e T [ | i
cable carrier Detail of section F g T L T
% 14 100 § (250: Minimum distance between carrier) Effective stroke 181+/-3 (Note 1) §
ol 1T ,T\ 181+/-3 (Note 1 Effective stroke 55] 105 ,7\
| E,w %_ ] - Note 7 %_
N = S AT g 5 = el P <}
C N e < 7 <
§ § -ﬁ § o o §
g it tee 3 H
k= A & &
© r) ry =)
Hsedeglx 1.2h5I hex iohckeéI L =i S
ead bolt with length hea !
boft wih length {under noad) F 98 8-M8 x 1.25 Depth25 8-M8 x 1.25 Depth25 98 |
of 40mm or more. 22| 36 150 2-b6H7 Depth10 2-$6H7 Depth10 150
) 115 78 190 190 78
Cross-section E-E (Note 2) K I (Note 2)
(. J
( - g 5 g 0= c N\
N18D: Wall installation / Optional Cable carrier specification
2-M5 x 0.8 Depth11 50 A B x 200 (A)
—— E % 200 ) C-$9 Depth30 See cross-section E-E. (Note 3) ‘
—=% ¥ B3 % B3 B3 3
2 ‘ N
VIEW K - _N i
4 L2 k-3 L2 L2 L
73 E—=>1 2-¢10H7 Depth15 See cross-section E-E. (Note 5
57 ~ R0.3 106 ¢ P (Note) 7002
f Ground terminal for user use (M4)
~] ]
ORI 4@§
X965 il R 45 -
$8.2 72 =
Cross-section of cable carrier  Detail of section F
< (250: Minimum distance between carrier) Effective stroke 181+/-3 (Note 1) <
114 S| |181+-3 (Note 1) \ Effective stroke 55 105 =
= B £0 z
I I
© ©
- ©
< \I :
> 8 N D W WA P £y I aweval — 8
Qe ; i - =
N é s o o s g
o ©| o g % S
=255 8- g g g 3
Use M8 x 1.25 hex socket > 5 3 o
head bolt with length head L ey | L
bolt with length (under head) I T
of 40mm or more. 2 | 36 8-M8 x 1.25 Depth25 8-M8 x 1.25 Depth25
Cross-section E-E 115 78 2-¢6H7 Depth10 2-¢6H7 Depth10 78
L (Note 1) (Note 1) )

RCX320 > 548 [RCX222 > 558] SR1-X > 540 [ TS-X > 514 | RDV-X > 528 | 220




@ Ordering method
[ vosel B~ Wotor nstatation arection

- B e g |
L: Motor leftward, horizontal position Grease None: 150 to 2550 3L: 3.5m

R: Motor rightward, horizontal position type Standard (100mm pitch)| [5L: 5m

LU: Motor leftward, upper position GC: Clean 10L: 10m

RU: Motor rightward, upper position 3K/5K/10K

LD: Motor leftward, lower position (Flexible cable)|
RD: Motor rightward, lower position

Note 1. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible

- TSX | -

Positioner "2

Driver: Power-supply voltage / —m—— Battery
Power capacity No entry: None INP: NPN
105: 100V/100W or less |L: with LCD | |PN:PNP Absolute]

205: 200V/100W or less ICC: CC-Link

IDN: DeviceNet™

EP: EtherNet/IP™

PT: PROFINET

IGW: No I/O board"?

N: None
Incremental,

cable.
See P.614 for details on robot cable.
Note 2. See P.522 for DIN rail mounting bracket.
Note 3. Select this selection when using the gateway function. For details, see P.66.

i H i 1
- SR1-X 05 - -| |- :
N H
05: 100W or less No entry: Standard IN: NPN B: With battery|
[E: CE marking | [P:PNP (Absolute)
ICC: CC-Link N: None
IDN: DeviceNet™ (Incremental)
PB: PROFIBUS
- RDVX 05 - RBR1

Driver: Power capacity fd Regenerative unit

05: 100W or less

Power-supply voltage
2: AC200V

]
o
x.
@ Y= = 5 ;
3 M Specifications H Allowable overhang N°t M Static loading moment
5 AC servo motor output (W) 100 A
Repeatability "* ' (mm) +/-0.04
Belt (mm) Equivalent to lead 25 A B
Maximum speed (mm/sec) 1875 B c c [MR) a
Maximum payload (kg) 10
Stroke (mm) 150 to 2550 (100mm pitch)  Horizontal i (nitmm) ~ Wall installation (Unit: mm) (Unit: N-m)
Overall Motor \ LIR type Stroke+397.5 A B C A B Cc MY MP MR
length (mm)  installation | Another Stroke+310 3kg| 1800| 1392 1084 3kg| 1144| 1005| 1734 188 188 165
Maximum dimensions of cross 5kg| 1574| 826 696 5kg| 724| 576| 1199
section of main unit (mm) oD » e 8kg 1221] 509| 474 8kg 493 333] 918 Il Controller
Cable length (m) Standard: 3.5 / Option: 5,10 9 9
Linear guide type 4 rows of circular arc grooves x 1 rail 10kg| 1171] 403] 407 10kg| 414] 254 869 Controller |Operation method
Position detector Resolvers"? Note. Distance from center of slider top to center of gravity of object Programming /
Resolution (Pulse/rotation) 16384 being carried at a guide service life of 10,000 km. SR1-X05 1/0 point trace /
Note 1. Positioning repeatability in one direction. RCX320 Remote command /
Note 2. Position detectors (resolvers) are common to incremental and RCX221/222 | Operation
absolute specifications. If the controller has a backup function : %
then it will be absolute specifications. RCX340 gim?nﬁﬁciﬁ%
Il Motor installation The line-up consisting of six models of deferent motor installation position as follows. TS-X105 1/0 point trace /
- - - TS-X205 Remote command
Lt Leftward at Rt Rightward LU t Leftward at RU t; Rightward at LD t Leftward at RD t; Rightward at
horizontal at horizontal upperposilion upper position Iowerposition Iowerposition RDV-X205-RBR1 | Pulse train control
position position
4 0 . agt N\
B10 R type (Motor rightward, horizontal position)
272.5+/-3 Effective stroke (125)
215 (Note 1) 90 2-¢5H7 Depth8 67.5
) 70 4-M5 x 0.8 Depth8 (Note 1)
an |
[ 1
e u
0°0Y 0 0]
0040 0|
[ _:%
50 __ 20 4-M5x0.8 Depth10 002 100
167 ‘ ‘ (The same position on the opposite 86 (Between knocks +:0.02) ‘ |
2l surface at 2 locations) L (M5, $5H7 position) ‘
4 o ! ‘ 18 Be [*]°
< ™~ ha e
L [T | S g) 5
855 | 895 - L4875 N 100
175 172.5 40 100 M x 200 A
200 N-M5 x 0.8 Depth10
eE
¢ &
Grounding terminal o N N N o | |
VIEWH D-¢10H7: See cross-section E-E E
ViEWH H : .
LA e 57 B+-0.02 il C+-0.02 Cross-section E-E
Effective stroke| 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 100010501100 [1150 |1200| 125013001350
L 460 | 510 | 560 | 610 | 660 | 710 | 760 | 810 | 860 | 910 | 960 [1010|1060|1110|1160|1210|1260/1310|1360|1410|1460|1510|{1560/1610|1660
A 200| 50 [ 100 150{200| 50 [ 100|150 ]200| 50 | 100|150 |200| 50 [ 100|150 [200| 50 | 100|150 200 | 50 | 100 150 | 200
B 240|240 | 240 [ 420 | 420 | 420 | 600 | 600 | 600 | 600 | 780 | 780 | 780 | 780 | 960 | 960 | 960 | 960 | 1140 | 1140|1140 | 1140|1320 1320|1320
[ = | = | = = [ = | = [ = = = = [ = = = = = =T =T =T =T =T =7=T7T<=7T=+=
D 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2
M - 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6
N 6 |88 |8 |8 1010|1010 |12 [12 |12 |12 |14 [14 |14 |14 |16 [16 |16 | 16 [ 18 [ 18 | 18 | 18
Weight(kg) | 74 | 78 | 8.2 8.6 |9.0/94|9.8[10.1/10.5/10.9]/11.3[11.7[12.1]12.5(12.9/13.3|13.7|14.1|14.5{14.9]15.3(15.7[16.1]16.5/16.9
Effective stroke[1400]1450]1500]1550]1600]16501700[1750]1800]1850]1900[1950[2000]2050]2100[2150]2200]2250]2300[2350]24002450(2500[2550 Note - dS“’p p‘?s“i;’gs 'ah’e
L 1710[1760[1810/1860[1910[1960|2010/2060{2110|2160|2210|2260{2310|2360|2410|2460|2510|2560|2610|2660|2710(2760|2810|2860 mee‘;']’::i‘jal styo eers at
A 50 | 100|150 |200| 50 | 100|150 [200| 50 | 100|150 |200| 50 | 100|150 {200 | 50 | 100|150 200 | 50 | 100 | 150 | 200 both ends PP
B 1320{1320[1320[ 1320 1320] 1320|1320 | 1320|1320 1320 1320] 1320[ 1320 1320 1320 1320 | 1320|1320 1320| 1320|1320 | 1320 1320 1320 pote 2. Cables can be extracted
=] c — [ 240|240 | 240 [ 420 | 420 [ 420 [ 420 | 600 | 600 | 600 | 780 | 780 | 780 | 780 | 960 | 960 | 960 | 960 [ 1140|1140 | 1140[ 1140|1320 in upward, downward,
< D 2 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 forward or rearward
3 M 7 7 7 7 8 8 8 8 9 9 9 9 0/100 (101011 [ MM |11 |11]12]12 |12 | 12 directions. (This figure
N 20 120 | 20 | 20 | 22 | 22 |22 | 22 | 24 | 24 | 24 | 24 | 26 | 26 | 26 | 26 | 28 | 28 | 28 | 28 | 30 | 30 | 30 | 30 shows the forward
Weight (kg) [17.3[17.7118.0/18.4(18.8119.2]19.620.0/20.4]20.8121.2(21.6(22.0/22.4(22.8123.2|23.6(24.0/24.4|24.8125.2|25.6]/25.9/26.3 direction.)

230

SR1-X > 540 [ TS-X > 514 [ RDV-X > 528 |




4 . g N\
B10 RU type (Motor rightward, upper position)
185+/-3 Effective stroke (125)
127.5 (Note 1) 90 2-¢p5H7 Depth8 67.5
‘ ‘ 70 4-M5 x 0.8 Depth8 (Note 1)
T
+, 03
“‘I 0°0F0°%0]
FI: 9:060:0)] Detail of section G
£3 <3 -
50 20  4-M5x0.8 Depth10 002 100
‘ o ‘ (The same position on the opposite 86 (Between kn_o_cks 002) ‘ |
S o o surface at 2 locations) (M5, $5HT position) |
€ I=REiS e o ‘
. : a I J8 Tl
o < ol © * .
W L | ) 8
85.5 89.5 1.5 78 . d %0
175 2
85 40 100 M x 200 A e
200 N-M5 x 0.8 Depth10 )
Note 1. Stop positions are determined je—E 2
by the mechanical stoppers at ¥ =3
both ends. 3 ~ %
Note 2. Cables can be extracted in " o g
upward, downward, forward or T ® _‘5
rearward directions. (This figure . ~
shows the downward direction.) T o T —
. . D-$10H7: See cross-section E-E. .
L Grounding terminal B+-0.02 CHH0.02 Cross-section E-E )
4 - ogs )
B10 RD type (Motor rightward, lower position)
185+/-3 Effective stroke (125)
Grounding terminal k_127.5 (Note 1) 90 2-¢5H7 Depth8 67.5
O ‘ ‘ 70 ‘)( 4-M5 x 0.8 Depth8 ’((Note DN
|
K2 ¥
ogoéogq
o l._ ® O$O§OI
100
855 895 50 20 4-M5x0.8 Depth10 86 (Between knocks +-0.02),
) ’ [l T %/ (The same position on the opposite surface at 2 locations) | (M5, $5H7 position) [T |
2 1E So [*]®
| ~ ) 5
= o |
G 100
S s
1.5 78 L
85 40 100 M x 200 A
200 N-M5 x 0.8 Depth10
‘ le—E
Note 1. Stop positions are determined ~
by the mechanical stoppers at “° ol o
both ends. Ad & Q|
Note 2. Cables can be extracted in "!I
upward, downward, forward or - S ) - )
rearward directions. (This figure D-b10H7: See cross-section E-E. le—F
L shows the upward direction.) 57 B+-0.02 C+-0.02 Cross-section E-E )
4 gt N\
B10 LU type (Motor leftward, upper position)
185+/-3 Effective stroke (125)
127.5 (Note 1) 90 2-¢5H7 Depth8 67.5
‘ ‘ 70 4-M5 x 0.8 Depth8 (Note 1)
|
R S
0°0Y0°0]
I! o.0k0.0]
* 3 Detail of section G
P T 9
P i | 50 20  4-M5x0.8 Depth10 100
P W ‘ o ‘ (The same position on the opposite 86 (Between knocks +-0.02)
3 ; surface at 2 locations) . (M5, $5H7 position) Il ‘
- ] :' [ — : i o !
== [ I ) 8 ]' ‘[
= = R So [*1]*
| | \\\_,_m o | g) 5
895 | 855 15] 78 L ¢ 100
175
85 40 100 M x 200 A
200 N-M5 x 0.8 Depth10
\ <E
Grounding terminal 7
Note 1. Stop positions are determined * Li
by the mechanical stoppers at
both ends. L2
Note 2. Cables can be extracted in =]
;‘;’::;’:rvddgi‘:’e"c"tviz’"dé f?‘ltnizrfdi ‘L’re D-$10H7: See cross-section E-E. <
shows the downwar‘d directi?)n.) 57 B+-0.02 C+-002 M 8
J

SR1-X > 540 [ TS-X > 514 [ RDV-X » 528 | 231 -




adfy g

2
o
=,
@
S
<3
S
@

B 232

B14

@ Ordering method

B14 -

———— E—

- gl l/Oselection gl Battery
INo entry: None INP: NPN B: With battery|
Absolute]

|L: with LCD | [PN: PNP

LU: Motor leftward, upper position

RU: Motor rightward, upper position|
LD: Motor leftward, lower position

RD: Motor rightward, lower position|

Note 1. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible

cable.
See P.614 for details on robot cable.
Note 2. See P.522 for DIN rail mounting bracket.

- TSX | |
:_| H |
Positioner "2 [l Driver: Power-supply voltage /
- . - beength ot Power capacity
50 to 30.5(')1 - 5-om 105: 100V/100W or less
(50mm pitch) ?I[;L?%m [205: 200V/100W or less
3K/5K/10K
(Flexible cable)

Note 3. Select this selection when using the gateway function. For details, see P.66.

M Specifications

- SR1-X 05

Controller Driver: Power capacity
05: 100W or less

ICC: CC-Link
IDN: DeviceNet™
EP: EtherNet/IP™
PT: PROFINET
i | | i i
—i |
' '

IGW: No I/O board"?
H
- -
B UsableforCE [ 1/0 selection B Battery
No entry: Standard

N: None
Incremental,

L RDVX

Power-supply voltage
2: AC200V

IN: NPN B: With battery|
[E: CE marking | [P:PNP (Absolute)
ICC: CC-Link N: None
IDN: DeviceNet™ (Incremental)
PB: PROFIBUS
05 - RBR1

Driver: Power capacity jd Regenerative unit

H Allowable overhang N°t¢

05: 100W or less
M Static loading moment

AC servo motor output (W) 100 A
Repeatability "' (mm) +/-0.04
Belt (mm) Equivalent to lead 25mm A B
Maximum speed (mm/sec) 1875 B c c [MR) a
Maximum payload (kg) 20 i
Stroke (mm) 150 to 3050 (100mm pitch)  Horizontal installati (unitmm)  Wall installation  (unit: mm) (Unit: N-m)
Overall  [Motor  |L/Rtype Stroke+425.5 AlB]|cC AlB ]| C MY MP MR
length (mm)| installation | Another Stroke+338 5kg| 2159) 1228] 943 5kg| 1064| 816] 1468 226 227 199
Maximum dimensions of cross
Sectionlofimainltmnit{mm) W146 x H94 10kg| 1389| 623| 548 10kg| 564| 377| 888 . Controller
Cable length (m) Standard: 3.5 / Option: 5,10 20kg| 1102 320| 348 20kg) 305 156] 615
Linear guide type 4 rows of circular arc grooves x 2rail  Note. Distance from center of slider top to center of gravity of object Controller |Operation method
POSitiOl} detector ] Resolvers V2 being carried at a guide service life of 10,000 km. Programming/
Resolution (Pulse/rotation) 16384 SR1-X05 1/0 point trace /
Note 1. Positioning repeatability in one direction. RCX320 Remote command /
Note 2. Position detectors (resolvers) are common to incremental and RCX221/222 | Operation
absolute specifications. If the controller has a backup function t .
then it will be absolute specifications. RCX340 g?r%?nﬁflcﬁiﬁ
Il Motor installation The line-up consisting of six models of deferent motor installation position as follows. TS-X105  |1/0 point trace /
Leftward at Q@D Rohtward @ID cverdal ) (GUID Rohvwardal ) (XD Lvardal ) (GRIID Rightwardat | | S-X205 _|Remote command
L t R t LU t RU t LD RD t
horizontal 120 at horizontal 1 upper position 10 upper position 2ee lower position 1 lower position RDV-X205-RBR1 | Pulse train control
position position
4 . . et N\
B14 R type (Motor rightward, horizontal position)
297.5+/-3 Effective stroke (128)
240 (Note 1) 90 70.5
70 2-$6H7 Depth10 (Note 1)
32 8-M6 x 1.0 Depth16
as 3 =i
 |e* +
0 -
* . .
‘_Lﬁ ry Detail of section G
167 146
4-M5 x 0.8 Depth12 50 20 134 (Between knocks +/-0.02) "
(The same position on the opposite surface at 2 locations) T~ [ 1 & (M6, $6H? position) ‘ ‘
+ + \\h 1 T 1 “g’
| 0 |
~ S| . f = o':§- LER 2
83 . 92 | L+87.5 136
175 172.5 60 100 B x 200 A =
‘ 200 M-M6 x 1.0 Depth10 I
| = =
£
3 Note 1. Stop positions are determined
FS > ol S by the mechanical stoppers at
A - ‘K\ A ME both ends.
Grounding terminal - | . Note 2. Cables can be extracted in
VIEWH 18. upward, downward, forward or
_— -— F-$10H7 S -section J-J] . rearward directions. (This figure
H 85 ¢ Cffo%%ss Secton D+-0.02 £+-0.02 Cross-section J-J shows the forward direction.)
Effective strokel 150 [ 200 | 250 | 300 | 350 [ 400 [ 450 [ 500 [ 550 [ 600 [ 650 | 700 | 750 | 800 [ 850 [ 900 [ 950 [1000/1050]1100]1150]1200[1250[1300[1350]/1400/1450/1500]1550]1600
L 488 | 538 | 588 | 638 | 688 | 738 | 788 | 838 | 888 | 938 | 988 [1038(1088|1138|1188|1238(1288|1338|1388|1438|1488|1538|1588|1638|1688(1738|1788|1838|1888|1938
M 6 8 8 8 10 | 10 [ 10 [ 10 [ 12 | 12 [ 12 [ 12 | 14 | 14 | 14 | 14 | 16 6 6 6 | 18 | 1 18 | 18 | 20 | 20 | 20 | 20 | 22
A - | 50 | 100 | 150 [200| 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100|150 [ 200 | 50 | 100 | 150 [200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50
B 1 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6 7 7 7 7 8
C 240 | 240 | 240 | 420 | 420 | 420 | 600 | 600 | 600 | 600 | 780 | 780 | 780 | 780 | 960 | 960 | 960 |1140[1140|1140|1140|1140|1140|1140|1140(1140(1140|1140| 1140|1140
D - - - - - - - - - - - - - - - - - - - - - - | 240240 | 240 | 240 | 420 | 420 | 420 | 600
E N z N N N N N N N N N N z N N z N N N N N z N N _ N N N B N
F 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 3 3 3 3 3 3 3 3
Weight (kg) | 9.6 110.2/10.8]11.4| 12 |12.5/13.1/13.7]14.3/14.9/15.5/16.0/16.6]17.2|17.8 |18.4] 19 [19.5]20.2|120.7|21.3/21.9]22.5/23.1|23.7/24.2(24.8]/25.4| 26 |26.6
Effective stroke[1650(1700|1750(1800(1850/1900/1950/2000(20502100/2150/2200/2250|2300(2350/2400|2450|2500(2550/2600/2650/2700|2750/2800(2850/2900(2950(3000(3050
L 1988|2038|2088|2138|2188|2238|2288(2338|2388|2438 |2488|2538|2588|2638|2688|2738|2788|2838|2888| 2938(2988(3038|3088|3138|3188|3238|3288|3338|3388
M 22 [ 22 | 22 | 24 |24 | 24 | 24 | 26 | 26 | 26 | 26 | 28 | 28 | 28 | 28 | 30 | 30 | 30 | 30 | 32 | 32 | 32 | 32 | 34 [ 34 | 34 | 34 | 36 | 36
A 100 | 150 | 200 | 50 | 100 | 150 [ 200 | 50 | 100 [ 150 [200 | 50 | 100|150 | 200 | 50 | 100 | 150 {200 | 50 | 100 | 150 [ 200 | 50 | 100 | 150 | 200 | 50 | 100
B 8 8 8 9 9 9 9 |10 | 10 | 10 01 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5
9 1140(1140{1140(1140(1140| 1140|1140 1140|1140|1140[1140|1140|1140{1140(1140[1140{ 1140(1140( 1140|1140/ 1140(1140| 1140|1140 [1140| 1140|1140{1140[ 1140
D 600 | 600 | 600 | 780 | 780 | 780 | 780 | 960 | 960 | 960 |1140(1140(1140]1140/1140|1140|1140|1140|1140|1140|1140{1140|1140|1140/1140(1140|1140[1140| 1140
E N - - - - - - - - - - - - - - | 240|240 | 240 | 240 | 420 | 420 | 420 | 600 | 600 | 600 | 600 | 780 | 780 | 780
F 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 4 4 4 4 4 4 4 4 4 4 4 4 4 4
L Weight (kg) [27.2127.728.3128.9/29.5/30.1130.7/31.3/31.9/32.4| 33 [33.6(34.2/34.8/35.4/35.9/36.5/37.1/37.7/38.3/38.9/39.4| 40 [40.6/41.2(41.842.4/43.0/143.6

SR1-X > 540 [ TS-X > 514 [ RDV-X > 528 |




B14

( g e N\
B14 RU type (Motor rightward, upper position)
210+/-3 Effective stroke (128)
152.5 (Note 1 90 70.5 35
70 2-$6H7 Depth10 Note 1) 15\ 15
32 8-M6 x 1.0 Depth16 T
=== — M
* * cofief /l
0|
+ * Detail of section G
4-M5 x 0.8 Depth12 o 146
50 20 (I.I’.’Ie same position on the opposite surface at 2 locations) 2’\%'(2?:79;';;232;5 m‘ )
=k o ° _= 3
s + ‘ = f ‘ , 1 L

o= = 3G oo

83 | o |4 15, 18 L 5 136
2]
175 85 60 100 B x 200 a
[ | 200 M-M6 x 1.0 Depth10 o
‘ ! \ H g
" . | S o &

Note 1. Stop positions are determined | 2 o S
by the mechanical stoppers at * | . . s =~ g
both ends. ~ Grounding terminal % ¢ 1= -

Note 2. Cables can be extractedin ———— ¢ K Y\
upward, downward, forward > T = %3
?r rearward directions. (This " FOWT.S T i 132

igure shows the downward - + See cross-section H-H. .
L direction.) 85 C+-0.02 D+-0.02 E+-0.02 Cross-section H-H )
4 . e )
B14 RD type (Motor rightward, lower position)
210+/-3 Effective stroke (128)
152.5 (Note 1) 90 2-$6H7 Depth10 70.5 (Note 1),
Grounding 70
terminal 32 8-M6 x 1.0 Depth16
* *
[ |
. o Detail of section G
+ +
— =% = = 146
4-M5 x 0.8 Depth12 134 (Between knocks *-0.02)
50 20 Lr)(The same position on the opposite surface at 2 locations) (M, G6H7 position) o, f
83 - 92 Sl o~ <
- L = &
‘ L ‘% I ———
G Jl 2 : ; § b § s
~
=== ] | & T
o G 136
15 78 L
85 60 100 B x 200 A
200 M-M6 x 1.0 Depth10
le—H

Note 1. Stop positions are determined N N | <
by the mechanical stoppers at ¢ 1 2
both ends. “\

Note 2. Cables can be extracted in 1—
upward, downward, forward or h » -

A A F$10H7: See cross-section HH. be—H
rearward directions. (This figure )
L shoxvs the pr;rd d“fect'ion'i“ ‘ 85 C+-0.02 D+/-0.02 E+-0.02 Cross-section H-H )
4 oy N\
B14 LU type (Motor leftward, upper position)
210+/-3 Effective stroke (128)
152.5 (Note 1) 90 2-$6H7 Depth10 70.5
15 78 ‘ ‘ 70 § (Note 1) 25
32 k 8-M6 x 1.0 Depth16 - 15N\ 15
FEE_’ |
* * el
2]
* hd Detail of section G
l:_,_v; — =
& 4-M5 x 0.8 Depth12 146
(The same position on the opposite 134 (Between knocks *+-0.02)
T 1 50 20 /. surface at2 locations) (M6, $6HT position) ‘ ‘
o5 g, 3
~2 [+ | & | ! 1
b é 1 : t t “
BN = ‘ ‘ =
LU
= 92 . 8 L
175 85 60 _ 100 B x200
Grounding terminal ‘ 200 ‘ M-M6 x 1.0 Dept‘r:_o
H
2 |

Note 1. Stop positions are determined & é 3
by the mechanical stoppers at o N v\ N
both ends. -

Note 2. Cables can be extracted in =]
upward, downward, forward or . on HLp . —-
rearward directions. (This figure 85 F—¢10H7C.§i/3$%0255-secﬁonH a D+-0.02 E+-0.02 Cross-section H-H §
shows the downward direction.)

& J

SR1-X > 540 [ TS-X > 514 [ RDV-X » 528 |

233 .



B14H -

@ Ordering method

H H i H i i
B14H - E T Jrimx ) R o
_| . " " " _ _ _ ot Positioner "2 [l Driver: Power-supply voltage / il Regenerative unit @ LCD monitor —— Battery
L: Motor leftward, horizontal position o None: 150 to 3050 3L: 3.5m L: With LCD | |PN: PNP (Absolute)
R: Motor rightward, horizontal position ‘y:)eease Standard | |(50mm pitch) | |5L: 5m ICC: CC-Link N: None
LU: Motor leftward, upper position GC: Clean 10L: 10m IDN: DeviceNet™ (Incremental
RU: Motor rightward, it [EP: EtherNet/IP™ |
: ightward, upper position 3K/5K/10K PT: PROFINET
LD: Motor leftward, lower position (Flexible cable) GW: No /O board™=
RD: Motor rightward, lower position pmmmmm N
- SR1X 05 - - R - - |
Driver: Power capacity i Usable for CE [ Regenerative unit ——
05: 100W or less No entry: Standard| |R: With RG1 | |N: NPN IB: With battery
E: CE marking P: PNP ((Absolute)
ICC: CC-Link IN: None
IDN: DeviceNet™
Note 1. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible IPB: PROFIBUS
cable, L RDVX 2 10 - RBR1
See P.614 for details on robot cable.
Note 2. See P.522 for DIN rail mounting bracket. Driver: Power capacity ] Regenerative unit |
2 Note 3. Select this selection when using the gateway function. For details, see P.66. 2: AC200V [10: 200W or less
o
x.
@ . gn . . .
3 M Specifications H Allowable overhang N°t M Static loading moment
5 AC servo motor output (W) 200 A
Repeatability “°** ' (mm) +/-0.04
Belt (mm) Equivalent to lead 25mm A B
Maximum speed (mm/sec) 1250 (1875M°'?) B c c [MR]) B
Maximum payload (kg) 30
Stroke (mm) 150 to 3050(100mm pitch)  Horizontal i i (unit mm) ~ Wall installation (Unit: mm) (Unit: N-m)
Overall Motor [LIR type Stroke+475.5 A B c A B c My MP MR
length (mm) installation | Another Stroke+388 5kg| 3000| 3000 1941 5kg| 2074| 2585 3000 610 555 488
Maximum dimensions of cross 10kg| 2742| 1697| 1064 10kg| 1087| 1236 2071
section of main unit (mm) WIA0 oA 20kg 2158| 867 651 20kg 604| 561| 1512 . Controller
Cable length (m) Standard: 3.5 / Option: 5,10 9 9
Linear guide type 4 rows of circular arc grooves x 2 rail 30kg| 1708 590 466 30kg| 397 336] 1106 Controller |Operation method
Position detector Resolvers 3 Note. Distance from center of slider top to center of gravity of object being Programming /
Resolution (Pulse/rotation) 16384 carried at a guide service life of 10,000 km. SR1-X05"* ||/O point trace /
Note 1. Positioning repeatability in one direction. RCX320 Remote command /
Note 2. Aregenerative unitis needed if using the SR1-X, TS-X at maximum ¢
speeds exceeding 1250mm sec. If using the RDV-X, then the regenerative Eg§§§8l222 uos‘?r? ra:":gr_]232(;
unit RBR1 is required regardless of the installation conditions 9 L
Note 3. Position detectors(resolvers) are common to incremental and communication
absolute specifications. If the controller has a backup function Not )
then it will be absolute specifications. TS-X105™" | /0 point trace /
= = TS-X205 et | Remote command
Il Motor installation The line-up consisting of six models of deferent motor installation position as follows. ROV-X210-RBR1 | Pulse train control
YD Leftward at XD Rightward T Leftward at O Rightward at L) Leftward at GO Rightward at i it
horizontal at horizontal upper position upper position lower position lower position Note. i/?\:Z?nznf}]r:tgélf;nfsﬁie;ed
position position maximum speeds exceeding
1250mm sec.

4 . . o ™\
B14H R type (Motor rightward, horizontal position)
322543 Effective stroke (153)
240 (Note 1
0 (Note 1) 190 2.46H7 Depth10 705
YN ‘ ‘ 70 8-M6 x 1.0 Depth16 (Note 1)
S
——“I - *
+ +
- |. ry ry Detail of section G
167
4-M5 x 0.8 Depth12 134 (Between kppcks +-0.02)
{The same position on the opposite 50 45 zJ (M8, $6H7 position) 2
surface at 2 locations) - h &
* [ ) T ! |
= — ‘ —- 53
o || N
W o [3675 | G
195 172.5 108 100 B x 200 A
200 J M-M6 x 1.0 Depth10
| o
| — 1 Note 1. Stop positions are determined
Io C ol by the mechanical stoppers at
= both ends.
L Note 2. Cables can be extracted in
Grounding terminal N 8 upward, downward, forward
VIEWH F-10H7: J socti or rearward directions. (This
—= - 85 See c&os/sésgzmion J-J. D002 ~ Ev002 Cross-section J-J figure shows the forward
iiatl +-0. +-0 direction.)

Effective stroke| 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 [1000/1050(1100(1150/1200/1250|1300/1350(1400(1450|1500(1550(1600
538 | 588 | 638 | 688 | 738 | 788 | 838 | 888 | 938 | 988 |1038|1088|1138|1188|1238|1288|1338|1388|1438|1488|1538|1588|1638|1688|1738|1788|1838|1888|1938|1988
6 8 8 8 8 |10 |10 | 10 [ 10 [ 12 | 12 [ 12 [ 12 | 14 | 14 | 14 | 14 | 16 6 6 |16 | 18 | 18 | 18 | 18 | 20 | 20 | 20 | 20 | 22
— | 50 [100]150 {200 | 50 | 100|150 {200 | 50 | 100|150 |200| 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50
1 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 5 5 6 6 6 6 7 7 7 7 8
240 | 240 | 420 | 420 | 420 | 600 | 600 | 600 | 600 | 780 | 780 | 780 | 780 | 960 | 960 | 960 |1140/1140[1140|1140|1140|1140(1140(1140/1140{1140|1140/1140/1140| 1140

- - - - - - - - - - - - - - - - — [ 240 | 240 | 240 | 240 | 420 | 420 | 420 | 600 | 600

2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 3 3 3 3 3 3 3 3 3
Weight (kg) [10.9] 11.5{12.1[12.7/13.2|113.9/14.4]/15.0/15.6 [16.2/16.7| 17.4 [17.9/18.5] 19.119.7120.2/120.9]22.0/122.1/22.6/23.3/23.8(24.4|24.9/25.626.1[26.8|27.3|27.9

Effective stroke|1650(1700(1750/1800/1850(1900(1950/2000(2050/2100(2150(2200|2250/2300(2350/2400/2450(2500/2550|2600/2650/2700/2750/2800|2850/2900(2950/3000/3050
2038/2088|2138|2188|2238|2288 2338238824 38|2488 2538|2588 |2638|2688|2738|2788|2838| 2888 2938|2988 |3038|3088|3138|3188|3238|3288|3338|3388|3438
22 | 22 | 22 | 24 | 24 | 24 | 24 | 26 | 26 | 26 | 26 | 28 | 28 | 28 | 28 | 30 | 30 | 30 | 30 | 32 | 32 | 32 | 32 | 34 | 34 | 34 | 34 | 36 | 36
100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 [ 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100

8 8 8 9 9 9 9 10 0 0 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5
1140(1140/1140/1140( 1140|1140 1140| 1140]1140|1140|1140[1140|1140{1140{ 1140|1140/ 1140 1140| 1140|1140 1140[1140] 1140| 1140{1140[ 1140|1140/ 1140|1140
600 | 600 | 780 | 780 | 780 | 960 | 960 | 960 | 960 [1140|1140(1140|1140/1140/1140/1140|1140/1140(1140|1140|1140(1140/1140/1140/1140|1140/1140[1140| 1140
N — 1240 | 240 | 240 | 420 | 420 | 420 | 420 | 600 | 600 | 600 | 600 | 780 | 780 | 780 | 960

Mmoo w>=r

O|0|w > =ir
>

adfy g

4

4
3 3 3 3 3 3 3 3 3 3 3 3 3 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4
L Weight (kg) [28.4]29.1{29.6/30.3/30.8/31.4131.9/32.6/33.1/33.8/34.3/35.0{35.5/36.1/36.6/37.3]/37.8/38.5/39.0/39.6]/40.1{40.8/41.3/42.0/42.5/43.1/43.6/44.3/45.4

— 034 SR1-X > 540 [ TS-X > 514 [ RDV-X » 528 |

=|mm
w




4 . g N\
B14H RU type (Motor rightward, upper position)
235+/-3 Effective stroke (153)
152.5 (Note 1 70.5
124 2-$6H7 Depth10 Note 1)
70 8-M6 x 1.0 Depth16
*
+ A
4-M5 x 0.8 Depth12 146
(The same position on the opposite 134 (Between knocks +/-0.02)
‘ 50 ‘ 45 © surface at 2 locations) (M8, $6H7 position) m‘ ‘ ‘
~| o &
Bg g e v ‘ —
ki : w0
o= G S N e
= & i
103 2 | 15 18 L | G 136 Py
195 a
85 108 100 B x 200 A >
‘ 200 eH M-M6 x 1.0 Depth10 %
Note 1. Stop positions are determined — 2
by the mechanical stoppers at %
both ends. * o| ol @
Note 2. Cables can be extracted in & & @ S
upward, downward, forward or L3 *| ‘\
rearward directions. (This figure —
shows the downward direction.) b FOHLS o
) ) ~  See cross-section H-H,
L Grounding terminal 85 C+0.02 D+40.02 M Evoo Cross-section H-H )
4 - oge )
B14H RD type (Motor rightward, lower position)
235+/-3 . Effective stroke (153)
152.5 (Note 1 140 2-$6H7 Depth10
Grounding terminal 70.5
— 8-M6 x 1.0 Depth16 (Note 1)
1le *
3 <
2 & + + Detail of section G
= ﬁ
4-M5x 0.8 Depth12 134 (Between knocks +-0.02) 146
50 45 (The same position on the opposite M6. b6H7 positi
103 92 B 21 surface at 2 locations) (M6, BHT position) g ‘ ‘
[F d ! + ! ¥ ] I ‘ I 1
1 T 1.0
b JQ 2 \ = 3 E 1.
S __ 5 o .
N G 136
2
15 78 L
85 108 100 B x 200 A
200 Hﬂ M-M6 x 1.0 Depth10
Note 1. Stop positions are determined
by the mechanical stoppers at & ¢ @
both ends. “\
Note 2. Cables can be extracted in 1—
upward, downward, forward or ‘ TS — H
rearward directions. (This figure - - O6€ Cross-section A-A. y . X
L ShOV‘\’IvS the :Jpwelzrd di:ectlionlgu L 85 C+-0.02 D+-0.02 I Evoo Cross-section H-H )
4 et N\
B14H LU type (Motor leftward, upper position)
235+/-3 . Effective stroke (153)
152.5 (Note 1) 140 2-¢6H7 Depth10 70.5
124 35
8-M6 x 1.0 Depth16 1.5\ 1.5
- . <l
ry ry Detail of section G
15 78 4-M5 x 0.8 Depth12
t (The same position on the opposite 146
‘ surface at 2 locations) 134 (Between knocks +-0.02)
,m, 50 45/ (M6, $6H7 position) ‘
N by
| S { i L ~, )
=R + ¥
| | | ld
3 N = 3 e
o W
=l 9 103 L | G 136
195 )
Grounding _ 85 108 100 B x 200 A
terminal 200 H M-M6 x 1.0 Depth10
=
Note 1. Stop positions are determined 3 & o
by the mechanical stoppers at S|
both ends. (& L
Note 2. Cables can be extracted in | ==}
upward, downward, forward or 3 &
rearward directions. (This figure J F-10HT: See cross-secfon HH. HH c tion H-H é
shows the downward direction.) 85 C+-0.02 D+-0.02 E+-0.02 Cross-section H-H )
& J

SR1-X > 540 [ TS-X > 514 [ RDV-X » 528 | 235 -




dering method

- ote ntar““M Driver: Power-supply voltage / i — Battery
No entry: Standard (S) | |3L: 3.5m 105: 100V/100W or less \L With LCD PN: PNP Absolute
[B: From the side 5L: Sm [205: 200V/100W or less CC: CC-Link
10L: 10m IDN: DeviceNet™ Incremental
3K/SK/10K EP: EtherNet/IP™
(Flexible cable) PT: PROFINET
IGW: No I/O board Nete3
05: 100W or Iess INo entry: Standard IN: NPN B: With battery
[E: CE marking P: PNP (Absolute)
Note 1. The robot cable is standard cable [C)ﬁ: SC-_U”"; _ a‘: None o)
(3L/5L/10L), but can be changed to : DeviceNet ncremental
flexible cable. IPB: PROFIBUS
See P.614 for details on robot cable. L -
Note 2. See P.522 for DIN rail mounting bracket. RDV x 05 RBR1
@ Note 3. Select this selection when using the Power-supply voltage Driver: Power capacity —
< gateway function. For details, see P.66. 2: AC200V 05: 100W or less
o
2 M Specifications Bl Maximum allowable moment inertia H Controller
o
& AC servo motor output (W) 50 Payload parameters W (kg)| 1 2 3 4 5 [3 7 8 9 | 10 Controller |Operation method
Repeatability (°) +/-0.0083 Maximum allowable Programming /
LS 0.120.24 |0.36 | 0.48 | 0.60 | 0.72 | 0.84|0.96 | 1.08 | 1.20 gra 9
Maximum speed (°/sec) 360 moment inertia J (kgfcms?) SR1-X05 1/0 point trace /
. ; RCX320 Remote command /
5 Note. When the weight of a tool or workpiece attached to the shaft <
Maxtl.mu"(.n allolzv?ble Toment 0.12[1.2] J R5is W (kg), its moment of inertia (J) must be smaller than RCX221/222 | Operation
inertia (kgm‘[kgfcms’]) Q& the values shown in the table above. (For example, enter 4kg RCX340 using RS-232C
Rated torque (Nm[kgfm]) 5.29[0.54] - w if W is 3kg and J is 0.48kgf cm sec”) Enter the above mass communication
0 0 parameter value for the controller, and optimum ion N
Speed reduction ratio 1/50 is automatically set based on this value. TS-X105 1/0 point trace /
Rotation range (°) 360 TS-X205 |Remote command
Cable length (m) Standard: 3.5 / Option: 5,10 RDV-X205-RBR1 | Pulse train control
Speed reducer type Harmonic drive
Position detector Resolvers
Resolution (Pulse/rotation) 16384 Note. For calculation (equation) of the inertia moment, please refer to P.643.
4 R 5 N\
20 35 4-¢$6 Through hole Approx. 150
‘ ‘ $9.5 spot facing depth25 (Cable length)
== =
&
851
M8 x 1.25 Depth20
4-M6 x 1.0 Depth16
Grounding terminal (M4)
=
> |
<
T =
® | &
| ,é © _ﬁe - i @
[Ty ~ A 1
5 g & | @
© |
T 9 ]
56.6 (Width across flat) 49
72
(7)
Cable take out direction
7 70 4-M6 x 1.0 Depth16
o9 © ¢
8 e e
®
oo  © &
~
<
3 Weight (kg) 3.0 Note 1.The cable extraction port can be changed.
(& J

236 SR1-X > 540 | TS-X > 514 | RDV-X » 528 |




R10

[ Ordering method

R10 -

able entry location [ Cable length Vot

| __Vodel [ C i
No entry: Standard (S)
B: From the side

Note 1. The robot cable is standard cable
(3L/5L/10L), but can be changed to

flexible cable.

See P.614 for details on robot cable.

Note 2. See P.522 for DIN rail mounting bracket.

Note 3. Select this selection when using the
gateway function. For details, see P.66.

M Specifications

- SR1X

Driver: Power capacity Usable for CE
05: 100W or less No entry: Standard

TSX

ner Note 2

Driver: Power-supply voltage / —
Power capacity INo entry: None INP: NPN

105: 100V/100W or less L: With LCD IPN: PNP

[205: 200v/100W or less ICC: CC-Link

05

IDN: DeviceNet™

EP: EtherNet/IP™

PT: PROFINET

IGW: No 1/O boardMete?

Battery

B: With battery
Absolute]

N: None
Incremental|

—

RDV X

Power-supply voltage
2: AC200V

Battery

IN: NPN B: With battery
|E: CE marking P: PNP (Absolute)

ICC: CC-Link N: None

IDN: DeviceNet™ (Incr

PB: PROFIBUS

05

05: 100W or less

- RBR1

Driver: Power capacity [ Regenerative unit

B Maximum allowable moment inertia

H Controller

AC servo motor output (W) 100 Payload parameters W (kg)| 1 2 3 4 5 6 7 8 9 | 10 Controller |Operation method
Repeatability (°) +/-0.0083 Maximum allowable Programming /
. . 0.25|0.49|0.74 | 0.99 | 1.24 | 1.48| 1.73 | 1.98 | 2.23 | 2.47
Maximum speed (°/sec) 360 moment inertia J (kgfcms?) SR1-X05 1/0 point trace /
- RCX320 Remote command /
Maximum allowable Toment 0.36 [3.71] Payload parameters W (kg)| 11 | 12 | 13 | 14 | 15 RCX221/222 | Operation
inertia (kgm“[kgfcms®]) Maximum allowable 27212971 3.22|3.46 | 371 RCX340 using RS-232C
Rated torque (Nm[kgfm]) 10.78 [1.10] moment inertia J (kgfcms?) | < i i i ) communication
Speed reduction ratio 1/50 ) Note. Vg?gn tl\';\elz (v:e;ght of a tool orfworkpifj:)e attacbhed to Itlhe shhaft TS-X105 /0 point trace /
a o is g), its moment of inertia (J) must be smaller than B Remote command
Rotation range ( ) 360 Q& the values shown in the table above. (For example, enter 4kg TS-X205
Cable length (m) Standard: 3.5/ Option: 5,10 ) W if Wis 3kg and J is 0.99kgf cm sec?) Enter the above mass RDV-X205-RBR1 | Pulse train control
. N parameter value for the controller, and optimum acceleration
Speed reducer type Harmonic drive is automatically set based on this value.
Position detector Resolvers
Resolution (Pulse/rotation) 16384
Note. For calculation (equation) of the inertia moment, please refer to P.643.
4 N\
R10
11._16 50 4-¢6.5 Through hole Approx. 150
‘ 11 spot facing depth35 (Cable length)
=
= ]
9
4-M6 x 1.0 Depth16
M8 x 1.25 Depth20
3 "
>
<
=
- —
=
&
-
| gl § - % |
(=)
<
20 20 |8
50 (Width across flat) 39
80
(85)
Cable take out direction 6 70 4-M6 x 1.0 Depth16 20 16
PN = |
G o
e 4t + I -
o0 Go S,
O AN
— = —
Weight (kg) ‘ 3.5 Note 1.The cable extraction port can be changed.
(& J

SR1-X > 540 [ TS-X > 514 [ RDV-X » 528 |

237 e

adfy Y

@
S
=
2
)
o<
@
S
<3
=
@




R20

dering method

m— Cable entry location [ Cable length ot
No entry: Standard (S, ;3.
B: From the side :

1 TSK H 3 H a

Positioner*> il Driver: Power-supply voltage / —m — Battery
fsx_ | Power capacity No entry: None INP: NPN
110: 100V/200W or less \L With LCD IPN: PNP Absolute;
[210: 200v/200W or less ICC: CC-Link
IDN: DeviceNet™ Incremental

[EP: EtherNet/IP™
IPT: PROFINET

IGW: No 1/O boardMete3

- SR1X 10 g | 5 s

10: 200W or Iess INo entry: Standard IN: NPN B: With battery

|E: CE marking P: PNP (Absolute)
Note 1. The robot cable is standard cable ICC: CC-Link N: None
(3L/5L/10L), but can be changed to IDN: DeviceNet™ (Incremental)
flexible cable. [PB: PROFIBUS
See P.614 for details on robot cable.
Note 2. See P.522 for DIN rail mounting bracket. B RDV x 10 - RBR1
@ Note 3. Select this selgction when }lsing the Power-supply voltage Driver: Power capacity Bl Regenerative unit |
‘% gateway function. For details, see P.66. 2: AC200V 10: 200W or less
o
2 M Specifications Bl Maximum allowable moment inertia H Controller
o
& AC servo motor output (W) 200 Payload parameters W (kg)| 1 2 3 4 5 [3 7 8 9 | 10 Controller |Operation method
Repeatability (°) +/-0.0083 Maximum allowable Programming /
A 093] 1.8 |28 |37 |46 |56|65|74|84|93 9 9
Maximum speed (°/sec) 360 moment inertia J (kgfcms?) SR1-X10 1/0 point trace /
= RCX320 Remote command /
m:::g?gﬂl?g?::sq};’mem 1.83 [18.7] Payload parameters W (kg)| 11 | 12 | 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20  RcX221/222 |Operation
Maximum allowable RCX340 using RS-232C
Rated torque (Nm[kgfm]) 21.46 [2.19] inertia J (kgfcms?) 10.2111.2 1211131 14 |14.9/15.916.8 | 17.7 | 18.7 communication
Speed reduction ratio 1/50 Note. When the weight of a tool or workpiece attached to the shaft TS-X110 1/0 point trace /
Rotation range (°) 360 J R20is W (kg), its moment of inertia (J) must be smaller than TS-X210 Remote command
Cable | th Standard: 3.5/ Option: 5.10 % the values shown in the table above. (For example, enter 4kg
able length (m) andara: 9. ption: v, - W if W is 3kg and J is 3.7kgf cm sec?) Enter the above mass RDV-X210-RBR1 | Pulse train control
Speed reducer type Harmonic drive parameter value for the controller, and optimum acceleration
Position detector _ is automatically set based on this value.
Resolution (Pulse/rotation) 16384
Note. For calculation (equation) of the inertia moment, please refer to P.643.
( N\
R20
[SaNc
+
2 @
| N
) @ |
< —
\ 20 35 ‘ 4-¢6.5 Through hole Approx. 150
$11 spot facing depth40 {Cable length)
5-M8 x 1.25 , o
Depth20 (P.C.D.20) « Grounding
g terminal (M4)
i
o=  oSRlg= N
8 < o |I5|R| 5 N
2
Q|
0| [=2]
o @ 3 e
30 J|3
50 il
4-M6 x 1.0 Depth15 60 1115
(105)
Cable take out direction 20 65 4-M6 x 1.0 Depth20
2 N
99 O ¢
B
8
s . 3 d
% & DO~
== ==
~ (Note 1) 22 |16
<
°
o
Weight (kg) ‘ 55 Note 1.The cable extraction port can be changed.
(& J

238 SR1-X > 540 | TS-X > 514 | RDV-X » 528 |






